CHINMAYA ACADEMY FOR CIVIL SERVICES

State Level Mock Test — 3

A

Booklet Series Register Number

[TimeAllowed:3 Hours] [MaximumMarks:200]
Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

. This Question Booklet contains 200 questions.

2. Answer all questions. All Questions carry equal marks.

. The Test Booklet is printed in ‘A’ series booklet, he/she has to indicate in
the side 2 of the Answer Sheet with Black Ball point pen as follows:

. You must write your Register Number in the space provide on the top right
side of this page. Do not write anything else on the Question Booklet.

. An Answer Sheet will be supplied to you separately by the invigilator to mark
the answers. You must write your Name, Register No.and other particulars on
side 1 of the Answer Sheet provided.

. You will also encode your Register Number, Subject Code etc., with Black
Ink Ball Point Pen in the space provided on the side 1 of the Answer Sheet.

. Each question comprises five response [A], [B], [C], [D] and [E]. You have to
select ONLY ONE correct response and mark in your Answer Sheet. In case
you feel that there are more than one correct response, mark the response
which you consider the best. In any case ,choose ONLY ONE response for each
question. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

. In the Answer Sheet there are five brackets [A],[B],[C],[D] and [E] against
each question. To answer the questions you have to mark with Black Ball
point pen ONLY ONE bracket of your choice for each question. Select one
response for each question in the Question Booklet and mark it in the Answer
Sheet. If you mark more than one answer for one question, the answer will
be treated as wrong.

. You should not remove or tear off any sheet from this Question Booklet. You
are not allowed to take this Question Booklet and the Answer Sheet out of
the Examination Hall during the examination. After the examination is
concluded, you must hand over your Answer Sheet to the invigilator. You are
allowed to take the Question Booklet with you one after the Examination is
over.

10.In all matters and incase of doubt, the English Version is final.
11.Do not tick-mark or mark the answer in the Question Booklet.
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1) Select the correct pair of sales outlets set up under "One Station One Product" scheme
1. Rameswaram - Seaweed Products

2. Madurai - Chinnalapatti Handloom Sarees

3. Thoothukudi - Karuvadu

4. Tenkasi - Bamboo Products

“&([H BlemeuILD (H QLIMTIH6T” B L &S 6T G jemndaLLL G 6iTer aflMLIemneT mlemevwnkigerflev &rflwmeor
@ emevuTeml G5 T6Y QFIS

@ mGeveurLD SLOLITE QLITIHL 6T

gy FetreormeTLILIL LY e &5 5 M C&F6m6v86iT

S5 816619 &meur®

QGTHTE CLOMIG 6L QLIT(H L& 6iT

A) 1,2,3 B) 1,4 C) 2,3,4

E) Answer not known eflenL Qgflwellevenev

2) Identify incorrect sentences

1. New Corporations will be formed following the procedure framed under the Tamil Nadu
Urban Local Bodies Act, 1996

2. Chennai Corporation is the oldest municipal corporation in India established in 1688
3. On 15 March 2024 there are a total of 26 corporations in Tamil Nadu, including the last
formed corporations of Namakkal, Pudukottai, Tiruvannamalai and Karaikudi

4. Kumbakonam Corporation formed in 2021 is the 21st Municipal Corporation

56UMITEOT 6UITE G\ WLIMIG 6 61T &5600TL M) &

1. 1996 Sulb ILevor® SWOWLHTH HSFLULM 2 6TeTTLEF) emLILGET FLLSH T Gh 2 (HeumsH eIl L
B L (PemmEeneT LeTLm W MB&ETFTLE &6T Q5 TLBISLILGLW0

2. QF TemEUT LOMBSTTL S 2160151 @) H S WimelleL 1688 @6V 2 (HeUMSHSLILIL L LIDEMLOLWITEOT LOMTH& TG
3.15 1L0MT& 2024 @ MISHWITE 2 ([HeUMSSLILLL HTIN& 56, L| G186 CaTL 0L, §)(H 6L 600T60TTLO 606V, &ITEM T8 (&519.
LTHSTTLFHEHL6T CFIH S &N &S5S 60 QLOMSSLD 26 IDTHESTTLE 2_dTens)

4.2021 @6V 2 (HeUMGSLILILL (&LDLIGCSTEoTID WMHSFTLEF 216u8 LTHSFTLEF 94D

A) 2,4 B) 1,2 C) 2,3 D) 1,3,4

E) Answer not known eflenL Qgiflwelsvemey

3) Choose the correct option from the galleries showcasing the following excavated objects
1. Danish Fort Site Museum - Nagapattinam
2. Prehistoric Site Museum - Madurai

3. Marathi Site Museum - Tanjore
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4. Deep Sea Archaeological Site Museum, Kanniyakumari

BLHESITL I|&LPMILIE QUTBL&m6T STLALLGSSID sT LA WwWskBISa e Frlwmareans G556 QF IS
1. GLevllaq GHTL6ML 3G emeULILISGLD - FTSHLILILL60TLD

2. UFLVMTH MG S (WNIHMSW &HIT6V S|&LD 6m6ULILIGID - LDGI60 T

3. 00MSHWT SGD meUlILISGID - HEHEFTaLT

4. 9P &L 6L QS MeLESIWE 3B MeULILISID- &eoTeof W mELorf]

A) 1,3,4 B) 2,3,4 C) 1,4

E) Answer not known efenL QgflweNeveney

4) Select wrong statement

1.The Nilgiri Mountain Railway ran from Mettupalayam to Ooty in 1908

2.The Mountain Railway was conceived in 1854 and operated from Mettupalayam to
Coonoor in 1899

3. It was recognized as a UNESCO Heritage Site in 2005

4.0n June 17, 2024, the 125th anniversary was celebrated

ST amhenm CE5THRAS M0

1. B & If] nemev TUNEL oL60THI 1908 YLD 3y,600T(H CLOL(HLILITEMETWILD (LNG6V 26T 1q 6UemT @)W &S LILILL I
2. 1854 9ylb y6v0T(R LOemev TUdleL HLLID 2 (HheumsSLILILH 1899 Sylh 600T(H CLOLHILILITEMETIILD (DG 60
S 6ETNT Uen T @WHSLILILL I

3.200594 0 9y,600T(H @) S WA eTerv@a& T LUMFLURflu SeTnns JBIS&SETTL QUOHMHSI

4. &796tT 17910 C5H) 2024 @) 6L 125 YLD 34,600T(H) Hlemmey NPT Q& MEUOTL ML LILILL &I

A) 2 B) 3 C) 4 D) 1

E) Answer not known eflenL Qsiflwelsuemey

5) Assertion (A): The Gender Inequality Index is a biennial report by the World Economic
Forum

Reason (R): A measure of relative progress between women and men in health, education,
economy and politics is considered in this index

A) Assertion and Reason are true Reason is the correct explanation of assertion

B) Assertion and Reason are true but reason is not correct explanation of assertion

C) Assertion is true and Reason is false

D) Assertion is false Reason is correct

E) Answer not known
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Fammi (A): Lmedler &FL08 Sieusleirenlo &GMIUTH 460TS1 2608 L1 QLITIHETTSITIT LOGTME STV @) 76voT(®H
2,600T(H & EH 5 S @ ([HLNemM QeuefulLLIL@G LD SM&ms G0
&Myewrid (R): &&EMSMIL Svall QUTGBGETTSTIL MM TFAW &BwWeaumnley GLI6UITS €58 S0

S, 600TS @5 G0 @) emL-udleumenr LI H eralléu (NeTGTMME MG & 600TSHIT6uT8 G 3 emai(h) 3G LW

A) DI STFeorId &Fifl FaMHmIs @ STyeord Fiflwimer ellemgaLI0n

B) MMl &MFevorLD &Fifl 9eoTmey Fifliment elemg:asn 3j6V6y

Q) Famm Fifl &TFeooTD &euml
D) Fa MM HeUMI &HTFevorid &l
E) ellemL Qg flwalevenev

6) Choose the right pair
1. Sthabana Congress

2. Common Wheel Party
3. Naam Tamilar Iyakkam

4. Indian Union Muslim League

Fflwmeor @ emevrenl CHT6Y QFUIGS
1. 6TV ITLIGOT &ITMEIG [J6rV

2. &6 afeL L&

Kamaraj
Manickavelu Naicker
Seeman

Quaid-e-Millat

STITRy

LOMeonl & & Ceugyl HTWE ST

3. BT SWEPFT @WISHSLD € 10meoT
4. @S W weflwedr (evedld 658
A) 1,2,4 B) 2,3,4 C) 2,3 D) 3,4

STWCH Hleveus

E) Answer not known eflenL Qgflwelsvemnev

7) Match the following

a. Beggar Rehabilitation Scheme
b. Free cycle rickshaws plan

c. In Tamil Nadu VAT Debut

d. Free electricity for marginal farmers

QUNBHS SIS

a. N&FemEF&HEMyT IDMeuUMpey S LD

b. @ eveusF MFHR 6T [flgng T QULLMIGLD HLLLID

c. SELDBTLIg6L VAT 90l &LD

d. A w1 fleusmuilsEbsE G eveus LOlETEFTLD
(@ (o) () (d)

A) 2 1 3 4

B) 2 1 4 3
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C) 3 1 2 4
D) 3 2 1 4

E) Answer not known aflenL Qg flwelsvemev

8) With respect to Tamil Nadu Government Awards 2023 choose the wrong match
1. Thanthai Periyar Award - S.A. Veerapandian

2. Pavendar Bharathidasan Award - Palani Bharathi

3. Thiru. V. Ka Award - S. Jeyaseela Stephen

4. Kamarajar Award - U. Balarama

SO0 & 978 (D SIHET 2023 LD Y, 600TL.60T &6UMITEOT @) 6M6TuTen LS CHTHASHH
1. shHemg Qulwmy e sl - &.L1. 61517 LIIT6u0T Lq. W 66T

2. UMGauhsT LUMTTS S TEFeT 68 ([H S - Lpeofl LTyS)

3. (. . & N(BII - s. QW EeuIT eruLeLIGHT

4. TLITRT IS - U. LIGuITITLO 60T

A) 2,4 B) 1,24 C) 1,34

E) Answer not known ealleoL Qgflweleveney

9) Choose the right pair

1. Kanyakumari Marundhuvaal Hills
2. Villupuram Pachamalai

3. Dharmapuri Chitteri Hills

4. Tirunelveli Agastya Malai

Fflwmer @ ememrenls CHT6] Q&FWIS%

1. Setrevi WM Lorf] - LO(BIHSI6UTLH LOEM6V
2. Ly - LI 60V &F LD 6D 6V

3. 5Ty - 1565 nemev

4. B\ (1H G H6LG6U 6O - 3|56V H) W DM 6V
A) 2, 3,4 B)1,2,3 C) 23,4

E) Answer not known eflenL Qgiflwelsvemey

10) Assertion: Pichavaram mangrove forest is near Chidambaram in Cuddalore

district

Reason: It is the third largest mangrove forest in the world with an area of 1100 hectares
A) Assertion and Reason are correct Reason is the correct explanation of assertion

B) Both assertion and reason are false
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C) Assertion is true and Reason is false
D) Assertion is false Reason is correct

E) Answer not known

Famml: LN&FFmeurh FHILIL Blevs&TH SHLMT LML LSH 6 FGIUTSHMNHES B 2 6Teng]

STyeuord: 1100 QaM&LT LUFLILI6ETe] 2 L6 2 60&H6v enermmeug WsLUQUflW FSILL BlewGEsILTS @) Sl
2_eiTengl

A) FammILDd STFesTD Fifl FamMIm @ smyevord Fiflwmer eflengasLd

B) FnMHMILD S&TIE0OT(LOLD &6uml

Q) Sammi &ifl HTFeoTLD &eumi

D) Sa MM SeUmI STFevorid &ifl

E) eflemL Qsiflwallsvemev

11) Choose the correct statement

1. The Tamil Nadu State Archaeology Department has discovered a hot clay doll at Porpanai
Fort in Pudukkottai District

2. It was a black male figure doll

3. The hairstyle, attire and lips are polished

4. The eyes and eyebrows are drawn in the shape of fish

sflwmer gamenm CHTey QAFUIS

1. 0L BTG WOMHl6V QG MeLESIW 6L FIeMmMW MTETSI L &1&C&HTLemL LDMeUL LD QUITMLIem6T CSHMLemLudle &6
LO6UOT QILIITLD6MLD 62 60Tl 6 60T &5 600T L) [ Sl 6iT6T S

2. @8 BIHLIL BIM 24,6007 2 (H6U GQLITDEMLO

3. HEM6L VBISTIINLD GLEVTEmL LD 2 5L (h L|60T6Teém & Wb QL (H& M MI & ITevoT L LI (b §) 60T m 60T

4. 560018 @BLD L|(H6UMISEHLD &6V 6uLq.6916V 6u6em Iy LILIL Lg.(Th & 83 60T M 60T

A) 1,2 B) 2,4 C) 1,3 D) 3,4

E) Answer not known eflenL Qgflwelsiemey

12) “Among the Indus Valley Civilization cities, this particular city stands out as it was
divided into three sections, each enclosed by substantial stone fortifications. Moreover, this
city gained prominence due to the discovery of a sizable and distinct Harappan script
crafted from white stone and embedded in wood.”

Which of the following cities is being referred to in the above given description?

A) Mohenjo Daro B) Harappa C) Dholavira D) Rakhigarhi

E) Answer not known
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"AAbg  FoQeefl mBrsrles mosyrseafley, @QBs GOILUNLL BsoL  epearmy  Aifleysermsl
Wl&sluliqelusme  Seallss BIHHRMS, @6UQMTEOIMID &SauflFmar &6 GCHBITLemLSEITTE
@GLUUL@eTeargl. G, Qeu6TemeTs: HEIVM QFFIGHULLMR WLISH60 LS EGHLLLL & 6ol lFInmer
LMHMID SellgSeUnmeT anFLLT MG &&6T HearGUESILULLSTL EhHS HETL (WHESR WS SeD
QuOMSI.

GG Q&EMH&SLILLL ellarssssH e LeTeu(pld 6Ths H&TD GSMIULALLIL@GSmS?
A) QUOMTSHEHFSTCTIT B) emyLlum C) G meumedliym D) rr&sian
E) eflev L Q& flueilsvemev

13) Which of the following characterizes the people of Indus Civilization?
1. They possessed great palaces and temples.

2. They worshipped both male and female deities.

3. They employed horse-drawn chariots in warfare.

Select the correct statement/statements using the codes given below:

A) 1 & 2 only B) 2 only C)1,2and 3 D) None of the above

E) Answer not known

L9 6dr6u (H 6ustTeu M MI6T A HZHIQeuer BTEN&E LDEHMET aUSHLILIMS SIS 615

1. QUIlW ST eUoTID6M60TS @EBLD, CEHMTUNELEEBLD I UTHEHEGF QEFTHSLOMS @) (HIHS 60T.

2. 91,600T, QILICUOT Q& LI6UMISGEM 6T euLSILIL L 60TIT.

3. Gumfleb G ey LLLLqW CSTSHem 6T LIeTLI(H\ & S 6Ty,

EC Q&M &SELULL BT GMuiGisenerll LwWeTLUMSSH Frlwimer sabhmisHeners C&IHGSH & & e LD:
A) 1 &2 1l (L B) 2 (D C)1,2&3 D) GLoM&600TL. 6116 L 6L6m6V

E) eflem L Q& flueilsvemev

14) With reference to Indus Valley Civilization's (IVC) contact with distant lands, consider
the following statements:

1. The inscriptional evidence from Mesopotamia mentions the name of the Harappan
Civilization as Dilmun.

2. Harappan weight standards were followed by other contemporary civilizations.

3. The IVC people learnt the art of making burnt bricks from Egyptian civilization.

How many of the above statements are correct?

A) Only one B) Only two C) All three D) None

E) Answer not known

Az FoQeuel BTE&EF&EEH 6T (IVC) QSTemeuST HleUkSEHLTTer QGTLITL QSTLIUNS, LI6Teu(nLb

oD M1 SH6M6TE 8561 60T UL M1 & 6iT:
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1. QLFUCLTIEWTeleL FRLSGH HOLQaUL (& Frearmseailcy anylur BMEFEESSH6r QLW SeuLner
eTeoTml &SMILLNL LILC @ eTernsl.

2. LU BI&FHESH60r el s 5T eTaiBHHemerT MM FLOG&MeV HIsKlsm g6 L96orLmneor.

3. a®UBw BpreflssSHmphs &SLL QFmsmsdar swrifléE@lh saeenw IVC 10& &6
&M 186\ &IT6UOTL6OTI].

CLOB6v 2_6iTeT FaMmiGerlel 6788 emenT & IflWITeoTeme6u?

A) @6l 0L (HILD B) @nevor(h LOL_(HILD C) eLp6oTmILD D) gaidlsemey

E) eflem L Qs flueilsuemev

15) “He served as an important minister and acted as the Minister of War and Peace in the
Gupta administration. He also inherited the important administrative posts such as Maha
Dandanayaka or Chief judicial officer, from his father. He was the court poet of Emperor
Samudragupta.”

Who among the following court poets of the Gupta empire is referred to in this passage?

A) Harisena B) Kalidasa C) Vishakhadatta D) Amarkosha

E) Answer not known

GUs LFUGN6L CUMT LMHMID MG MWLESFTTS Lol WD, 0&T SHOoTLBHTWSIT 3606V
semevenln BEGHIm SG&THl CUTeTMm WHRAWWLMeT BlFeums USaEGameTwd @euf SHers
shengWILBIGHS QuOHMTT. @6 CUITF] FWSHTGLSTl6T 3TFameus &ellEy."

GUsLU CUITRerT NeTeu@pl SFFeaneus HellEIselley @hs LSS Ul @MUl U@ Uedy wmy?

A) aniflGF ey B) ssmerfl & me 6ot Q) NFMHEHEHST D) S|nJC&HTaq T

E) eflem L Qs flueilsvemev

16) Which of the following plays depicts a love story between a King and a young woman
along with an interesting description of the plight of a poor fisherman?

A) Abhijnana Shakuntalam B) Malavikagnimitram

C) Vikramorvasiyam D) Mudrarakshasa

E) Answer not known

BLHHEITL HTLEBISE60 SJFDIS G G 6D QLTSNS G @) 60LCUIWITET &HTH60 &HemGemW WD, (b
genlp Leurauenfledr 9jeuev Mlemevemwll LMl sFemeuwmeor efleuflliemuw]lb 556G HTLGD 5P

A) 8|19 @h e F&HHeVLn B) nmemedl & maeufl il &y L

Q) eNl&rGumIau& Wil D) (0&IMTIMLEFFLD

E) eflenL Qs flweilsvemev

17) Consider the following statements:

Statement-I: Samudragupta is sometimes known as the “Napoleon of India”.
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Statement-II: Samudragupta showcased his military prowess by defeating nine kings in the
north and twelve kings in the south.

Which one of the following is correct in respect of the above statements?

A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for
Statement-I

B) Both Statement-I and Statement-II are correct and Statement-II is not the correct explanation
for Statement-I

C) Statement-I is correct but Statement-II is incorrect

D) Statement-I is incorrect but Statement-II is correct

E) Answer not known

LS 6tTeu(BLD oD MIGEM6TE 8 66T MBIS6IT:

Fmml-I: FWHHTGSLIST "@HH Wmeiler QBLIGCLITESW 6" TeiTM JenPEH&HLILIGSHMTT.

Fmmi-II: FWPHBTGSLUST QLSS 6V Q6TLIS DT THMETUWLL, QHMHE 6 LIciTerlT6vor(® LD 60T60T ]85 60 61T LD
CHMM&LLEH S S60Tgl @Tmemiel aedlennenw Qeus LGS S eormy.

CLMSHEUITL. FaHMISEM6TLI QILITMIGSS 66T LI 60TeuIHeuetTeu M MIGT 6Tl &iflulmeors?

A) SaDHmI-I IDHMID FnmmI-II G Fevor(GIb Fifl LHMILD SoDM-I1 HE&HTET Fammi-II Fifluimer afleng &I mELD.

B) S MmI-1 IDMHMID Fammi -1I @ FeorGbD &Fifl LMHMID Sa M-I &&Mer Fammi-11 Fiflwmer aflaTsah 96v6v.

Q) SnMmI-1 FHRWITEITS! Sbe0TTEV Fon D MI-II &6UMTEOTESI.

D) FaMmMI-I HEUMTEOTH ILE0TITeV FoMMI-II & F1UITeTS!.

E) eflemL Q&iflweilsbemev

18) With reference to Gupta emperor Samudragupta, consider the following statements:

1. He issued gold coins with depiction of him playing veena.

2. He built the Nalanda university which later became an important Buddhist learning centre
in India.

Which of the statements given above is/are correct?

A) 1 only B) 2 only C) Both 1 and 2 D) Neither 1 nor 2

E) Answer not known

GUsU CUITFT FWHHTGSLISmTL LML L6TauBLD Fa M M8 e0n6Ts & 6uevllyki&e6T:

1. 96Uy efemenor UM LILIZG CUITETM 2 (Heulh QUTMGS SHMhiIg [HTEUUTWMIGm6T QeuerfludlLmiy.

2. 3j6ulT BTEMHST LIVSHMVEHLNES NS &L LTI, HTETHSIT LIVHMeVESNSGW LeTery @) kS wmesleor
WEHWLOMeT QU6TSS &euall 6mOWIOTS LMW S,

GG Q&MH&SLILLBH6TET Fndmisertlev ergi/sremeu Fiflwmeorsl/ &ifl W meoremeu?

A) 1 0Ll B) 2 0D C) 1 inmmilh 2 @evor(hLd D) 1 9j6vevgl 2 @UetoT(hLD G)6L6m6V

E) eflemL Qs iflwallévemev
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19) With reference to the period of Delhi Sultanate, arrange the following events in the
chronologicalorder.

1. Introduction of Token Currency

2. The system of dagh and chehra was introduced

3. Sultanate Capital was shifted from Lahore to Delhi

4. Establishment of a department of Public Works

Select the correct answer using the code given below:

QL6LES HFLGTalWSHT HTLGHMS I GLILIOLWTSHS Q&ETrH GLHEHESETESDIN [HLDEHM6TSH SHIT6V
auflemaLing eurflemsiL® S 5185,

1. S6OILWIITET [HITEUOTW (LPemM M (LN S&LD

2. sam, QFanrT Wenm AMWSUUGSSLILLLSI.

3. HLB e WS G 6T HeMeVHSHITD VTFleO(BH S QAL6L6NE S LMHMLILILL SI.

4. QUTgILL6TS Slemm 6Tenm Bl Mieys 6L

BCY AsTH&sLULLG6TT GMufienL Ll LweaTUu®SS Frlwmer eflenLemws CHTHASH &S50 D:

A) 3-2-1-4 B) 2-1-3-4 C) 3-4-1-2 D) 4-3-2-1

E) Answer not known  eflenL Qgflwelsemey

20) With reference to the rulers of Delhi Sultanate, consider the following statements:
1. Qutbuddin Aibak was the founder of the Slave Dynasty of Delhi Sultanate.

2. Balban created a new class of forty powerful nobles, known as the 'Chahalgani'.
Which of the statements given above is/ are correct?

A) 1 only B) 2 only C) Both 1 and 2 D) Neither 1 nor 2

E) Answer not known

BH6L6Y F LG TETSHS B 60T L FWmeTFEHemerLl LMHMILI LN6TUIBLD FahMISGem6Ts & 6ue6uTll] kg 6iT:

1. QL6LEY FeL S MG B 60T I|Lq6MID ULDFSHMS HlMmieSleUT &8 LS 60T LG,

2. LMLLIGHT '&FmMameuaenl' 6TedTml Semp&&LLLL BTMHUS euedlenwidlss NFL&&samend: Q&TeoTL & h
HBW eufE5HE5mS 2 (HeUTHH6TT.

GG Q&MH&SLILL B 6TET Fabmisertlev ergi/sremeu Fflwmeorsl/ &ifl W meoremeu?

A) 1 1oL (plLDd B) 2 inL_(h\Ld C) 1 ommID 2 @ evor(hLD D) 1 96veugl 2 @evoT(hLD @) 6V6m6y

E) eflemL Qs iflwailsvemev

21) “He is a seventeenth century French traveler and merchant in India. He visited India
during the reign of Mughal Emperor Shah Jahan. He had elaborately discussed about the
diamonds and diamond mines of India.”

Which of the following travelers has been referred to in the above paragraph?
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A) Thomas Roe B) Jean de Thevenot C) Nicolo de Conti D) Jean-Baptiste Tavernier

E) Answer not known

"@euly USCeTpMh Brmmmevoriqeor LNQreEhs Lwevoll wmmib @HHwmelley eueanll&HyTe: @UBHSITY.
wasemwLl GUIIFy eaqmRsmeller WL & STuSEH6 @il @hHSHWTHEES UIBME SHSIT.
@ HH WITell6ir emeuFmIG6T IDMMID eMeul &HIMSHRISHT GMIHSH euF ellifleuns aSleurH&sTT.
CuMmsevorL LS H Ul LNetreu(pld LIweoollev Wmy?

A) STev G B) 56T 19 QFQ6UCETITL.

C) Bl&B&HTGEIIT 19 &5 MeuoTLq. D) eS60T-LIMLIIQ 6L LT eot Wiy

E) eflevL Qs flweilsvemev

22) Who among the following Mughal Emperors shifted emphasis from illustrated
manuscripts to album and individual portrait?
A) Humayun B) Akbar C) Jahangir D) Shah Jahan

E) Answer not known

Wereu@mld pseumwl GupEiseaflsy FSHIEF SHFealsalOl(Bhs LSSHHWL wLoHmibd SeolliulL
2 (HULILULSSHMEG 6T (N&HHRWSSIeugSens ummmlweury wmi?

A) QLT W, 60T B) &&UT C) KamMmIST D) 619 T8 TedT

E) eflemL Qs iflwallsvemev

23) Arrange the occurrence of the following battles in the correct chronological order:
1. Battle of Ghaghara 2. Battle of Chanderi
3. Battle of Chausa 4. Battle of Khanwa

Select the correct answer using the code given below.

etreu(plb GuMTserletr mlapemeu Fiflwimerr &meveaurflensliLlg auflenF LB &S e Lb:

1. &A&OT GUTH 2. FHCHIfl GUTT

3. QFeT&Em GUITT 4. smesTeUr CUIMT

BCY AsTH&SLULLG6TT GMIuTenL Ll LweaTU®SS Fflwmer LTHeamans C5THOSH &S50,
A) 3-2-1-4 B) 2-1-3-4 C) 1-2-4-3 D) 4-2-1-3

E) Answer not known E) eflewL Qsiflwellcvemney

24) In India, which one of the following is responsible for releasing the ‘Export

Preparedness Index’ (EPI)?
A) NITI Aayog B) Reserve Bank of India

C) Ministry of Commerce and Industry D) Directorate General of Export Promotion (DGEP)
E) Answer not known
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@ HH Wmellev, LI eirau(peusoreumnleL 6Ts 'gH MG 'swmFBlenens GMui@®' ‘Export

Preparedness Index’ (EPI) Qeuerflul(@eusm @& QuUITmILILIMEGLD ?

A) BIS 2,CWIms B) @b 5 W flFrel aumiG

Q) afH58 IDHMID QSTHSE MM SMFFHID D) ghmind) 2o GallllL QUMS @ W& ESbBrswn (DGEP)
E) eflemL Qs iflwailsvemev

25) The term ‘Goldilocks Zone’ is often seen in the news in the context of

A) The region around a star where the temperature is just right for liquid water to exist on the
surface of a planet

B) The region around a star where the gravity is just right for a planet to have a stable orbit and a
moderate climate

C) The region around a star where the radiation is just right for a planet to have a protective
Atmosphere and a magnetic field

D) The region around a star where the luminosity is just right for a planet to have a long-lasting
habitable phase

E) Answer not known

'G&ITELLY.6VITEEMN LOGUOTL VLD 6T60TM QFTEL QLIHLDLIMSYILD eTemd GMIHE LweTLHSmSI.

A) @® Brsgeer CuHurilile Hra B @oeLUUSHEG Galiuplame Fflwms @BeEGD @M bLESH TSNS
GHMlL6eTeT LGS

B) @b S J5&LD 6(H BleM6VLLITET SMHMILILITeN S MM L& LOTET &ITeVIHleneuen s Q& MeuoTlq(h& e FFLIL Ffluwimg
QOBSGD @O BLESTTSMSE SFHlW6TET LGS

O @M HISHSEHHEG LUTSISTLUMLES QHMarl)GsEs &HIaids Filums @meEG (R BLESHISHSE
&milulemerm) euerflneooTL6v IDMHMID &THSLIL6VL LIGS.

D) @@ HUsh BaTL&ETN aMp&ESmIW &Sl LSHMEH Q&Mamlg@meEs eaflie FlWms @mesGL @
BLESHISHMSE SHUlWeTer LGS,

E) eflemL Qs flueilsuemev

26) What is the name of the World Health Organization (WHO) recommended drug
as the preferred first-line HIV treatment for adults and adolescents?
A) Isoniazid (INH) B) Rifampicin C) Pyrazinamide D) TLD pill

E) Answer not known

eTUIL 6N CHMLEES 2-6V8 &G&EMTSTT SjemnlnliL] (WHO) Uflhsienrs s 0I5 HEH 60T GlLIWIT 6T60T60T?
A) 9G&mefl WML (INH) B) fleUmbLN& et C) e FmHR eoremLo () D) TLD 0M&Hemiy
E) eflemL Qs iflwallsbemev
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27) Which one of the following schemes provides debt financing for the completion of
stalled housing projects, thereby supporting the growth of the real estate sector in India?
A) SWAMIH scheme B) PM svanidhi C) SANKALP Project D) Nai Udaan

E) Answer not known

@ BB wWwmeilev fley ereruCLL FGlemmuileiT eueMTEF &GS LB Teues s, B MSSLILLL fLHg HLLMHISGeme6r
WG LIS MH&Teor &L 6T BlHleml LNetTau(hlh S L MGl 6151 6uLphIGH MmSI?
A) SWAMIH S\L_LLDb B) PM svanidhi Q) FmIG6ILI G LLD D) e0)[b 2_L_Tedr

E) eflemL Qs iflwailsvemev

28) “Operation Barkhane” was in news recently, it was carried out in which one of the
following regions?
A) Horn of Africa B) Great Rift Valley C) Sahel D) Maghreb

E) Answer not known

"9 LICTaY.60T LGS 6" FISLISH 6 QWIS ST aubhSE S, 6ThHS LGS ulev @)\ HLHHS5I?
A) L1 & s melletr Q&ML B) Quflw Lemey LIGTenS & Me & Q) &mCamev D) LD&Q LI
E) eflemL Qs flueilsuemev

29) The GI tag for Matti banana variety- was granted to
A)Kanyakumari B)Cuddalore C)Madurai D)Neyveli

E) Answer not known

LOMLLY eumTemLp (Matti banana) @& &S Mmamer LeNFTT &MU - 6THhS LML LSHMES eupmISLILLL Sl
A) setrenflwm@ o] B) GL&TT C) D&l D) QBUICau6d
E) eflemL Qsiflwailsvemev

30) “Exercise BRIGHT STAR - 23” a biennial multilateral tri-service exercise led by which of
the following countries?

A) USA and Egypt B) India and Oman

C) USA and Saudi Arabia D) India and U.A.E

E) Answer not known

"erHBFFMFV LNemIL GULMTT-23" eTedTm @ Uevor(h S4600T(H&HEHEHG @RUBUNEMM HOLQLMILD LIeVGTLIL]
WsSsTUL WO KeTeu(pld 6THS HTHISHETTEL HLSSUILGSEMSI?

A) QWHl&&T IHoID aHLIS B) @BSWIT LoMHMILD 2LD63T

C) QwHl&&T MM FeyF 2CTLIwm D) @QBHWIT HmID 8&EHW 7L eTdGrLen
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E) eflemL Qs1flwallsvemev

31) Which one of the following is the satellite communication system is developed by
“Indian Space Research Organisation” (ISRO) for fisherman?

A) Navic B) Bhuvan C) GAGAN D) Nabhmitra

E) Answer not known

Netreu@peusoreummieit "@bHlw  ellevorQeuefl SLIMWUEF FBlmieuerin" (G6evCHM) LEETEUTSHEHE ST
2 (HUMHEHIW QFWMNSHEECHTEHT HH6U6L QFMTLIL] SemloLIL] 6TgI?

A) BTeils B) LjeuedT C) 58607 D) B STT

E) eflev Q& flweilsuemev

32) Consider the following statements about tiger reserves:

1. Dampa tiger reserve of Mizoram encompasses around 30% of tiger population in North
East India.

2. Jim Corbett National Park has the highest tiger population in India.

Which of the statements given above is/are correct?

A) 1 only B) 2 only C) Both 1 and 2 D) Neither 1 nor 2

E) Answer not known

Hedl&6T ssmiLsmigser LMl LSeTeusLd Sa M misHen6nd: & 6.6l mige6lT:

1. NIGEMS6T UM Ledlser &Tlush auLensEE @hewmallecy 2 arem Ljedlserler erevorevol]denssudlev
&LOMMT 30% &3 2 6TeTL&G&RW Sl.

2.9l HMFQUL CaAWL LiRsT @HBHWwmelsy SBH& L|e0lsemerd & Imeuor(heiTemsl.

GG ASEMTHGH&HLILLBETET Fahmiserfley ergl/eTemeu Fflwimenrgi/ &Fflwmeoremeu?

A) 1 LLGID B) 2 L (GO C) 1 omMmIb 2 @ yevor(hLd D) 1 Sjevev sl 2 @ IetoT(hILD @)6Len6Y

E) eflemL Qs flweilsuemev

33) Ketoprofen and Aceclofenac recently seen in news is related to which one of the
following:

A) A new medical breakthrough in pain management

B) Environmental concerns and their impact on pharmaceuticals

C) Advances in sports science and performance enhancement

D) Inventions relating to genetic engineering

E) Answer not known

FfUSH QEUGsaley UTTSs SBLCLMUeHSLIET WMmMID HPSCETTSQLIETTE 615 80IL 60T
QSTLILemLWSI?
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A) 16l PITUN&HES 6L @ LEW ®BSSI6 LPeTGaTHMmID

B) &HMIF @060 HEUMEVEET LDMHMILD ID(BH SIS0 eumnler &m&aLI0

C) ellemerwim_(R Sinlellwedlev (LneTCermmmIGET MHMID Q&FWeLH M6 G LT
D) Lyl QumrMluiwey QG TLFLmer &evor(h LNg LIL|&6fT

E) eflemL Qsiflwailsvemev

34) Consider the following statements regarding the various economic curves:

1. The Lorenz curve is an economic theory that inflation and unemployment have a stable
and inverse relationship.

2. A Phillips curve is a graphical representation of income inequality or wealth inequality.
Which of the statement(s) given above is/are correct?

A) 1 only B) 2 only C)Both 1 & 2 D) Neither 1 nor 2

E) Answer not known

L6LCeUMI QUITIHETTSITI 6U6M6TEY&H6T QG ITLITLIMET LNGTeUIHLD Fo. D MIS 606 & 6L 6012

1. GQUMIETeIV 6UEMETCHM(H 6TeOTLSI LeuTais&EsEESH MG Coauemeuuileiremlng (Gl  BlemeuWTeT LOMHMILD
THTMME QSTLTOLIG Q& TeuoT(H6TETSI 6T6TM QLITIHET TSI G&ITLLITLTEGLD.

2. Kedlliev euemenGSHIT(H QUUIBLOMET FLOG FlIaULSl6iTemln 6V6VE QFeuEF FOLSlaTenemL cuemTellevTs
F55LULSTEID.

GG Q&M &S LILIL 6T Funhmiserley ergl/eremeu &iflwimeorgl/& flWmeoremeu?

A) 1 L@ B) 2 LOL_ ()LD 0) 1 &2 @uevor(HLd D) 1 & 2 @Ueoor(hILD @)6L6m6V

E) eflem L Qs flueilsvemev

35) What is the meaning of HSN code in the context of GST?

A) Harmonized System of Nomenclature, used for classifying goods for international trade
B) Headquarters State Network, a government communication network

C) High-Value Service Network, a tax category for specific services

D) None of the above

E) Answer not known

Slerervlq G696 HSN &ML 19657 S FSH LD eT6oTE0T?

A) LieTeoT T () 660018 SH MM QUITIHL.SHem6T auen&LILMSS L LWaTU@ILD esHenaFalmsr QUKL wenm
B) H6Mm6VEMLOUIS LOITIBI6V 6U6DI6V @)60I6T0TLIL], 2(H HTFMHBIH H&HeU6V QSTLTL] elenevLilemeoorLiL]

Q) 2 wWj H LI ey @ememrliL] GFenel, GMILILILL CFemauss@bhsamer allifl alens

D) G &Ml 6T&I6]LD G)6Vem6y

E) eflemL Qs iflwailsvemev
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36) The Mahalanobis Model, associated with India's Five-Year Plans, emphasized the
development of...... ?

A) Agriculture and consumer goods industries

B) Heavy industries and capital goods production

C) Service sector and information technology

D) Small and medium enterprises

E) Answer not known

@ BB Wmelledr &b meroT(hg B L MIGEHL 6T QSMLTLemL W &HeuGeaTTLIev mS i, LI 60reuH 6ueoreumnil 6ot
6TH & aUETTEFEF eml U6l MG H W SI?

A) elleuFTWLD MHMID BISTCMT QUITHL &6T Q5 MU608 6T

B) H60T5% QS TU6V& 6T DMMILD eLNEVSEOTLI QILIMIBLG6T 2 LSS

Q) GFemaus Slemm MHMID S&HaI60 QG TLEleVEIL LD

D) 101 OO BOSST ] D6 60T I & 6T

E) eflemL Qsiflwallsvemev

37) Which of the following set up with a view to develop rural economy by providing credit
and other facilities to small and marginal farmers.

A) MUDRA Bank B) RRB C) SHG D) NABARD

E) Answer not known

Fm LHMIb G0 NauFmTuilsEpsE SHLaT LMHMID 91D UFH&GM6T QULPMEIGSET el SRFTLiL|m
QUIBETTSTIHemS GBS SILD CHTH S8 SIL 60T LI 60T6U (H6U60TeUM MIGT 6TF1 S| eMN&SLILILL GI.

A) (NG TT eUBIG B) LDGDOTL_6V D6M[J8 6UMIG) O &W 2 568 G D) UM eumIH

E) eflev L Q& flueilsvemev

38) Consider the following statements with respect to the Central Bank Digital Currency
(CBDC):

1. The Reserve Bank of India broadly defines CBDC (Digital Rupee (eX)) as the legal tender
issued by a central bank in a digital form.

2. The CBDC is akin to sovereign paper currency but takes a different form.

3. The CBDC is a digital or virtual currency which is comparable to the private virtual
currencies and is very similar to them.

Which of the statement(s) given above is/are correct?

A) 1 & 2 only B) 2 & 3 only C) 1 & 3 only D)1,2&3

E) Answer not known
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5B w eumiGuier 19l L6 Bresorwid (CBDC) QgmLiunms NeTeu@bLd &M misemens &eueof]?

1. @B W flFFeu eumS CBDC (1931 L6L UM (e3)) 6T6iTLMS LGS L 6V aUlgaUSH6L 0GSH W 6UmIG wmen
QULPBISLILIMRILD FLLLILLT6U GL6UOTLIJ 6T60T LITEU6VITS 6U6emITW MI& & M.

2. CBDC - @emMWTEITeNn SHMTHG LSHMNEG R555MH QUHSEHMSI, ILTTL GCoauml 6IlgaldHns
Q& mevor(h 6TerSl

3. CBDC eretTLIG 198l L6V V6V QLWIFBIST LeuoTOMEGLD, @& SHeoflWmy QLOWIMIST  LI6UoT b & erh L 60T
255 & H GTHSI.

CLGev ABMH &S LILIL[H6IT6T Fnbmiserleu ergl/eremeu &iflwimeorgl/& flw meoreneu?

A)1&2 LMW B) 2 & 3 InL_(hLD O 1&3 LML D)1,28&3

E) eflevL Qs flweilsvemev

39) Consider the following statements:

1. The Core inflation includes a price rise in food, fuel and all other commodities.

2. The Headline Inflation excludes the highly volatile food and fuel components and
therefore represents the underlying trend of inflation.

Which of the above statement(s) is/are not correct?

A) 1 only B) 2 only C) Both 1 & 2 D) Neither 1 nor 2

E) Answer not known

L 60TeU(BLD S MIG6MIETE 86U 60T WL M &5 6iT:

1. oW Ueoorel&aID eTaiTLIS 2 60Ty, eTFlIQUITIH6T LDMHMID emerTdh Gl QUL ST eflemev 2 wWifemeu
2 GTeTL&E S W SI.

2. (pGSeTemloll Leoorefdsd W&Galh mlemeuwmm 2 6oorey WMHMIDL FQAUTIHET FamiGemneT Nl GSGHEMSI,
@\ 5! Uenrels &5 S et g LILenL CLUMTHmES M &R M.

CLOB6v 2_6iT6lT FaMMI(H6rl6L) eTgI/eTemeu FiflwHmemneu?

A) 1 L (BIWD B) 2 L (HLD Q) 1 &2 @uevor(hlLd D) 1 & 2 @ evor(hLD ©)6LemIGV

E) eflen L Qs flueilsuemev

40) Which of the following tools can be used by the RBI to control inflation?
1. Increase in Reverse Repo Rate

2. Increase in Bank Rate

3. Reduction in Cash Reserve Ratio

4. Reduction in Statutory Liquidity Rate

Select the correct answer using the codes given below:

A) 1 & 2 only B) 2 & 3 only C) 1, & 3 only D)1,2,&3

E) Answer not known
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UeooTei6&55m5 8 SLHLULUGSS F&FTeu eumiS LNerau(bLld &(Hed&erlev eremg Ll LIW6TLI{H S S6VITLD?
1. fleugeiv QrLIGUT IS 51D S &KLY

2. eum® i 9IS &KLy

3. Qm& s @@L NS 5D G 6emma 6

4. LS WITeor LIewrLIL|&sS NS 58S 6L & enmLiL]

SC QasmhHS&sLUULReTar GMuihsamerl LweTUGSS) Frlwmer LG C5ITHOSH & &Ha]LD:
A)1&2 0L (lLDd B) 2 & 3 InL_(phILD 0 1&3 Wl pLb D)1,28&3

E) eflem L Qs flueilsuemev

41) Which of the following is the way of privatisation?
A) Disinvestment B) Denationalization C) Franchising D) All the above

E) Answer not known

L) 60T 61 (IH 61 60T 6U M) MU 6T 6T & 60T IWIMTLOWILD TS G euyll?

A) UBIG elleus a6y B) &60f|WIMJLOWILDITE &6V

Q) mlmiauer 2_flemin LIS T D) GLOM & 600TL. | 6M6TS SILN
E) eflemL Qs flweilsuemev

42) Who among the following propagated Gandhian Economic thinkings?
A) Jawaharlal Nehru B) V.K.R.V. Rao C) J.C. Kumarappa D) A.K. Sen

E) Answer not known

L9 60T 61 (I 6 6TTEU M MIGIT ST HH W LI QUITIHETTSHTTEF GFHS emeursemerLl Lyt weury wmy?
A) 61amFeumey CBH[H B) 6.G&.a4 7.6l [y mel Q) C.5.@yLium D) .C5%.Q & 60T
E) eflemL Qsiflwailsvemev

43) The New Foreign Trade Policy was announced in the year
U W WeBTL® U5 558 Qamarans mMiallsaslLL L o 600T(6H
A) 2020 B) 2018 C) 2022 D) 2023

E) Answer not known eflenL Qgflwelsiemev

44) Which one of the following statements correctly describes the meaning of the legal
tender money?

A) The money which is tendered in courts of law to defray the fee of legal cases

B) The money which a creditor is under compulsion to accept in settlement of his claims

C) The bank money in the form of cheques, drafts, bills of exchange, etc.

D) The metallic money in circulation in a country

E) Answer not known
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G LD &5 600TL6UM MIGT 6THS Fa MMl FLLLILLT6U LI6oors S 6o QUITBen e FHlwmg efensd: &SR mSI1?

A) FLL aIp&GS6flen &L Leursemns Q&M s S516lsMETS HE)LeTMHIS6T 60 ek LGN LI6sorh

B) @ SHLeBHaUT Heragl CHMTlEmEHMeTsS STLILS ghHmMISQ&HTeTeT Caustoriql &L LITWSH 6T SBLD 2 6TerT
LI600TLD

Q) QUEBIGILI LIGOOTLD STGF MM EVSHET, 616M T CaUTm6VE 6T, LDMMHMI 2 600TL UI6VS 6T GLITeTmeuMl6dT aulgailev.

D) (b BITL_19.6V L|LDSHSHH 6V 2_6T6T 2_GeuMTss LI LI6soTLD

E) eflem L Qs flueilsuemev

45) The word ‘Monetary Transmission’ often seen in news is related to which of the
following?

A) To contain growing Non-Performing Assets (NPA’s) of commercial banks.

B) The pass-through of the RBI’s rate actions to the economy at large.

C) Smooth transmission of tax devolution to states from centre.

D) Providing timely credit for agriculture and other economically weaker sections

E) Answer not known

QFWRH G 99&5HY SmeooTLILGILL 'Ueorellwey UfllomMmd’ efedTm Q&Fmev LI 6dTeu (H 6ueoTeu mndl 6L
TH VL 60T QS MTLITL{emL W SI?

A) 66t & 6UBIR &6 6T eUaTIHE aUHLD CUTTITE &L 608 en6Ts &L (HhLILIH & S5I560.

B) flejeu eumSH w6t B S BL U SendHHemeT QU Siemalley QUITIBOTTSTISH M & LIS 60.

Q) ST W SITFALLOBHS LDTHl6VBISEHES G el LIS Fem el &enssI0ms | soiliL|S6v.

D) elleusFmwih wmomh m QuUITBeTTSTISH e BedleuamLbs LIflellerpsE Fiflumear ChIsHey &L 6or
QULDMI G &6V

E) eflev Q& flweilsvemev

46) The monetary policy of Reserve Bank of India targets which of the following Inflation
Index?

A) Consumer Price Index (CPI) (Rural) B) Consumer Price Index (CPI) (Combined)

C) Wholesale Price Index (WPI) D) Consumer Food Price Index (CFPI)

E) Answer not known

@bew flefeu aum@ullear Usoralllley QS&EMaTens SLHEHHEUITLUMMIGT ThHE Letraisss GmluiienL
QVEETHS Q& TeuoT(H6ITeTSI?

A) BIGTCaUMT aflemevss &mIUT®H (CPI) (BFmOLILmID)  B) (BB enetor S5 BHTCaIMT allemeusd &mluih (CPI)

Q) Qs s ellemevd GMIuT®m (WPI) D) BISTGaUTT 2_evore elemevds GMIui® (CFPI)

E) eflev L Q& flweilsvemev
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47) Which of the following reforms was/were undertaken with the New Industrial Policy,
1991°?

1. Limitations on monopoly of public sector.

2. Introduction of a policy of automatic approval for FDI.

3. Abolition of industrial licensing in select sectors.

Select the correct answer using the code given below.

A) 1& 2 only B) 2 &3 only C) 1 & 3 only D)1,2&3

E) Answer not known

W Qgmhley Qa&smatems, 1991-607  IiglivemnLuiley ereu@pld FrH;BSFHRG6TI6L  eTemeu
CLMA & TeTemLILIL L 60T?

1. QuUTgIS Semmuiler WM miflenio LSS TET 6UIFLOL|&6iT.

2. 9HBIW CHTLY WHSLIQMES SMTTHGol @LIL|S56 3 6T& G Q& maTeansaml M &LILM S S8 6V.
3.CaIHAsM&&IULL GOUIUNLL siemmaefley Qg mtlsugienm 2 flingeansg @SS Q&FIS6.

GG A&MH&sLILLGreT GMuilemL L LweaTU®RSS) FHlwmer LUGamevsd CHTHASH & 5D,

A) 1& 2 oL (hILD B)2 & 3 Inl_(hlld O 1&3 L@ D)1,28&3

E) eflemL Qs iflwailsvemev

48) Consider the following statements regarding the Pradhan Mantri Mudra Yojana (PMMY):
1. It provides collateral-free loan up to Rs. 10 lakhs.

2. Both farm as well as non-farm sectors are eligible for the loan.

3. Loans are given by only the Public Sector Banks (PSBs) and the Regional Rural Banks
(RRBs).

Which of the statement(s) given above is/are correct?

A) 1 only B) 1& 2 only C) 2 only D) 2 & 3 only

E) Answer not known

Wrsmer LB K W Tm Guimgenrm (PMMY) QG TLFLITeT LN6Teu(BlD Fa M Mg emerTd &euenfl?

1. @&l €5.10 UL &FLD 6UMIT J|LLOITEUTID @)6V6VITS &L 6M6UT GULD MG M Sl.

2. L1600T6M 60T LOM MILD LICOITEm 600T EFITITIT 160 MEGET @) JeuoT(hID &L 0I5 S H& )L enL W emel.

3. QUMEI & Slemm UMk &6t (PSBs) LM MILD LAFMTHS W G LILm eumkiS &6 (RRBs) eLn6uld LOL (HGLD &L 6018 6T
6U LN M58 1L () 63\ 60T M 60T.

GG Q&M &S LILIL[H 6T Fandmiserley ergl/eremeu &iflwimeorgl/& flWmeoremeu?

A) 1 L BIWD B) 1 &2 L@ @ Tevor(hiLD Q)2 L (LD D)2 &3 L (LD

E) eflem L Qs flueilsvemev

Page 20 of 84

https://t.me/ChinmavaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

49) Which of the following sector(s) is/are eligible for consideration as loans under Priority
Sector Lending (PSL)?

1. Education 2. Renewable Energy 3. Housing 4. Agriculture

Select the correct answer using the codes given below:

A) 1 & 3 only B) 2, 3 & 4 only C) 1,2 &4 only D)1,2,3&4

E) Answer not known

Hereumld siemmsefey gl (Wetaflenng gSemm SLer (PSL) HLLGHer G SLaTEHmeTl QUM
5&HWmersi?

1. &6vel 2. UsILNE55568 oifl&ss) 3. oL euss) 4. GEUEITITEUOTE0I LD

SC AsMH&sLILLG6TeT GMuiGsamerl LwWaTU®SS Frlwmear LUGameavs C5THESH &S] LD:

A)18&3 WL @EW B) 2,3 &4 oL (b Q) 1,2 &4 LLELW D)1,2,3&4

E) eflemL Qs iflwallsbemev

50) The First session of the Indian National Congress was held at
A) Calcutta B) Nagpur C) Belgaum D) Bombay

E) Answer not known

@BHSW CHFW SMTRIBTF 6T (PGH6L LMHTH HOLALMHM G LD
A) HVHGHT B) BM&LLIT 0) QUELSITLD D) LLbumul

E) eflev L Q& fluieilsvemev

51) Find the Odd man out.
A) Surendranath Banerjee B) Dadabai naoroji
C) Gopala krishna gokhale D) Bipin chandra pal

E) Answer not known

QUIIBHS TS 6 60Tt M &8 600T([H1LI1G.?

A) &CIBHTHMS Limeoryed] B) &M UM QBeTCrmel
Q) G&ITLIMeL & (H61q.600T B&HTEHB6V D) LN NedT &S T LIMTeL

E) eflemL Qs flweilsuemev

52) Consider the following statements:

1. Rajagopalachari Formula stated that the Muslims would be given their own country based
on the predominance of Muslims in the state.

2. It stated that in the event of partition mutual agreements for the five-year planning,
agriculture and communication would be undertaken.

Which of the statements given above is/are correct?
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A) 1 only B) 2 only C)Both 1 & 2 D) Neither 1 nor 2

E) Answer not known

LSl6tTeU(BLD &G (D MITHEMIETE & 6L 6011 UL Ml & 6iT:

1.7mLCHTUMTEFF T 31091 & em & udl6L W 6rvedlLh & erfleor QuU@BLUTaTemouGeT g LILIemLudlev
W6VeIID & E6 8 S &6l BT ULPMKISLILIGILD 6Te0Tml SamLILIL L SI.

2. Wfleflemenr gHULLMTE, BHSTeworH G LISLISSTET LFauLDT @UUBSHEISG6T, afleuFmud ommib
556160 QSTLITL CLMASEMTETamLILI(RILD 6TeTM Sl FanlGl.

GG QAHMH &S LILIL{H 6T Fanhmiserley ergl/eremeu &iflwimeorgl/& flWmeoremeu?

A) 1 L@ B) 2 LOL_(AILD 0) 18& 2 @uesr@Lbd D) 1 & 2 @yeoor(hILD §)6V6tI6V

E) eflev Qs flweilsvemev

53) Mahatma Gandhi was the editor of which of the following
A) Indian Opinion B) Harijan C) Young India D) All of the above

E) Answer not known

L&TSLOM &THS) L9 6dTeu (H 6uetTeu M MI6T TS BNedleor o FAFlWFTa: @UBHSTT ?
A) @S WwedT L1 Teofluieor B) emflegetr C) @6 @BEHWIT D) GLoB6V 2_6IT6T | 6M6uTS SILD
E) eflem L Qs flueilsvemev

54) Consider the following statements regarding parallel governments established during
Quit India Movement:

1. In United Province, a parallel government was established by the Hindu Mahasabha.

2. In Bengal, Jatiya Sarkar had taken control of Tamluk and organized Vidhyut Vahinis.

3. In Satara, Prati Sarkar was organised under leaders like Y.B. Chavan, Nana Patil.

Which of the statements given above is/are correct?

A) 1 & 2 only B) 1 & 3 only C) 2 & 3 only D) All of the above

E) Answer not known

QeueTemeTGeT QeueflGM @) W& &S B 6T GUMSI Bl miaULILIL L @) 6M600T S|[J&FTMHISGMG6T Lmlw L9 edTeu(sLb
oD M1 560 6MTE & 61 6011 MBI & 6iT:

1. 2&&H W DTS TEUTS B 6L ©)6M600T S JFMTHIGID @\HS L0&TFEMLIWITE BlmieuLILIL L l.

2. UBISTEMS B YMTHW FTSEEHMT SO &EMSHEH s LILMN 698 W s euran el emnerr 6 60Tl 60 600TS S 60TIT.
3. Fgmymeilel Y.B. F6uMmedr, HMTeUTT LIMLIC6L GUIMTEIMN SHemevausHeT Semevemoulley N8 Frs&smy
MG SHLILILLSI.

GG QABMH &S LILIL{H 6T Fnmmiserleu ergl/eremeu &ifluwimeorgl/& il meoreneu?

A)1&2 LMW B) 1& 3 (LD Q) 2&3WwL{L D) GGV 2_6T6T 3|6M60TSH SN

E) eflemL Qs iflwailsvemev
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55) The first editor of the paper “Vande Matram” was
A) Bankim Chandra Chatterjee B) Shri Aurobindo Ghose
C) Rabindranath Tagore D) Dr. Annie Besant

E) Answer not known

"QUHGSH MG LSS flenasuileT (pgH6v oL A lwy

A) UBIRID FHHT Frl L B) 2 TallBGST C& ey

Q) peSBHTBTS &MFe D) LM&LIT eiTent] QLIF6TL.
E) eflen L Q& flueilsvemev

56) ‘The Congress should get entry into the councils not to cooperate with the Government
but to non-cooperate with it’ This statement was made by whom?

A) Pandit Motilal Nehru and Desh Bandhu Chittaranjan Das

B) M.K. Gandhi and Jawaharlal Nehru

C) Lala Lajpat Rai and Gopala Krishna Gokale

D) Subramanya Bharathi and V.O. Chidambaranar

E) Answer not known

"GMEIGIaV SHeyarFleusefley GCF(HUS ITFMTRIGHIILEAT RSIHMPEHES V6V, LMMHTEH USMHGS
RS SIMPWTEMWTS GEBLUUSMHGS " @hHS M&Eeans WrymeL QeusrflulL L’ Lgi?

A) LIetoTI9.8 GLmSHlevmev CBH@H MHMID CHeq LS F &S TEh& 6l &

B) 6TlD.C&.&MHS LDMHMID 8eaiamFeume Ch (b

C) UITELIT VLIS T LDHMILD C&ITLITEY & ([H6q.600r C&HTHG6

D) &Ly enliw LUMFS wmHaih el.2_ F G LITeTTT

E) eflemL Qsiflwallsvemev

57) Consider the following two statements consisting of Assertion (A) and Reason (R) and
select your answer using the codes given below:

Assertion (A):

Rise of militant movements in Indian National movement revealed to the British
Government, the extent to which the Indians were humiliated and dissatisfied

Reason (R):

Indian youth were involved in large numbers in militant movements and left their foot
prints as Heros.

A) Both (A) and (R) are true and (R) is correct explanation to (A)

B) Both (A) and (R) are false

C) (A) and (R) are individually true but (R) is not the Correct explanation to (A)
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D) (A) is false and (R) is true

E) Answer not known

gamml (A) LDMHMILD STFevord (R) LS W LNeTeu@pld @ retor®h FaMMISHmeNs &([HSHe Qa&smeor®, SCLo
QaMTH&sLUILLB6Ter UG sEemeTl LWaTUG S S 2 migGH6T LUHemevs CHTHAS HESHe]WD:

gmmi (A):

AHHW CHAW QUEHSH L CHTaT LUTLSF&T CHFIWaTsS @)W HEHEIS6T, @) HH WTH6T 6The I 6m6 &S
S|UDTTLLILLITISHGET, 6THS I 6TeYsES S HLIS) SLBSTIH6T eaeTUensg LNFLI960q S TFTHEISST MG
QeueMUL B S SHW Sl

Smyevord (R):

QHBHW EeMeTETHE6T QU@BLD erauranilGansullsy UrLesr Gelgeuns Quésnseflsy FRUL®
SSMHTWSETHETTS HEIGHET HITeLSL KIS L (H& Q&FaTM6ury.

A) (A) LnmmILd (R) @evor(d &Fifl LnMmILD (R) eTedTLIG! (A)8585meor &l WimeoT elemd &L

B) (A) LDHILD (R) @ TetorBILd S6um!

0) (A) LOMILD (R) HevflG & evflWmes Fifl Q606 (R) 6TOTLISI 31606V (A)&H G Fiflwimeor allemas &L

D) (A) Seum! LHDILD (R) Fifl

E) eflemL Qs iflwailsvemev

58) Which national leader uttered the following statement?

“I am an Indian Tom Tom waking up all the sleepers so that they wake and work for their
motherland”.

A) B.G.Thilak B) Gopala Krishna Gokhale C) Annie Beasant D) Jawaharlal Nehru

E) Answer not known

TS C5A WG SemeveuT LleTeu(hld oM &ensenwl QeuefuilLLmy?

"B 6@ @HSHW LMD LMD, STHRIGL Sjemearauemyuld eroll, seufser eNNSHQSHWHS & migeT
STWHTLIDHTES 2 60&BMTTH6T".

A) B.G. Hevs B) G&ITLIMeL & (Herq.600T B MEHG6V C) o|6iTe0t] QLIFEDTL D) 26uamieumey B

E) eflem L Q& flueilsvemev

59) Consider the following two statements consisting of

Assertion (A) and Reason (R) and select your answer using the codes given below:
Assertion(A): One of the duties of High Commissioner of India at London was to look after
the Education of the Indian students in England.

Reason (R): Indian Councils Act of 1919 provided for the appointment of a High
Commissioner of India at London.

A) (A) is correct, (R) is false

B) Both (A) and (R) are false
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C) (A) is false, (R) is correct
D) Both (A) and (R) are correct and (R) is the right explanation to (A)

E) Answer not known

B & G60TL @) T60oT(h) Fa M MISGMETE &H(IHS BV Q& TETS.

gamml (A) LLOHMID S&TFeoTd (R) LMHMIL BCY A&sMH&&LIUL@R6TaT GMIuTGISEmerl LweTUGSS) 2-Mmig 6T
U emevs C5THOSHH &8 LD:

Famml (A): 6vetoTL60fl6L 2 6iTem @HHW 2 W ILemeuorwifledr HLemG6T6L 6eTM GRIFBTHH L 2 6Ter
@ HH W LomevoTeu TS 6l 6tT &eLeallemw & & 6uevflLILIGMEGLD.

&Tyeuord (R): 1919 QYLD S4,600TIY.60T @\HH W &6y 60T Fl6LSHGT FLL LD 6V6etoTL 6060 @HSIW 2 WIT S4,60)600T L 60T
Blwid&s eufleuGsH S Sl.

A) (A) &1, (R) Seuml

B) (A) DO LD (R) @ Tetor(BILd SH6um!

0 (A) e (R) &if]

D) (A) nmmiLd (R) @oevor(hb &Fifl LnmmiLd (R) 6TedT LIS (A)& & meor Fiflulmest edlemg:&InMEGLD.

E) eflemL Qs1flwailsvemev

60) Consider the following statements regarding the Congress Working Committee (CWC)
Meeting at Wardha:

1. The official Congress position regarding Second World War and the British war efforts was
adopted at the Wardha session of the Congress Working Committee.

2. Jawaharlal Nehru was not ready to accept the opinion of either Gandhi or of the socialists
in this meeting.

Which of the statements given above is/are correct?

A) 1 only B) 2 only C)Both 1 & 2 D) Neither 1 nor 2

E) Answer not known

aurggsmelley BLBS smraGBar@ev smflu G (CWC) smiLbw ¢Mss Kearau@mn 408 ssamers
55616011 MBI S 6iT:

1. @U6UOTLMD 2 6usLl CuUMy Wwmmid WHllieay CuMy WWHFRHET UMM STRSTF6r S&TyL, e
BlemeuILIMT® eUMTFTSIT IOMBITL L6V STHIG T Q&FWMES(O6UTEL gMMIG Q&TeTeTLILLL S

2. @55LLESH6 &THHUN6T &H0HS5emnGHCWIT, CFmagedlevh &efleaT &H(h5HemnEHCWIT §Ma Leuamieumey Gh(H
SWTITE @ 6Leme6v.

GG Q&HMH &S LILIL[H 6T Fanbmiserley ergl/eremeu &iflwimeorgl/& flWmeoremeu?

A) 1 L GID B) 2 oL (HILD Q) 1 &2 @Uesor(BILD D) 1 & 2 @Ueoor(hILD @)6L6m6V

E) eflen L Q& flueilsvemev
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61) Consider the following statements regarding Zamindari Association in modern history:
1. The Zamindari Association was formed to protect the rights of the zamindars in India.
2. The Association was established by the British colonial government in India.

3. The Association aimed to bring the zamindars under one umbrella and fight against the
British policies.

4. The Association played a major role in the Indian independence movement.

Which of the statements given above is/are correct?

A) 1 & 4 only B) 1 & 3 only C) 1,2 & 3 only D) All of the above

E) Answer not known

pederr eureumMMleL RLS6TH M FrhisD LMMIW L eTeu(HLD FaM MIG M6 & 6160l HIG6iT:

1.@bHS wmellev 2186678 iy & 61 60T 2 flemwsenerld UMSI&TULSMHSTS RUSTH Ty FMHIGLID
2 (HeUMSSLILLLSI.

2. @ Fmsin KLy 6q smevellw SFaFmeL @ hHSH W meiley MlmieuliLIL L gI.

3. @ FFRmIGIL YISATHTIHMET @@ GenLuller S Q&M@ aUbg 3LBISRCeuWfler G &ITeTens: & e6me6rT
qTHTSSIL CUTTTHI6UNS CHTHEIOMSEL Q& TEUITL.(HHS Sl

4. @HH W Nl(HFHemev @) WEESSS 6 @ FFMmIGLID QLI(HLDLIMIEG UHSS5SI.

GG QABMH &S LILIL{H6T6T Fndmiserfleu ergl/eremeu &ifluwimeorgl/& il meoreneu?

A)1&4 LG B) 1 & 3 L (HILD 0) 1,2 &3 Wl G D) GLOM & 600TL 360 60TE SILD

E) eflemL Q&1flwallsvemev

62) Consider the following statements regarding the Indian National Association:

1. It was also known as the Indian Association of Calcutta.

2. It was founded by Sisir Kumar Ghosh.

3. It was established to promote political, material and intellectual advancement of the
people.

Which of the statements given above is/are correct?

A) 1 & 3 only B) 1 & 2 only C) 2 & 3 only D) All of the above

E) Answer not known

@HHW CHFAW FhIsD LIMHMIW L 6Tou(HLD T MI8M6TSH & 61601 IS 6T:

1. @18 H6V&H5S5T @HBW FHIGLD TeTMID S MN&ESLILILLSI.

2. Q)8 QAT GLOMT CHITE 6T60TLIGUTITEL BlMmIeulILIL L I.

3. wW&Halar HYFFWe, QUIEGBET WLMOHMIWL PYEFTT (PETCOTHMSHMS GCUILLMSSIUSNETS
BloleulLL L gl.

GG Q&M &S LILIL (6T Fanbmiserley ergl/eremeu Fil?

A)1&3 L@l B) 1 & 2 QL& W @ Fevor(HlLd 0)2&3 Wl (pLb D) GLOM 55600TL 3|6M60TE &0

E) eflem L Qs flueilsvemev
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63) Consider the following statements regarding the role of Moderates in the Indian National
Congress:

1. They emphasized only on religious and social reforms in India.

2. They were in favour of a slow and gradual approach towards changes.

3. They believed in the ideology of Swaraj or self-rule.

Which of the statements given above is/are correct?

A) 1 & 2 only B) 2 & 3 only C) 1 & 3 only

E) Answer not known

QHHW CHFAW RIS TH 6L 65 auTS &serler LIMiEG LMHMw LS 6Teu(HLD oM M8 eme6rTd &6 6utl U] b g 6iT:

1. @S wmelley 10g LMMILD Fens ETH) (5SS M & m6T L HIGLD | 6UTSH6T 6uedlu]mig S 6oriy.

2. LDMMHMEISe6T GHTEHS) GILDGI6UIT6T oM MIWD LILG LILILGWITET 3]S0S (WD emnM el 3 eUT& 6T 94,5115 5 6rT.
3. S|UFS6T HWIMRWLD VS &HWTLE eTeirm FHHMHSS S 6L HLOLINGm S G & TeuoTLY.(1HH S 60T .
GG AHMH&&LILILGH6TET gahmiserfle ergil/eTemeu Flwmenrgl/&flwmeoreneu?

A)18&2 L @EW B)2 &3 L (HILD C)1&3 WL D)1,2&3

E) eflem L Qs flueilsvemev

64) With reference to the role of INC during its early phase, consider the following
statements:

1. Early phase of Indian National Congress was dominated by extremist leaders like Lal-

Bal_Pal trinity

2. Efforts of INC led to enactment of Indian Council Act of 1892, which pacified INC leaders
3. Early nationalist believed in mass constitutional struggle as against praying and petition.
Which of the statement given above is/are correct?

A) Only one statement is correct B) Only two statement is correct

C) All the three statements are correct D) None of the above statements

E) Answer not known

QHHW CHHAW HMTRIG T F6r 9, TbU &LLSH 6 R GG (&R WS Feuld & s Sl LN6Teu(HLD Fa M MG em6Ts
5616011 W IS 6iT:
1. @HHW CHEAW SHMTRIGTFT ThL SHLLSH6 eUTeL-LIMeL-LIM6L (Lal-Bal_Pal) (pLhewn T8 H &6T CLITETM
Fallgaums HemeveUTEET O H&HE&ID Q& &G 6Ty
2. @QBHW CHFAW STRHFFar WWMHFRHET 1892 b ot @QHHW SHeyeT&lev &FLLID
QuoOpLLPuESHS ufluGS5 Sl QS QBB W STRSITHV HmeaTsamer SmLELILIGSH WS
3. ourbusmw GCsRWamGEear LIFTiGHHener WLMHMIL WL QHTOUUSE GUTEIIM Q6uERe6T
ATFWevemoLiL] CUTTTLL S S 6V (HLDLN&6ema & TeuoTLY.(H H S 60TIT.
GG QABMH &S LILIL{H 6T Fnbmiserfleu ergi/eremeu &iflwlimeorgl/& il meoreneu?
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A) @G @@ QEMTHAMTLT LG Fiflwmers B) @ evor(h S MMIG6T L (B Fiflwmersl
Q) eLNETTII FnMMIGHEBHLD &if] D) GLOM&HE00TL T MMIG 6T 6THIELD E)606TI6V
E) eflemL Qsiflwailsbemev

65) Nagri Pracharani Sabha in the late 19th century was related to the following:
A) Illbert Bill controversy B) Abolition of Sati
C) Age of Consent Bill D) Hindi-Urdu controversy

E) Answer not known

19 oulb mBTOmmevorigeT NHuGHUNeL Brsyl Kiggemy Fum  NeTeu(heueTeummie 675 sIL 60T
QSTLIL 6L WSI:

A) @euLITL IDGEFTHT FIFenF B) &) eS| Q) @en&Fe| UGl LDCEFTST D) @S - 2 (HS FIFOGF
E) eflev Q& flweilsuemev

66) Consider the following statements regarding the Home Rule League:

1. The Home Rule League was popular among the moderates in Congress.

2. The Congress functioned throughout the year as opposed to the Home Rule League whose
activities were confined to once a year.

3. Gandhi renamed the Swarajya Sabha as the All-India Home Rule League after accepting
its presidency.

Which of the statements given above is/are correct?

A) 1 only B) 2 only C) 1 & 3 only D) None of the above

E) Answer not known

SeTeur LS @& a0 Lmmiw LNeTeu(BLd FuMMISHem6Ts & 6w 6ol B g 6lT:

1. sMRISRTEF @ HS WSauTH&eflenL G HeiTeoTTLE @W&H S0 LNyUenns: @ (BHSSI.

2. HETONTLE) QUWESHSBT QAFWLLTHSHNT aTHHESG @0 Wenm WLGIGCL HOLALMMET. SHMES
OTMTS SRS TV 34,600T(H (LPDEUSID QFWGLILLSI.

3. BMHS) SHWITRW FenLIUN 6T Hemevenloenl MHMISGQSTITL LNT6TT 360 3H6v @)HBHW & e6tTeor T &
@ WSS eTeoTm Lo MIQUWIFLLITH.

GG QABMH &S LILIL{H6T6T gnmmiserleu ergi/eremeu &ifluwlmeorgl/& il meoreneu?

A) 1 oL (HLb B) 2 ln_(HlLD 0 1&3 Wl (B D) GLOM&600TL 6THIA|LD @)6V6M6V

E) eflemL Qs flweilsuemev

67) ‘Z’ was born in London in 1847. Z became interested in a religious movement or society
based on Hindu ideas of karma and reincarnation. As a member and later leader of that
Society, Z helped to spread the beliefs of that society around the world, notably in India. Z

first visited India in 1893 and later settled there, becoming involved in the Indian
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nationalist movement. Z was also a leading member of the Indian National Congress. In the
late1920s, Z travelled to the United States with adopted son Jiddu Krishnamurti.

Identify the above mentioned ‘Z’:

A) Sister Nivedita B) Bhikaji Kama  C) Annie Besant D) Nellie Sengupta

E) Answer not known

'Z 1847 @6V eveoTLeollel NmBsTH. STwLm wmHmb wolkbimel umMw @HS  &HHS S8 56T
G LILIED L WITSHS Q& IT6U0TL. 6(1H L0S @) W& ELD 9| 6V6V S FeNGSH 6L Z 31 TeULD SITLLLETITT. 9 HS &FhisE 5) 60T
2 _mitSleryrsead, LN6TerT SHemeveauImHa D @ WBhHS Z hHS FeNSESH6r HULLNGEmMEHEMmET 26050
WwweaugIh, GMILILMEG @ HHwmelley LIFLiL 2 gefl6T M. Z (08656960 1893 @)6L Q\HB WITEYSHES 6UIHM S
5HsTT, Hearery 9iMEG GKUewn), @hew Cs5HAW QUWEHESEEH FOULLTY. 'Z @hHw GCsFw
STRIAIFAar HESW 2 mlifearyrseald @ubsTT. 1920 sefler LNHLEGSH UG, Z HeoTg eueTTLIL| L0&6T
S [H &) (15 69.600TeLN TS B W 60T QIS & T6YS & F QFTMITI.

CLGCev GMILILNLD6ITe 'Z' &3 9|60 LWITEITLD SITEOUTEYLD:

A) 5G&M5f BIGUT & T B) amegdlsminm C) 2|60T60f] QLIGFETL D) QB6Led QF TG LIST

E) eflev L Q& flweilsvemev

68) Which of the following is not correct regarding the joint demands made in Lucknow
Pact?

A) Government should declare that it would confer independence to Indians at an early date.

B) Elected majority in the Central as well as in the Provincial Legislative Assemblies.

C) At least half of the total members of the Viceroy’s Executive Council should be Indians.

D) Except for the members who have been nominated in the assemblies, others shall be elected
based on the adult franchise.

E) Answer not known

LECETT RLILHSH S H 6V (NeTemeuSHLLLL Fal h& CaHMIHam&EEH6T QGTLITLTS LI 60Teu (61 60Teu M MIGT TSI
Frflumerg 9j6uev?

A) @BHWTHEBEHG allengale) &HSHH T QIPHIGISTH 3(T& 3nlelds Galeuor( .

B) LSS W LDMMILD DM&MevoT &L L Ln6dTMEIG6TI60 CHTHOSH&&HLILLL 2 MLl e Fa 66T GLIHLDLITETEmLD.

Q) emeuenmuilest BlTamss &Galler QTss 2 miliflarisefley Gammbss LMTEH CUT @hEWTH6TTS @ (Ho5
Geuevor(H)LD.

D) &FLLermmigefley mlwnerd QFWwiLlL 2 mlifleriseanets Seall, WMHMaIT&HET g eubCSHTY
amsg@flanwler 9q it ule CHIHASH&HLILIGGITTEET.

E) eflemL Qs1flwailsvemev

69) Consider the following statements about the Revolt of 1857:

1. The Revolt of 1857 was driven by economic grievances of the Indian soldiers and
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peasants.

2. The British policies causes misery to the artisans and handicrafts making people.

3. The British introduced the Permanent Settlement Act, which aimed at stabilizing the
revenue collection and reducing the burden on the Indian peasants.

4. The British also introduced various economic reforms that led to the development of the
Indian economy and improved the standard of living of the Indian people.

Which of the following statements is/are correct?

A) 1 & 2 only B) 1,3 & 4 only C) 1,2 & 3 only D) All of the above

E) Answer not known

1857 9y 3,600T(H Hev&LD LMW L9 6tTeu(BHLD Fah MG M6 & 61607 MGG 6IT:

1. 1857 9Llb oLevoT(h HeL&ID @HBIW efgTsmer mmIb eSleusmuilgenledr QUITIHETTSIT 60T LIMI&6ITITeV
2 BSLIULLGI.

2. HIKRCWIfledr Q&ETEATMNGESHET MHNMTETHET WMHMID M&MMTLIQUNBLEET 2 (HeUTHEGLWD
D&5EH5E SITUSMS gHLOSS WS

3. WRGHCWTSET BIThHET Blevaufls HLLEF FLLSME MWsLUUBGSSH6arT. aunl euEGedliLeang
BlemeuILBHS S, @ HBH W eeusmuilserfleir semlnenws GemmE&Hald @FFLL LD b Sl.

4. A Ligeqry SIMWsSLLGSSHW ULGam QUTIGBETTSTT FISH;HSSRSHT @HSWL QUTIHETTSTY
UMTT&FT &G LD, @ HH W L& SETI6T UMD &S S50 2 TS5 S5 auLSleu &5 S Sl.

LSetTeu(BLh SaHMIG6rflevL 6TSI/eTemeu & iflul meoTs/ & il meoTem 6u?

A)1&2 (L B) 1,3 & 4 InL_(HILD 0 1,2&3 WML D) GLOM &5600TL 3|6M60TE SILD

E) eflemL Qs iflwallsbemev

70) Consider the following statements regarding the various responses to Jallianwala Bagh
Massacre:

1. The Indian National Congress appointed its own non-official committee that included
Motilal Nehru, Gokhale, Abbas Tyabji, M.R. Jayakar, and Gandhi to look into the massacre.
2. The Hunter Commission was established by the government to investigate the massacre.
Which of the statements given above is/are correct?

A) 1 only B) 2 only C) Both 1& 2 D) Neither 1 nor 2

E) Answer not known

Qmedlwedr eumeLMUNEG LGQ&HTMmD QFTLIUMeT LCum eaHFalleneorset GSMss LIedTeu(nLd
109\ & 60 & 560 6118 85616011 L MBI S 61T:
1. @BSHW CHAW sTHESBrFs: G Heome CHIB, CsHMEGCH, Sjuumav Hwrlyd, M.R.agwsr, srhs
LR CWITENIT 2_6TaTL GG &60TS QFTHS I I6U6L FMTTT Gpemel @ HeL LIGQ&Tame &M &S aflemlss
Blwidlg s s
2. Q5L LOGSETmvenW NFMfl&e STFTRISSSTL Q6oL ] &L016960T S eMDGSHLILILL SI.
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GG QABMH &S LILIL{H 6T Fnmmiserfleu ergl/eremeu &ifluwimeorgl/& W meoreneu?
A) 1 L HID B) 2 oL (HILD Q) 1& 2 @uesor(BILd D) 1 &2 @evor(BLb §)6Vemev

71) Consider the following statements regarding Jogesh Chaterjee, a prominent figure in
the Indian freedom struggle:

1. He was one of the members of the Hindustan Republican Army

2. He had written the book titled ‘Indian Revolutionaries in Conference’.

Which of the statements given above is/are correct?

A) 1 only B) 2 only C) Both 1 & 2 D) Neither 1 nor 2

E) Answer not known

QBBW HSHHTL CUTTTLLEFHE @@ (WHEHW BUFTar CRMCHaq FmLLFyl ummlw NeTeurpld
() M1 560 6MTE & 6L 601 MBI & 6lT:

1. QHSIVGTET GG WITE TIEDIUSH 6L 2 MILILNGTTTS @QWGHSTH.

2.'IBILIG6 @HSHWL LW TeTISH6T 6T6iTm LsHS585mS (WS UNBHSTT.

GG Q&M &S LILIL[H 6T Funhmiserley ergl/eremeu &iflwimeorgl/& flWmeoremeu?

A) 1 L@ B) 2 LOL(AILD C) 1& 2 @revor(BLd D) 1 & 2 @Jeuor(hILD §)6V6tI6V

E) eflev L Q& flueilsvemev

72) Consider the following statements regarding Kalpana Datta, an Indian independence
activist:

1. She was a prominent member of the Communist Party of India (CPI) and was known for
her speeches and writings in support of the Communist ideology.

2. She was part of the group that assassinated British official Charles Tegart in the late
1930s.

3. She was arrested multiple times for her involvement in revolutionary activities.

Which of the statements given above is/are correct?

A) 1 & 3 only B) 2 & 3 only C)1,2&3 D) None of the above

E) Answer not known

QBHHW &SHH T CUTTTLL efFJ SeuUerT $55M LiMmmIW L eTeu(BHLD oM S em6Ts &6 6vfllL]hIg6lT:

1. @bHw sbwelevl sLAUNer (CPI) wsew 2 gilifergns @QoHs @6y, Swweflaul
FGHTHSHBHMES 35TEUITEIT 2_6MISET LOMMILD 6T(LD S SIS SGETIT6V S MWL’ Leur.

2. 1930 serfletr NHUGH UN6L KFILIgaq B HMT] FMFevev QLETTeNL LIGQSHETeme QFWS & WeSler 6 H

HSBWTS QGHSTIT.
3. UTLE&T LU Hm&G6T60 FRHULLSMHHTS S6Ul LIV (NemM 6085 QEWWLILILLITH.

GG Q&M &S LILIL{H 6T Fanbmiserley ergl/eremeu &iflwimeorgl/& flWmeoremeu?
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A)1&3 LG B)2 & 3 L (HILD 0O1,2&3 D) GLOM&600TL 6TSIQLD ©)6V6m6V
E) eflemL Qs iflwallsbemen

73) Consider the following statements about First Round Table Conference:

1. It was held in London.

2. It was the first conference of its kind between British Government and Indian political
leaders.

3. It was attended by Mahatma Gandhi.

4. It resulted in the passage of Government of India Act, 1935.

Which of the statements given above is/are correct?

A) 1 & 2 only B) 1& 3 only C) 2 & 4 only D) All of the above

E) Answer not known

W6 QUL L& LMHTH LHMIW LN6TeUIHLD Fa M MG 606 & 6w 6l UMb & 6iT:

1. @ &l 6vetoTL.6016L HEMLALIMMSI.

2. QLBITRGCLW IIHEGLD, @QHBHW JTFWE SMTHEHFSH G @6nLCW HOLALMM (NS5 LMHTH
@ slaunGlLh.

3. @\ B6VL LNEMSHIOT HMHS) H6evHS 68 T6eUoTLITI.

4. @\ B 6T eflemaTaums 1935 Sl S1L600T(H @ HH W S T&HF FLLID GUHMLILILLSI.

GG Q&BMH &S LILIL[H 6T Fanbmiserley ergl/eremeu &iflwimeorsgl/& flWmeoremeu?

A)1&2 LGl B) 1 &3 WL (LD 028&4 WL D) GLOM & 600TL. | 6D)60TSH SILD

E) eflem L Qs flweilsuemev

74) Consider the following statements regarding the Cripps Mission:

1. The Cripps Mission was led by Stafford Cripps, who was the leader of the House of Lords
in Britain.

2. The Indian National Congress rejected the proposals of this mission because it included
right of provinces to secede as this violated the principle of national unity.

3. The Hindu Mahasabha and the Liberals were also opposed to the states' right to secede.
Which of the statements given above is/are correct?

A) 1 & 2 only B) 2 & 3 only C)1,2&3 D) None of the above

E) Answer not known

Srflliev 1816w LummMlw LNeTeu(BHLD FaMMISH6EM6ITE & 6160l MHIG6iT:

1. L Leflev NpYy&&seT Femuuiler Hemeveurms @UBHSE evLmCUTT®R S iflliev @ ifllev GuwellmE
S6M6V6EDLD SITEIG6OTTI.

2. @hHW CHFW &MRHRIGTEH @) &SNS 6 G (Weiler (neramsleyseneT BTN sl aereflsy @ 5 G5 W
@nHMiemns CHTLUTLML WNIusTS @) BHSSI.
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3. @HS e&ETFaUWLW, WHaUTEH &EEW Wmplevmisefler LN lhs QFasib 2 1flennenw 6T S T8 S 60T,
GG AHMH&&LILILGH6TET gamhmiserfle ergil/eTemeu &Flwmenrgl/& flwmeoreneu?

A)18&2 L @ELW B)2 & 3 oL (HLD 01,28&3 D) GLOM&E0ITL 6TEIAYLD ©)606m6V

E) eflemL Qsiflwailsbemev

75) Consider the following events:

1. Non-Cooperation Movement 2. Pakistan Resolution
3. Communal Award 4. Shimla Delegation
5. Establishment of RSS 6. Lucknow Pact

Arrange the above events in the chronological order:

LSl6dTeu(BLD B1&LD6Y & 6em6rTds 86U 60Tl Mg 6iT:

1. @5 SI60 1P WITeOLD @)W &S0 2. LTS 6V G TedT SITLOMeoTLD
3. au e 5158 ® 4. PD6UIT NS85 G WD

5. RSS - 83 Bl MI6Yy &6L 6. L& GETIT RLILIHSLD
CLM&HEUOTL [B1&LD6 &Hem6ns &iTev eulflemaLiLlg auflen&FLILI( S S18:

A) 2-3-4-5-6-1

B) 6-1-5-3-2-4

C) 1-2-3-4-5-6

D) 4-6-1-5-3-2

E) Answer not known  eflenL Qgflwelsemey

76) Pick out the incorrect pairs

Sangams Kings
(i) Mudhal (1st) Sangam - From Vendor chezhiyan to Mudathiru maaran
(ii) Idai (2d) Sangam - From Mudathirumaaran to Ukkira peruvazhudhi
(iii) Kadai(3™) sangam - From Kaichinavazhudhi to Kadungon
A) (i) & (ii) B) (i) & (iii) C) (ii) & (iii) D) (i), (ii) & (iii)

E) Answer not known

5 6UMITET @) 601600TSH 66T CHTHA S (h & LD,

(i) WL FEHIGWL - QEUEITCLTT Q&EIWET (N&6L LSS (B LOTMET 6Uem T

(i) @6OL FRIGWL - (PLSH(IH LDTMET (NG6V 2SR FTLICLIMIUIWS) eueniy

(iii) HOIL FRISGID - STUFF 6T U (NG &0 HEICSHTET 6U6MIT

A) (i) & (ii) B) (i) & (iii) C) (ii) & (iii) D) (i), (ii) & (iii)
E) ellev Qg flweleveney
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77) “Thollaanai nallaasiriyar punarkootu unda pugazhsaal sirappin nilandharu thiruvin
nediyon”

Which town is praised as a place where poets who are great scholars gathered and had Tamil
flavor?

A) Korkai B) Madurai C) kabaadapuram D) Kaviripoompattinam

E) Answer not known

"Q&MeLEVITEMEDOT HEVEVTERFIWIT Lj6vor JFa (B 2_600TL L|&LDA&FTev mLiLNer Blevb s B melleor G\pL Gulmedr”
eTeoTm G @IS ETITET LIeVaU&H6T Snlq &LALD sremeuullemenr 2 evor @ LL0mg LUMFTLLUUG&m 26 61g?
A) Q&THENS B) LnGl6m [T Q) SUMLL LD D) smellflILL DL 1q60TLD

E) eflemL Qs flwalevenev

78) “Maabharatham thamizhpadutthum madhurapuri sangam vaitthum?”
What does this Chinnamanur copperplates lines refer to?

A) The Mahabharata was composed during the Sangam period.

B) Mahabharata was composed by Tamil poets.

C) There was translation in the Sangam period.

D) Mahabharata was staged in Tamil Sangam

E) Answer not known

“LrUrys SLLUUGSSID LEHTTUNE S0 emeaudSIn”
6TeoTm Fletreurosny QELQU® surflseT GMILIKHeug wrg?
FRIGHTOVSH 60 DM TLTTSLD @ummUILIL L&
LaMTUTISLD AL L|6ValF&H6TTev @uimmUILIL L Sl
FRIGHETLSH 60 QUMHAQUWTLIL @) BhHSS%.
LamTUTIsSLD S FHIGSH 6 STHICHHMLUILILL &
allemL Qs flweillsvemey

79) Assertion [A]: Mahatma Gandhi refer to Anjalaiammal as South India’s Jhansi Rani.
Reason [R]: Anjalaiammal participated in Home rule movement from South Arcot region
under the leadership of Annie besant.

A) Both [A] and [R] are true and [R] explains [A]

B) Both [A] and [R] are true and [R] does not explain [A]

C) [A] is correct and [R] is false

D) [A] is false and [R] is true

E) Answer not known
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gamm [Al: SEHFMOWIDLDTENET ‘QGeTeollhHH WMeNledr QMedr& [Fmevoll’ eTediTM W&STHWOMT HTHS)
SO GR DT,

&TIyeorlh [R]: 36ir6ni] QLIFGTL Semevenoullel Q&6 SLMH&BTH LGB Ul @)\ (BHS HeTeorTLF @)W &85 H 6L
S| EHFMEUIILDLOITET LIBICSHMHMITH.

A) Fammi [A] LDHMILD &TTeooTLD [R] &I, [A] 8o MMIG & T &TFevorin [R] &ifl

B) &mmm [A] LDMMILD &Tyesortd [R] &Fifl, myeoorin [R] amemm [A] ellemgs s aillevemn ey

QO &b [A] &l &Trerid [R] Heumi

D) &Ml [A] Heumi &mevorid [R] &0l

E) efenL Qsflweilevemey

80) Mortimer Wheeler mentions that there may have been a glass bead factory in
during excavations in Tamil Nadu.

A) Arikkamedu B) Cuddalore

C) Thalachangadu D) Vasavasamutthiram

E) Answer not known

sULEEH0 BLHS SLauTFTEFSRserley LUGH U sevoTerrmly 6ol Q& T MHETemn eV
@\ (BHS) (H&&EVITLD eTedTm LMTIQLOF afevF GMIULNGSDTIT.

A) 9ifl&5CI®0) B) SLeury

Q) HMVEFFHBIGT() D) QITFaIFNSH IO

E) eflemL Qs flwaleveney

81) Assertion [A]: In 1916 the 'South Indian Liberal Federation' was formed for the purpose
of 'promoting the political interests of non-Brahmin caste Hindus.

Reason [R]: As World War-I was in progress the British government was considering the
introduction of representative institutions for Indians after the War.

A) Both [A] and [R] are true and [R] explains [A]

B) Both [A] and [R] are true and [R] does not explain [A]

C) [A] is correct and [R] is false

D) [A] is false and [R] is true

E) Answer not known

Mol [Al: 1916 41D ,600T(H 'QSH6TeolIHH W Hev 2 flemo FRIGID' 'LNFTOEOTTVTS FMS @) H S8 & 6rfl 6ot
TFW6L HeveiTHemeT CLILLIRSSID CHTHESSHMETS' 2 (HeUTHSLILILL GI.

&TIeurld [R]: (NS6VITID 2_6V& L1 GUITT BHLIHSI G185 TeU0TLY.(HHS S M6V, CLIMIHE& G LI LIMG @) b5 WIT8 6588 TeuT
NrepIessia Bloeauarmsamar APWPsLILGSSIME GMSs \WFlLgey opsmmsn uflFdss
UHSS!.

A Fadmml [A] HDID SrFesrd [R] &ifl, [A] SaMHmI& e mer &Tyesor b [R] &l
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FaMml [A] LDHMILD &Tyesorid [R] &ifl, &MIesorid [R] samemm [A] eflens s eilsuemey
& hmi [A] & &ryesorid [R] Seum

gaMmI [A]l Heuml &yeorid [R] &if]

allemL Qs flweillsvemey

82) Find out the correct pairs.

(i) Justice in English T.M. Nair

(ii) Dravidian in Tamil C. Natesan

(iii) Andhra Prakasika in Telugu Parthasarathy

A) One Pair B) Two Pairs C) Three Pairs D) No Pairs

E) Answer not known

FiflWmenT @) 61 60T 60161TE & 600TL MW 6LD.

(i) MBS 6LE FH6L Q6TVLY.61V Lq..6TLD.[BITWIT

(i) s 6L B FmallLLb &).1pGL & 60T

(iii) OFZVBITR6L HH T KNTHTRA ST UMISSETTS)

A) (IH )60 600T B) @ 76v0T(h 3)60)600T56T C) eLNGOTMI ) 67)600TSH 6T D) ©)60)600TE6iT @)6V6D)6V

E) ellev Qg flweleveney

83) Which of the following is not true with respect to Justice Party?

A) Executive Council which were comprised of 25 members executed the policy decision of the
party.

B) The Post of whip for the party was created for the first time.
Sir. Thiyagaraya chetty, T.M Nair were the first President and the first Vice-President of the
Justice Party respectively.
The Justice Party Won (63/98) elected seats in the Madras Legislative Council.

Answer not known

BB &S Fenw QUTMISSeuen T LI 6T (HeUeTeuM N6 6T 2_600T60IL0 LIV 6V?

A) 252 MILNeTI&H6mens: Q& MetorL BlTeaIM&HE & (W &L F U6 Q& maTemnad (WIgemeal BlenmEGeaumnilul Sl

B) &LAGHTET Q&TMLIT LIS (LNSETLNMM LTS 2 (HeUme&LILLL Sl

O &0 Sumsymwu QFLlly, TM. BTWy e@ewry wemCw HH&&HAWN6T (N&H6) Fenevel] WMHMID (NG 6V
SIS FHeDIGVAUIT.

D) BHE&SELE QUL Imen FLLLneTm &6 6T&ed6v (63/98) CHTHRASH&SLILIL L @)L MISGen6Td endLILmmluwg.

E) efenL Qg flwelevemey

84) Which of the following statements are true with respect to Palayakaras?

(i) Gopal Naicker formed a revolutionary alliance which organized palayakaras in South.
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(ii) Poolithevar was one of the prominent member in the alliance.

(iii) The British imprisoned Gopal Naicker in 1801 and hanged to death in Virupakshi fort.
(iv) Kumaraswamy was the younger brother of Gopala Naicker.

A) (i) & (iii) only correct B) (ii) & (iii) only correct

C) (i) & (iv) only correct D) (ii) & (iv) only correct

E) Answer not known

LMem TG SGITTIT&6T QUTMIS S euenT LN 6iTeu(HLD Sa M mi&erfle 61l 2 euoTemnin?

(i) GHEMUIMEL BTWEHEST QSMHEHE LTM6TWESTIIHMT @WRIGUOSSID @@ LUTILF&T Sl Leollenw
2_(HEUTSHRETITI.

(i) L6915 CH U6 Fnl Leoolluilev @ (BHS WHESR W 2 ML eriTserflev e @Heuly.

(i) QWBHBCLWTSHET CHTUML HTWESmT 1801 @6v Flemmuileh LG aBUTTdl CamienLuley
SN&HR O LILIL L 6T,

(iv) LmrFEml C&TLIMeV HITWSEfl6r @ ememl FCHTSITIT.

A) (i) & (i) QD Fiflwmers) B) (ii) & (iii) GG Fflwmetsl

Q) (i) & (iv) L BCL Fiflwimerg) D) (ii) & (iv) LRG0 Fflwimera

E) ellemL Qs flwalevenev

85) Match the following

(a) Panayakulam 1. Cuddalore

(b) Poluvampatti 2. Dharmapuri

(c) Padaivedu 3. Thiruvannamalai

(d) Maligaimedu 4. Coimbatore

QUNHS S5
a) LI6D0T WL & (& 6ITLD 1. LT
b) GUTE@H6eUTLDLIL LY 2. syl
c) uenLei® 3. ©)\(Ip 61 6U0T6UOT ITLO 60 6V
d) nreflensClo@® 4. GaTem6U
a b c d
A)
B)

86) " A country's jewels are these.

What are the five jewels of a country according to Thiruvalluvar?

A) Education, Infrastructure, Culture, Security, Prosperity
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B) Morality, Wealth, Happiness, Eternal dwelling place
C) Fertility, Joy, Health, Defence, Wealth
D) Resources, Knowledge, Strength, Unity, Peace

E) Answer not known

B meueTEbeuT &HSSILILILG @@ HITL L9607 RHSI 78 5 60TmI& 6T WiTemeu?
A) seval, 2 618 L LemoLIL], SHEUMFFTTLD, LUMSISTLIL, QaFLslliL]

B) R &5, QFaaID, INHPFH, BISH W aImFeauseuld

Q) &MHaMIS, DHRPEFF, 9, CTMEHHR WD, LITSISTLIL, Q&Fevalln
D) eUeTmBIG6T, 3Mlay, auedlenin, @mHmiemnin, Siemin &)

E) ellemL Qs flwalevemnev

87) Where are Chera coins engraved with images of Kangeyam Bulls found?
A) Porundhal B) Karur C) Kodumanal D) Kanthaloor

E) Answer not known

SMHICSHW WMH &efler 2 (Heuld QAUTNIG S C&FT HITL(h IHITEOUT LGS 6T 6TTEIE G 60L& Fl6iTemgi?
A) QUITIBIHS 6V B) &emy Q) Q& m(h LD6TOTEY D) &MT5&e6B T
E) ellemL Qs flwalevenev

88) Match the following

a) Inna naarpadhu 1. Poigayaar

b) Kalavazhi naarpadhu 2. Kaariyaasan

c) Mudhumozhi kanji 3. Kabilar

d) Sirupanjamoolam 4. Koodaloor kizhaar

QUTBS SIS

a) @\60TeuTIT (HTHLISI 1.QUTIen&SW Ty

b) semeuldl HTHLIGI 2.&miflumgeor

<) WPHALMY &STEH& 3.9

d) P miLIEhFeLpeuld 4.8 LT SRPTT
a b ¢ d

A) 4 3 1 2

B) 3 4 2 1

c) 1 4 2 3

D) 3 1 4 2

E) Answer not known efleoL Qg flwelevemev
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89) He published his works under the pseudonym 'Sammati'.
A) E.V.K. Sambath B) Arignar Anna
C) Thiru.vi.ka D) Pattukottai Kalyana sundharam

E) Answer not known

'FLDIOL LY 6TedTM LjemerQUWl6L S6eurg LiemLLIL|&emem QeuernludliLLeury.
A) E.V.K. gibug B) @B 1T 2| 6v0TE0OT IT
Q) .65 D) UL (R&CSHTL 60 SHEVITE0T &H5TLD

E) eflemL Qs flwaleveney

90) Find out the correct pairs.

(i) Anna's first movie - Nallathambi

(ii) Anna's First Poem - Congress Corruption

(iii) Anna's First Article - Women's Section

A) One Pair B) Two Pairs C) Three Pairs D) No Pairs

E) Answer not known

FiflWITeDT @) 60 600TS 6016118 & 600T LMW 6LD.

(i) 6voTevoTTON 60T (LD S6L HleMTLILIL LD HeLeLSLOLI

(i) o1evoTevoTTEN60T (LNS 6V Hellens & TG\ 7 &) 6T 261060
(iii) 3 evoT6vOTTENEIT NGV &L (H60 T w6l GsmLLLD

A) R @6 6woT B) @ 76t0T(h) ©) 60600 6T
C) eLNGOTM (3)67)600T 5 6IT D) ©)6m600T5 6T ) 606060

E) eflemL Qs flwalevenev

91) Which of the following statements are true with respect to Achievements of justice
party?

(i) Madras Panchayat Act - 1922

(ii) Hindu Religious Endownment Act - 1924

(iii) Voting rights for Women - 1921

(iv) Annamalai university - 1929

A) (ii) & (iii) only correct B) (i) & (ii) only correct

C) (iii) & (iv) only correct D) (ii) & (iv) only correct

E) Answer not known

BH & &L FIUG 6T &FITS60160TH6M6T QLITMISSHeUenT LN6iTaU(BLD Fa M MIG6rleL 615 2 600TemL0?
(i) QL Fmev LEFTWSH S FLL LD - 1922
(i) @hs s 2 flemwnd FLLILD - 1924
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(iii) Q\LI6VOTE: @5 & & TEuT 6UIMTE: G MflemLn - 1921

(iv) ] 6UOTEUUTITLO6M6VL LIV & 6M6VE SN & LD - 1929

A) (i) & (iii) D@D Fiflwimeors B) (i) & (ii) LB G Fiflwimeora
Q) (i) & (iv) L B\CW Frflwmers D) (i) & (iv) LG C Flwmers
E) ellev Qg flweleveney

92) Who do the following statements refer to?

(i) Tamil's first detective novel was written by a woman writer

(ii) She started Mahatmaji Seva Sangam in 1948

(iii) In 1931 she participated in the toddy shop picketting at Triplicane
A) V.M. Gothai Nayaki B) Ambujathammal

C) Manalur Maniammai D) Rettanai Asalambikai

E) Answer not known

BLHTLVILD G D MIG&6T WTENTSH &M &SR MSI?

() B8ILH 6T WL SILILMlWLD LS6TLD TS W CILICTIT TR S S Ter iy

(i) 19486V LDMTSIOMTY) CFEUIT FMHIGHLD QG TL MBI GUTT

(iii) 19316V B (HEULEO G BT evvUIN L B 6iTEH & SHemL LoMIWLIEN6L FFEH LI LT

A) 0)6.(10.C&HMTeNG BT B) &{DL|25 & DLDTET

C) LDGTOTEYTT LD 600l 1 W LD 6BYLO D) QL. Lenevor SiFembLlemas

E) ellev Qs iflweleveney

93) After the end of the Vellore revolution, who was appointed as the temporary army
commander?
A) Captain Young B) Col Harcourt C) Gillespie D)Blakeston

E) Answer not known

Cousuny YL & g eflm@ N6t M&medls Lenl SeTUSHWTs Blubl&ses LUl Leuly?
A) G55LIL 60T 6TrHI B) &JeuTel @M G&ITL. Q) Bev@evevLil D) Lem& &6 L_eor

E) ellem Qg flwelevemney

94) Which of the following statements are true with respect to South Indian Alliance of
Palayakaras?

(i) Karnataka Region Krishnappa Nayakkar

(ii) Maratha Region Thundajivaq

(iii) Devadhanampatti Lakshmi nayak

(iv) Manapparai Boojai nayak

A) (i) & (iii) only correct B) (i) & (ii) only correct
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C) (iii) & (iv) only correct D) (ii) & (iv) only correct

E) Answer not known

QB eTerflHH W LITem6TWSH ST T&HET Sal LemoLIL] QUITMISSHeuenT LNeiTeu(bLh Fam migerfleL 6T 2 6voremin?
(i) BTHILS LGS - &) (15 619.600TLILI [HITW & & T

(i) LFTLQW LGS - ShevoTLmdleurmss

(iii) GHeug meTOLIL LY - VL&A HTWE

(iv) LD6oOTLILITem M - LLem T &

A) (i) & (i) D@D sFiflwimers) B) (i) & (ii) DG &Fiflwimeors

Q) (i) & (iv) L BCL Fiflwimeorg) D) (ii) & (iv) DR G Flwimera

E) ellev Qg flweleveney

95) Which Patthupattu book who known as ‘Nenjatrumpadai’.
A) Kurinchipattu B) Mullaipattu C) Maduraikanchi D) Nedunalvaadai

E) Answer not known

‘QBEHFTMMIDLICOL TETM SMP&SLILIGILD LUSSILILTL(H BTV 6181?
A) BOEGALLUTL G B) (woevemeuILImL_(h) C) DI J& G MTEHT D) QB HeLeTemL
E) ellev Qg flweleveney

96) Consider the following statements.

I. She was the Minister for Public Health of the presidency in the T. Prakasam cabinet. She
was the first and the only woman minister of the Madras presidency.

II. For her participation in the Salt Satyagraha in Vedaranyam she was jailed for a year,
becoming the first female prisoner in the Salt Satyagraha movement.

III. Marshall's road in Egmore, Chennai has been renamed after her.

Who is described in the above mentioned statements?

A) Thillayadi Valiammai B) Manjubaashini

C) Rani Mangammal D) Rukmani Lakshmipathi

E) Answer not known

LS 6dTeU(BLD G ) 0185 60I6IT &5 IT6UOTSS.

1. 9. YFsrFL JoWLEFFUUI QUNSI HETSHMTT OWWEFITSE QQUBHSTT. @6uf QLT
LOIT& T6UUT S ) 60T (LN S6L LoMMILD G GILIGHIT Y 6MWEFTTSH @ (HHSTI.

. Gaugmiewrwih o &FSHUTRTISESH0 LURGCHEMHMSMETS @6uf @ eaU@GLILD SHlenmuiley
SOLSGESLULLLTT, 2.4 FSHWTH TS @\U S5 E B 60T (10560 GLICUIT 60&HWITH IL60TTIT.

lll. Q& eiTem 6ot UN 60T 6T LDLL 6L 2_6iT6rm LT Tag.6L FMemev j6aulflesT Mlemeoraums QUIWT LMMHMLILIL(H6TETSI.

GG GMILNLLIULR6iTeT gammisefley wmeny LM eleurfl& s LILl HeTers?
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A) Hl6LameLWITLY. aU6Te WD 6T B) L0@h&rLimad)eofl
C) iTevol] LOMIGLOLOITET D) (& Lnevof] eul_ &Ll LIS)
E) eflemL Qsiflwailsbemev

97) Consider the following statements.

I. She was born on 8 Jan 1899 Madras.

II. She worked as a Teacher at Sarada Vidyalaya Girls School.

III. She founded Srinivasa Gandhi Nilayam in 1948 at Teynampet.

Who is described in the above mentioned statements?

A) Anjalai Ammal B) Ambujathammal C) S.R. Kanamma D) Nagammai

E) Answer not known

LSl 6tTeU(BLD & (D M1 6D & ITEUOTS.

1. @e6uf QL menSlev 8 evreun 1899@\6L LNMBSTIT.

Il. @euf &rysm eflgWwmeuwm Quesorser LeTerflullev oA lwyms uesoULBSmF.

lll. @ eury 1948@) 6L WfeufleumaF T &HMTHS) BlemevWd G eormIOGCLILemLull6v Blmiefeormiy.

CLGev ML LILIL R 6Tem sammiserfleu wmeny LM efleurfls s LiLL B eTersi?

A) |EHF M6V I|LDLDITET B) Q|LDL|®QSHLDLOTET C) S.R. &600T60OTLOLOIT D) [BIT&LD6mLD

E) eflev L Q& flweilsvemev

98) What was the main controversy regarding Robert Caldwell's classification of the
Dravidian language family?

A) The idea that Dravidian languages should belong to the same ethnic group

B) The argument that language should not be used to determine the origin of a race

C) The tying of philology and ethnology

D) The classification of Tamil as a classical language

E) Answer not known

FrUFL Smeu@QeucvedeT HrmeilL QM GO LWLULL auean&LIUT@® &Mss WNEHH W 6SleumgLh ereiTeor?
A SrmelL QML &6T G @616 G (WpemneldF CFIHHm6 6TeTm & (HS S

B) @ e0TSH 6T CHTMHME S BlJevorulgs QomSen Ll LIWL6TLR &S 8 LTS 6T6dTM UMD

Q) QumSulwey mmith @eoralllley LGN )60 6t0TS S8 Q& MeTaUS!

D) sl @@ QFLALTYWTS &L &SI 60

E) eflemL Qsiflwailévemev

99) Which of the following statements about the Sangam period in Tamil Nadu's history is
true?

A) Thirukkural was composed during the Sangam period
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B) The Sangam assembly flourished without the support of the Pandya kings
C) Most of the literary works composed during the first and middle Sangam periods have survived
D) Tholkappiyam, the grammatical treatise, is the only surviving work from the first two Sangams

E) Answer not known

008 eugeumMMleL FRISSTLSMS L LMHMIW eTeu(HLd Fammiserfley ergl Flwmergi?

A) HHEGMET FRIGEHTVSEH 6L @UMHMLUILILL G

B) LIM6UOTIQ Ul LOGOT6OTT6T160T L5576 @) 6V6VITIN6E FRIGID QFWIS S aleTTHEH I

Q)W 56V DHMILD @eLE FRIG STV H 6V @uimHmUiL L QU@BLDLITEVTeDT ©)6V5 5 LI MBI & 6T
S5 H6UE S LUILIL () 6Temeor

D) (n&6L @ Tevor(h FhIGHMBIGH6T 6L @IBHS HEHHMAUISSLILILHI6ETT G HNeL QSMeLSTLILIWLILD 6TeTm @)6V 8 8 600T
BIeVMEGLD

E) eflev L Qs flueilsvemev

100) According to Thiruvalluvar, what is the greatest blessing one can attain?
A) Obtaining wealth and prosperity B) Being free from envy towards others
C) Achieving fame and recognition D) Attaining a high social status

E) Answer not known

B\ (H 6 6iT(Eem U N160T SnMMILILILG, @UH6UT QLMEFaIqW W& LIQUFIW 9 EFeumsSLD 6Te0Teur?

A) Q&F6v6ILD IDMHMILD GUETLD GLIMISH6Y B) w1 158 QUITMTENLD @)6VEVITLDE) @)([H &S 6V
Q) UsLD InmmIh BIS&HTISnSL GlLIMIS6 D) 2 WJhH& FeNS 3 HHeNemnG L1 GlLIMIGH6

E) eflemL Qs iflwailsbemen

101) Who participated in the "International Women's Suffrage Alliance Congress" held on
19267?

A) Annie Besant B) Maniyammai

C) Rukmani Lakshmipathy D) Vijaya Lakshmi Pandit

E) Answer not known

1926 941D 2,600T(H HEMLQLMM "SF6L 2608 QLICITSET 6UME G flemln eedTnlW LOMBITLLY.60" @) h S Wwimesleor
Fryiev LBICGHEMMEUT WITH?

A) S160T60f1 G LIF60TL B) LD6oOTWILD6mLD

Q) (H&106001] VL& LA LIS D) eNlegwi 6L &L LiguoTiq L

E) eflev L Q& flweilsvemev

102) Arrange the following Pandya rulers chronologically

I. Jatila Parantaka Nedunjadayan
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II. Rajasimha II

III. Sadaiyavarman Sundarapandyan

IV. Maravarman Kulasekaran

LSleTeu(BLD LIMevoTLg W oL FlmemJ&emerT SGmeveurflena il eurflen & LiLI(H\8 Sk &6t
. 2B\6v LITMTHS S QB D EH&F 60 L L 60T

Il. @ JevorLITD T &) LhL06oT

lll. FemLW6UTLO6EST & [H G IJLIITEUOT LY. LI 60T

IV. LOTM6UITLO 60T (& 6V C& &[T 60T

A) I-IV-II-111 B) I-II-III-IV C) IV-HI-II-I D) IV-II-1-11I

E) Answer not known aflemL Qs flwellevensu

103) Of greatness and of meanness too,

The deeds of each are touchstone true

Which is mentioned as "Touchstone' by Valluvam?

A) Word B) Speech C) Character D) Action

E) Answer not known

QUBEMLDSHGLD Fem6eoTE FMIeMNGGLD H55LD

SHLOGLD &L L606TE &6V

"L L606M& 860" 6TeiTMI aueTEBeuld &M LN B 6uSI 6T 6m60r?
A) Q&FmT6L B) GLIF&r C) LlevoTL|

E) eflevL Qs flweilsvemev

104) "Who punishes, - made in due degree,
, a king is he."
What is the duty of the king mentioned by Valluvar in the above kural?
A) Should examine and punishes it, so that it may not be again committed
B) Should love living creatures
C) Should protect from excessive starvation, irremediable epidemics, and destructive foes
D) Should rule the country morally

E) Answer not known

GLM&600TL. (SM6l6L 9| T&6vl160T &L 6010 6TEOTMI CUEITEBEUT Ja MICUS 6TSI?
A) @GaIT OFIS GHMESMmS TTIHBS Sjeu e GHMLD Q& WIWITSeITD &60oTlq LILIg,
B) 2 Wiysefl_&H6L 6T EF QFNS SIS0
Q) &8s LUAWLD, euIMsS CHTWLD, SiWle Q&L LemnsW|D CFFMN6 &L
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D) BTLemL maifluley 9Ll § QFuleug)
E) eflemL Qs iflwallsbemen

105) Which of the following statements are correct regarding Vaikunda Swamigal?
1. Born in 1829 at Sasthan kovil, Swamithoppu in the Kanyakumari district

2. He learnt Bible and became well-versed in Christian theology

3. His teachings were compiled as a text called “Akila Thirattu”

4. His original name was Mudichoodum Perumal but he was called Muthukkutty
A)2 &3 B)2,3&4 C)3and 4 D) All the above

E) Answer not known

B LD &5 600TL. S (D) M) 5 EH6IT 6TEDI6U 606U (S5 600TL &6u MO & 6T GM & SI&F & iflWimeoTemeu?

1.&6Teol W MG LN IDMeUL L & & 6L 2 6iTeT &eumbl GG TLIL] &Fmerv g metT g mefledleL el ememuileL 18299410 y,600T(H)
by

2. @auf eflefedwgems s sMHm& Gl se @eammullwedeb Fmb g edler ki S eormiy

3. Sju@BeLW CUMHMETHET QFMGSEHSLLLEH "SRNUSHILBH" eeraib aulblumli® Breuns
Qeueleunh g gi.

4. @eurfletr @UMHALIWT (P19 HILD QLIIHLOITET L60TITEV (NG 18 (G L-1q 6T60TMI S|6MLP&SBLILILLITT

A2&3 B)2,3&4 Q3&4 D) GLDM&600TL. {60 60TSH SILD

E) eflev L Qs fluieilsvemev

106) Choose the incorrect statement

1. Pliny's Natural history was about pepper trade with India

2. Vienna papyrus mentions Muciri's trade of olden days

3. Mahavamsa mentions merchants and horse traders from Roman empire
4. Ptolemy's geography mention geographical details of Roman empire
A)l&4 B) 3 only C)1&2 D) None of these

E) Answer not known

ST SaHenms CHTHOSEH

1. Yerfleofludl6dT @ WIMHeM & UFeLITM - @) B WYL 60T HemL QUMM W6 eueflsb MG SOILNGS M
2. eflwetreotm LML FerSlev WML HEMLQALIMM 6uettfl&ID QG TLITLITET (SN LIL] 2 6iTerns

3. n&MaUb&FD Grmwmellwl CUFTFIL @UBHS eueatll&TH6T GMSSID ST eny eueonll&TSH6T GmMlS S0
G NI IQY3])F

4. smeudluilesr Lelullwey USSsHWL - Grmuomeflwl CuIr@er Lelulwe emwoliL] eSleur i gener
CIuINIRIQY3])F

A)1&4 B) 3 LnL_(HLD QO1&2 D) @eaummlev ergia|Lilcuemev

E) eflemL Qs flueilsuemev
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107) "The of soul inflexible,

Good fortune seeks him out and comes a friend to dwell"

Valluvar in the above kural says that wealth will find its own way to whom?
A) To the wisemen B) To the high-minded person

C) To the person of unfailing energy D) To intellectual people

E) Answer not known

"91858 I GTelleTmTIF QFID I em&Fa @) 6T

CLM&TemILD @ merlev eusiT@beuly, WMTHlLLD O,&HWD UPNCHLHIF QFILD TOTH MTF?
A) Beveunle] 2_enL_wleusoflLLD. B) 2_WJHS 6T600T600TLN ©_6mL_LLIGUedfIL LD
Q) HEMIMS 261& 51D 2_6mL_WialenflL LD D) eiMleumibg FmerCmmI&serflLLd

E) eflev Q& flweilsuemev

108) Which of the following are the reasons for the formation of self-respect movement?
1. Illiteracy 2. Superstitious belief

3. Casteless Society 4. Women's Subordination

L9) 65T 61 (H 6 6TEU M MI 6T 6TeMm6U S FIWITeN S @) WS ELD 2 (IH6UTS &IT6EU0TLONS @) (HH S SI?
1. T & & el 6oTemL0 2. AN LBLOLI & 601 & 5 6iT
3. UMGUITLMM &FesLh 4. QILI6ooT S 61Tl 60T & ITLDGUITEOT [Bl6m6u

A)1l&2 B)2,3&4 C)3&4 D)1,2&4

E) Answer not known efleoL Ggflwelsuemney

109) 1. “In presence though unkindly words you speak,

2.“If each his own, as neighbours' faults

Considering both the above Thirukkurals together, which one of the following would be the
most important outcome?

A) Truthfulness B) Backbitin C) The Greatness of a King D) Not Envying

E) Answer not known

1." 5 600T[Bl60TM] &600TS|ME Q&FMeLedIEmILD

2."gHleumy GMmLb CUIT6L SLhGMMmLD

@ eueilTevor(® (S MEITHEMETW LD IHCFIT LDITH 6L Q& MevoT(h G LD &8 600TL 6TH G 6lememey
WBGEHS (NS WS SlaD 2 6TeNSHMeH 8 &[5 T?

A) aumuilemin B) L|MDMHI&n M6V Q) @emmmL& D) (D& TMITEBILD
E) eflev Qs flweilsuemev
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These five, till every doubt remove, think o'er with care exact”
In the above kural, Valluvar says how to analyse what before doing an action?
1. Required Money 2. Instrument 3. Appropriate time

4. Appropriate place 5. Nature of action 6. Good character

@\ [BETS T eT6vOT6UON & Q& WL

Gl GmerfleL 6THemetT SLTTLBHS @ (H QEFWm6v QF LW Geueuor(HILD 6T6UT 6UETEHEUT Fa MIGAMTT?
1.G6u6voTLq LW QILIIT(H6IT 2. gmm &l 3. 5HS SMeVlD

4. 2 flw @LLb 5. Q&F W69 60T 560T6mILD 6. 2 WITHS LI6uoTL]

A)1,2,3,4&6 B)1,3,4,5&6 C)1,2,3,4&5 D)1,2,4,5&6

E) Answer not known eflenL Ggflwelsiemnev

111) The exterior angle of a triangle is 120" and one of its interior opposite angle is 58°

then the other opposite interior angle is ?

@0 (N&HCHETUSH 6T QeueflliLme C&Meuorid 120° LMMILD ST 2 L LM IHiJsH Ga&HMeuord 58° ereurlev,
LHQMTIH TH T 2 L CoITeoorin?

A) 62° B) 72° C) 78° D) 68°

E) Answer not known Q6L Qs flweilevemneu

112) A person has Rs. 960 in denominations of Rs. 1, Rs. 5 and Rs. 10 notes. The number
of notes in each denomination is equal. The total number of notes is __ (in each

denomination)

@@eurflLb €6.960, eH.1, €h.5, €H.10 CGHITL (&6 2_6Temerr. eURUT(H LH LI NI 2 6Ter GBITL (B & e6rfleir
6TeuoTEuuT 8608 FlolD. GIHITL (&6 6T QOIS S 6T6UuT60018:6m& _ (6@6UQ6UT(H LG LIS eyiLn)
A) 55 B) 60 C) 50 D) 70

E) Answer not known allenL Qgiflwelevensy

113) A mobile vendor has 22 items, some are pencils and others are pens. Pencils are sold
for Rs. 15 each and pens are sold at Rs. 20 each. If the total sale amount with the vendor is

Rs. 380, how many pencils did he sell?

@@ BLIMTGLW amuemerwmeTfld 22 QUITIBLSGET 2 6Tamer. eumnlel Flev QLIETEIGLSET, MMM 6
CUETMTHS&6T. QUETHISEET 15 epUMLSEGD, GCUETTHSET 20 epUTLISEG  69MHesLL [ 6 eormeor.
afllmuenerwimerfler QLTSS aMHLIEMETS QG Tens: €. 380 eTeullev, j6ulT eflMmM G LICTFICL&6IT 618 G 60160T?
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A) 10 B) 12 C) 14 D) 15

E) Answer not known elenL QgFlwelsvemev

114) The unit digit of the numeric expression: 11420+ 11521 + 11622 is
114%° + 115%" + 11622 6T6OTLIE 60T REOTMITLD ) 6VE LD & ITEUOTS.
A) 6 B) 5 C)7 D) 4

E) Answer not known allenL Qg flwelsvemnev

115) 115.Value of x
X60T OB LIS 6 6uTE: & T6UoTS: 48.99% 3/342.81+ (6.99)%+(12.99)%=x
A) 176 B) 178 C)0 D) 1

E) Answer not known allenL Qg flwelevemey

116) The least number of complete years in which a sum of money put out at 20% compound
interest will be more than doubled is

20% Sl (@ eully NISGHB L MauGHLILILL @ Q5Tams @ UHLOLEIGEES G usMEG WEFFRM W
1, 600T (N & 6IT 6TEOTEOT?

A) 3 B) 6 C)5 D) 4

E) Answer not known eflewL Qg flwelcvemev

117) Read the following statements:

1.Either A and B are of the same age or A is older than B

2.Either C and D are of the same age or D is older than C

3.B is older than C

Which one of the conclusions can be drawn from the above statements?
A) A is older than C B) Dis older than C

C) Ais older than B D) B and D are of the same age

E) Answer not known

L 6dTeU(BLD SaHMIGHEMETL LI5S

1. A-WLD B-WLD FLOGUW S0 WEUTSH6T 3|6L6vgl A oy eureuly B-23 eflL Quflweury

2. C-uLb D-wlb FLOEUW SIENLWL6UTESET 96LevSI D gyeoreu C-23 el Quflweury

3. B ay6omeuly C-23 el Qulweury

CLOG6V 2_6iT6T Fa M MG 6led (BB S HITD &TEDID GFLOMETLD WITSI?

A) A oypeotauly C-83 el L1 Quiflwieury B) D apeoreu Geg et Quiflweuy

Q) A gpeoTeul B-g3 el Quiflweury D) B-WLD D-U|LD &FL06UWISI60)L_WI6UT&H 6T
E) eflemL Qs flwalevenev
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118) In an examination, Ravi scores 4 marks for every correct answer and loses one mark
for every wrong answer. If he answers 60 questions in all and gets 150 marks, find the
number of questions he answered correctly ?

A) 48 B) 38 C) 42 D) none of these

E) Answer not known

@@ Cxralley, rall ai@eum@p FHlwmer LUSISHEGSWD 4 DG LG LIEITHET QUGS MITY, s26UQ6UTIH &6umITeor
UGG @@ DG LU @L&EHKMTY. Uy QMHSID 60 efearméEHEhsE ellemLwerflg g 150
LG LIQLIEITSET QUMHMTE, jeuf Fiflwms eflemLwerllg s Caeitell Serfl6ir 6T6voTevuT 560 &6 W & & 6voT(HLINLY.
A) 48 B) 38 Q) 42 D) @emeu gaiLileuemeu

E) eflemL Qs flwaleveney

119) The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss or gain
percent.
A) 10% loss B) 10% profit C) 12% loss D) 12% profit

E) Answer not known

11 GuenTma&erfletT LGS eflemev 10 CUeTTE&erfledT allMHLIemer aflemeus G FLOWD 6TetileL BHLLID 3j6L6VEI
VML 565556055 &ITEU0TS.

A) 10% BLL LD B) 10% @)6VITLILD Q) 12% BLL LD D) 12% @6umLILD

E) eflemL Qs flwalevenev

120) A shop keeper marked the price of an article as 15% more on its cost price and then
offered 15% reduction for the article, then he got
A) Profit B) Loss C) Neither profit nor loss D) Profit and loss

E) Answer not known

@B HOLGSTTT @b QLTIH66dr 6flemeuenl 9|5 60T 3|88 eflemeuuileL 15% & LD eTedTml &M\ & SI6TeT T,
Letreory S HSLI QUITIHEHESHES 15% SH6TEDH LI aULPBIGGTITIT, 6Teoll6L 3]6UIT 6TeUaU6TE QLIMHMTHT.
A) 6uITLILD B) BL_L LD Q) @eumLIGLOIT BLLGLOT @)6Lemev D) @6VITLILD LDMmMILD BLL LD

E) ellem Qs fluelcvemney

121) The average of five numbers is 20. If we eliminate one number from it, the average will
be reduced by 5. What is the number eliminated?

b8l aeorsefler Frmal 20 9.L,&W. eerenm BHESBMLLTL ABONBHS Frreflung 5 Genmuwb. ahHS
eTevor BEHSLILILLZI?

A)S B) 40 C) 20 D) 15

E) Answer not known allenL Qgflwelsvenev
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122) The curved surface area of a right circular cylinder whose radius is ‘a’ units and height
‘b’ units is?
A) ma?b sq. Units B) 2nab sq. Units C) 21t sq. Units D) 2 sq. Units

E) Answer not known

@ QFRIGSHS aIlL 2 (HemeTulledT LD a JVGSGS6ET WLMMID 2 WD b YVGS&ET el |5 60T
eUEMEITLITLIL] 6T60T LIGI

A) na’b &F. 9|6VG 56T B) 2nab &. 96L& &6IT Q) 2n &. V& &6T D) 2 &. 360G 56T

E) ellemL Qs flwalevenev

123) The capacity of a tank of dimension (8m x 6m x 2.5m)?
A) 120000 litre B) 100000 litre C) 50000 litre D) 80000 litre

E) Answer not known

(8mx6mx 2.5 m) LLOMevoTID Q& MT6UoTL. Q&ML 19Ul 60T Q1 & TEiTETETEY ?
A) 120000 &SIy B) 100000 9L C) 50000 9L} D) 80000 eSIL_L_[J
E) ellem Qg flwelevemney

124) In a cylinder, if radius is doubled and height is halved then what happens to the Curved
Surface Area?
A) Halved B) Doubled C) Does not change D) Four times

E) Answer not known

@@ 2 Hememuiley, 9LIL @ WLMGTSHWD, 2 WD LUTHWTSEeDL @ UBHSTEV euemeThs GLmUIyLL]
UGS &G eTeireT BIS&LL&E M SI1?

A) UMTHWIMS GenmEsLILIL L & B) @ULLQLILM&HSLILIL L&

Q) DTS D) [BIT60T& (LD6YM

E) ellev Qg flwelevemney

125) The curved surface area of a right circular cylinder of radius 1 cm and height 1 cm is
equal to?

1 Q&S SLTD Q&ML QFMIGSSH 6ulL 2 (HemeTulledr 2wy 1 QF. IS @ FLOLD TOTMITEL |8 60T
euememuyLIL]?

A) t cm?2 B) 2t cm?2 C) 3t cm?2 D) 2 cm2

E) Answer not known allenL Qgflwelsvenev
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126) Weekly income of two persons are in the ratio of 7:3 and their weekly expenses are in
the ratio of 5:2. If each of them saves 300 per week, then the weekly income of the first
person is

@neor@ HUTSEGeMLW UM eUUbLomerd 7:3 efeoTm eNSBSSHeID, eumy Q&Feelleortb 5:2 eredrm
NS G5BT eVILh 2_6TeTer. 3|6UT&6T @) (HeUIHGLD euUTTLD e LMl 300 G&F LA &SR TM6UTIT 6T6OTM TV (LN&6L IhLINfleoT
GUITIT 6U(HLOITEOTLD 6T6UEUEITEY?

A)X7,500 B) 4,500 C) 6,300 D) 25,400

E) Answer not known allenL Qgflwelsvemnev

127) A father said to his son, “Your age now is the same as my age at the time of your birth”
If the father’s age is 38 years now, the son’s age five years back was
A) 14 YEARS B) 19 YEARS C) 24 YEARS D) 38 YEARS

E) Answer not known

‘B KNM&EGIDCUTSI 6TedlT UG @LGCUITS 2 60T WS’ 6T6iTMI, (H SHe0G LGETlLD QFTLSEMTIT. @) 6oTm
515605 U 66T 6ULLI G 38 1,600T(H G 6T ETEOTMITEL BH G 6L (IH LTI 615 8 (S (LD 60T L0 60T160T 6L F1 6T6OTEOT?

A) 14 9y 600T(H & 6T B) 24 91,6001 (h) & 6iT C) 19 91,6001 (H) &6 D) 38 oy,600T(H & 6T

E) eflemL Qs flwaleveney

128) If 21 cows eat that much as 15 buffaloes, how many cows will eat that much as 35
baffaloes?

21 UGS GET, 15 eT(HenL0G 6T 366y &L (B 6 60T M 60T. 6T5 S 60 60T LIS+ &8 61T, 35 6T(H60 L0 6T 366y FmLLHW?
A) 49 B) 45 C) 56 D) 42

E) Answer not known allenL Qgflwelsvenev

129) A book contains 300 pages. Each page has 32 lines with the same content, how many
pages will the book contain if every page has 24 lines?

RAIQEUNMIH LESHSH D 32 aurfleeners Q&ML L5555 T 60T QUMGHL LSsSHEIGET 300. /65 QFWG)
RAQEUMIH USESHSHNID 24 euflsenms @ UHHSTV, LUSGS5HSH6T QUMSHSHL LSSBIGET 6TeUa6TalTS
@\ (&G LD?

A) 350 B) 400 C) 425 D) 375

E) Answer not known allenL Qgflwelsvenev

130) Simplify: 1 Hectare: 150m?2
565G : 1 amsLT: 150 L2
A) 2000: 3 B) 200 : 3 C)2:3

E) Answer not known allenL Qgflwelsvenev
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131) Which is true for the statements?

a) The degree of the polynomial is the highest (non-negative integer) power of the variable
involved in the term

b) The G.C.D of co-prime factors is 1

c) The LCM of ab, be, ca is abc

d) 1 is a prime number

A) (a), (b), (c) only B) (a), (b), (d) only C) (b), (¢), (d) only D) All of the above

E) Answer not known

letTeu(pLh &ahmiserflev 618l Frflwmers?

a) @@ ULMILILEG CoHmemeuudledT LILQWITErSl, Si&56T 2 miLiL|&efley gjemwhgs mmluller Wsuaurlw
SenmeumMm (L (LD & 56T 6T6uoT

b) FTHL LUST SMyeullserfleT LS. LIM.6u 1 9 GLD.

c) ab, bc,ca erédTm C&HMemeuuledr LS QUIM.L0 abc 9y,&LD

d)1 SL,60TSI LIGIT 6T600T

A) (a), (b), (¢) LD B) (a), (b), (d) only C) (b), (c), (d) only D) GLOM&E00TL. {6D)60THSILD

E) ellemL Qs flwaleveney

132) In a flower garden, there are 23 rose plants in the first row, 21 in the second row, 19
in the third row and so on. There are 5 rose plants in the last row. How many rows are there
in the flower garden?

@0 LHCHMTLLESH (s eauflensuiley 23 CIMRMF QFLQ&H6T, @IeorLmb auflensulley 21 CrTRMEF
QFY&H6T, epeTMML eauflemsuiley 19 CIMYMEF QFLG&ET eredTm WemmUiled CIMRMEF QFIQHET 60D
QsrLiauflens 9jemnlifNéy 2eTemerr. HLF  eaurflemsFuileyl 5 GrmERMEF QFINSGET @) @HLILS 60T,
UL BCHTLLGH6L 67860 60T 6Ulfl 60 &F & 6T 2_6iT6meuT?

A) 8 B) 10 C) 12 D) 14

E) Answer not known allenL Qg flwelevensv

133) If the sales tax be reduced from 3%% to 3%%, then what difference does it make to a

person who purchases an article with marked price of Rs. 8,400?

aflmuenent eurflemw 3 1/2% @ eN(BH S 3 1/3%, L5 &6MME S LILILLIT6V, . 8,400 eTedTml &M &S5 elemevw]eier
@(H QUITIHem6T 6UMmIGLD U6 988 allemeuuileL @) I eTeueueTe] NlGHWMTFHMS JFHLDS SR MSI?

A) Rs. 13 B) Rs. 12 C) Rs. 14 D) Rs. 16

E) Answer not known allenL Qgflwelsvenev

134) Which alphabet is opposite to B?

6THS TS S B && THfl6L 2 6iTez?
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B) E C)F D) None of the above / Gumaamlw ergia|bh Gevemev

E) Answer not known / el Qgiflwelevemey

135) If x stands for ‘addition’ < stands for ‘subtraction’ + stands

for ‘division’, > for ‘multiplication’, - stands for ‘equal’ to, +

for ‘greater than’ and = stands for ‘less than’ state, Which of

the following is correct?

x TEOTLIG 'Fal L6V’ < 'S5 560" TeaiTLUMS S GUIGEEMS + 'aUGSHSH0N' > 'QL(HE S qTaTLMSS GMIER M,
- TETLIG! 'FLOLD' TTUEM S S SM&EH MG, +

‘el 9B &' InMMID = ‘69L& G6emmeY’ eTeiTLImMS & (&N & (S LD.

L edreu B Lemeu Fiflwimersm?

A)3x2<4+16>2+4 B)5>2+2=10<4x2

C)3%x4>2-9+3<3 D)5x3<7+8+4x1

E) Answer not known  eflenL Ggflwelsvemey

136) Mark the incorrect statement about Biodiversity parks in India

A) Sirumalai hill range in Dindigul district is the first biodiversity park in Tamil Nadu.
B) Bharat Vatika, located at Nainital is the first biodiversity park of India

C) Yamuna biodiversity park, Delhi is the largest biodiversity park in India

D) There are 29 Biodiversity Parks in India

E) Answer not known

@ BB Wmellev 2 6Tem 2 uN[FLILIGITENLD L, MEISTHS6T LMW SH6ummer Samenms GMl&&Eead .

A Heor(hsEse WMl LEHer 2 6Tem Fminamen Geormiser SUINSESH6r WwHey Lswwlly QumsSsL
LLMBISTRUMTEGLD.

B) 60 B 60T L_Medl6L |emLDBSITET LIS QUITIQ.GIT, @HS WImelledr (&6 LeLawuilJ LLBISTeTE L0

Q) QL6veduTl6v 2 6iTerm WineoTT LIl LIS T @hG wimeler W&l uiflul Levawully LL,MmIsTelm@ L0

D) @bS Wmeileb 29 LI Uil LIS T8 86T 2_6Temeot

E) eflem L Qs flueilsuemev

137) Which one of the following is not the condition for genesis of tropical cyclone
A) Continuous evaporation from warmer sea water
B) Existence of pre-existing weak cyclone with in ITCZ

C) Upper air anticyclonic out flow
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D) Strong subsiding air from above

E) Answer not known

L9) 65T 61 (IH 61 60T6U ) MI6IT 6TH1 ] LLI6TT LD ETOTL6V (& miTeuerfl G55 TedTMI6U S M & ITEOT [H]LIH S 60 60T 3{6L6V?
A) GLITeT &6V Bledpha Q&TLTEFFR W meT Lalulmgse)

B) gM&6TG6 @ (&G LD Lievaferinmest @&mmeusrl ITCZ - 2 6T S emLDHE) (55560

Q) 2_WJ srhm eT&H T @Gmmaler] eneulh QedeflGwmmLd

D) GLoed(BH S UVIUTEIT &6voflBS &ITmH Ml

E) eflen L Qs flueilsvemev

138) Which one of the following ports is constructed through the long-term bilateral
contract between India and Iran?

A) Chabahar port B) Bandar abbas

C) Port of Shahid Rajaee D) Parsian Port

E) Answer not known

@QHBHWT WLMHMID FITeET @e6enLGwuwimer BeorL&smeu @@HSTLL @UUBSSS 60T epeulh &L LUl L
SIemM(P LD TSI?
A) FLIQMTT SO (LP&LD B) LIGDOTLIT} &L ILIMT6N

Q) egmanilg reamull siemmnssLh D) LUTTH W6 Slemm NG LD
E) allemL Q&1flwallevemev

139) Mark the incorrect pair:

A) Western disturbances : Frontal rainfall

B) North East monsoon : Cyclonic rainfall

C) South west monsoon : Temperate cyclonic rainfall
D) Pre monsoon showers  : Convectional rainfall

E) Answer not known

S6UMITeT CRIMYMW S (&M & &6 LD:

A) CLOM&HSH W @) 60U, MG 6T auefl(n & el

B) aULHILNE G LIHeULDEMLD - @mmeuer] emLp

Q) QFHETEINME LIHEULDEMLY s eIlIL Gmmelerf] enLp
D) LU(HEULDEMNESG (PHMSW D6  : QeUlILIFF660T LD6DILD

E) eflev L Q& flweilsvemev

140) Consider the following statements:

1) Rossi feral scale measures the size of Clastic Sediments
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2) Richter scale measures the magnitude of the earthquake

3) Mercalli scale measures the physical impact of the earthquake

4) Palmer Index (PSDI) is a meteorological drought index

Which of the statements given above are correct?

A) 1,2 & 4 only B) 2,3 & 4 only C) 1 & 3 only D) All the above

E) Answer not known

LSl 6dTeU(BLD (©) 60)6TVTE: 60 61TE &5 61 6011 L MBI &5 61T:

1. Gymend) QLT 3J6MeYG&ITeL B EITITEIVLY.8 61 600TL 6L & 6rfletT 3| ememeu 3 emell () & M 51
2. f1&LIT 316meyGaImeL MlevH(H &85 B) 6T I eTem el I emall (K& M Sl

3. QT&TES) 3i6meyCas M6 LLGLIGS S 6T &S5 ams S aTell S mSI

4. UTELLDIT E)GTQL 861V (L9.6T6N.19..23) 6T6OTLIS 6 (H eumenflemev eumML T GMIui@H S &Lh

GG AHMH&&LILILGH6TET gammisefle ergl Flwmergi?

A) 1,2 &4 0L @LD B) 2,3 &4 L0L_(HLD Q) 18&3 uHw @uevor(lLd D) CLOM &N 3{60)60T& GILD

E) eflemL Qs iflwallsbemev

141) Mark the incorrect statement:

A) The Bhabar Plain- Highly porous plain characterised with underground drainage

B) The Tarai Tract- a zone of excessive dampness, highly fertile, thick forests and rich wild life.

C) Khadar plain - light coloured, more siliceous and highly fertile alluvial soil, found in the lower

course of the rivers.

D) Red soils Formation — formed due to the decomposition of ancient sedimentary limestone rocks

E) Answer not known

5EUMITET FaMenm & (& M& 5 e LD:

A) UmTUF FlnQede] - Blevs sl 68TV 6UFH UL 60T Fnlqll F)& Hl6ooTSIeM6TS6T Q& meor FLnG euerf]

B) SIMUI LM - AFHSLUILIQUITET FILILGID, SIH& euerLnmer, L FbhS STH&6T MmN 6ueTell6U k@ 86T

BleM [5G LDEOTL_6VLD.

Q) &MsJ Feelaf - Qelefly Blm, oS s FeOFwev LMHMID G| GUETIOTET EU6TITL 6V LN6woT, 3, miGerler GLp

CUMTEHL ST LG MSI.

D) Q&LDLOETOT 2_(H6UTE 6V — LIGooTem LI LI 6 &F T & 600T600T L& &6V LITemM & 6T Flen 6l Lalg ey 2 (heUTHmS!

E) eflemL Qs1flwailsvemev

142) Find the incorrect pair:

A) Oolong tea Thailand

B) Yerbamate tea Paraguay

C) Champagne of teas Darjeeling Tea
D) White tea Tripura
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E) Answer not known

SeUMITET GRIMLY MW & (&N & & ey LD:

A) 2160wl G5 Ullemev STUIMHS!

B) QuFLIGL. G5 ullemev QUITGGCeu

Q) Cxullemevssarfleir aq. Mm@ LIudl 6ot Lryedledm Cxulemey
D) QeueTemens G5 uflemeu Sflygm

E) ellev Qg flweleveney

143) Consider the following pairs:

1. NWH-1: Ganga-Bhagirathi-Hooghly River System (Haldia - Allahabad)

2. NWH-2: Brahmaputra River (Dhubri - Sadiya)

3. NWH-3: West Coast Canal, Kottapuram - Kollam, Champakara and Udyogmandal Canals
How many of the above pairs are correct?

A) Only one B) Only two C)All three D)None

E) Answer not known

B LD &5 600TL. ©) 60)600TH: 60161 & (1HS H6L Q& TEITS.

1.NWH -1: 3BI&T-UTETH-an@ &6 65 enLliL] (DTG WIT - V& TLITS)

2.NWH -2: SigubwysSrm B8 (s - #&Swm)

3.NWH -3: G0N (S SLMHSBNT SHMeLeUmll, CHTLLTLJ - Q&MT6L6VID, FIOLISTT LMHMID 2 5CWITE LO6UoTL 6V
&ITEV6UITUI & 6T

CLB6v QABMH & LILIL (HEITEIT 618560 60T &) 60 600T& 6T & If | LLIIT60Tet 6u?

A) 6Tl 0L (KD B) @revor(h L (R)LD Q) eLnedTmILD D) ga&iLflevemev

E) eflev Q& flweilsuemev

144) Consider the following statements:
. Ross Island is renamed as Netaji Subhas Chandra Bose Dweep
. Neil Island is named as Shaheed Dweep
. Havelock Island is named as Swaraj Dweep
. Wheeler Island is called as Abdul Kalam Island
Which of the above statements are correct?
A) 1, 3 & 4 only B) 2,3 & 4 only C) 1,2 & 3 only D) All the above

E) Answer not known

LSl6tTeU(BLD & (D MITH60IETE & 6L 6011 L Ml S 6iT:
1. el Geoy CHSMY &HUMaY FHHTCLIMeV G6y eTeor QAUIWIF MMM QFWWLILIL G 6TeTs.
2. BeL Goys© agmrans seafll ereoroy QUWFlLLILL B eTengl.
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3. Gameueus H6& S rveurmeR HafLl ereorm QLWL G e6iTengl

4. efeui] By SILIGI6L H6VITID Gy eTeoTM NP &ESELILGS M

CLOG6V 2_6iTeT FaMmIGerfley ergl Frlwmenrgi?

A) 1,3 &4 L@ B) 2,3 & 4 oL (HILD 0)1,2&3 LRI D) GLMEnM W Si6n6TSSID
E) eflemL Qsiflwailsvemev

145) Consider the following pairs:

1. Satmala hills - Maharashtra

2. Kaimur hills - Uttar Pradesh

3. Garhjat hills - Odisha

4. Ramgarh hills - Chhattisgarh

Which of the above pairs are correct?

A) 1, 3 & 4 only B) 2,3 & 4 only C) 1,2 & 3 only D) All the above

E) Answer not known

B LD & 55 600TL. () 60)600T S 60161TE> & 6L 60T L] M1 & 6iT:

1. 5 LOMEVIT (& 60T WIS 6T - L& T TOLY [T IT

2. M&HELNIT (& 60T M1 & 6T - 2 5579 7GH&FID

3. &7QY &60T0I&6iT - @ aqr

4. PO ST (& 60TMI & 6T - F5BaIT

GCLoGev 2_6iTem GRIMLY.S6rl6VL eTemeu & fll Teoreém6u?

A)1,38&4 L@ B)2,3 &4 L (AILD 0 1,2&3WLELW D) GLOM &MLl B{65)6078 &ILD
E) eflem L Q& flueilsvemev

146) With reference to the various passes in the different mountain ranges of India, consider
the following statements:

1. Silk route passes through Shipki La.

2. Rohtang Pass Connects Kashmir and Himachal Pradesh.

3. Nathu La is used as a trade route between Kalim pong and Lhasa.

4. Banihal Connects Srinagar to Jammu region.

How many of the statements given above are correct?

A) Only one B) Only two C) Only three D) All four

E) Answer not known

QBB wWmelledr LILCM WLMVSASTLTSHETlL 2 6Tem LILGM SeUTeUTLGMETL QUITMISSHauemT,
LS 6TeU(BLD &G MIT6MI6TE: 86U 60T L M &5 6iT:

1. AL s LMTen s IS eI UNIWTS QFL R MSI.

2. Grmaing Tl seuoTeuml &TaqlSF WMmMIL @UIFFa LKNTCHFS M @) 606rs:&RMSI.
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3. FISI 6UIT &69ID LIMTMEI LMMILD 6UITEFIT @) 60 GITET 6UTS5 S8 LITenSWTS LWeaTURSSULGSMSI.
4. uerflamMmeL WiHSHemT QLD LNTTHS W & SIL 60T @) 601600TSH: &R M &1.

GG AHMH &S LILILDH6TET ammiserfle 618 g ener &iflwimereneu?

A) et oL (HILD B) @mevor(h OL_(HILD Q) epedTl oL (HILD D) oemeors I &Fifl

E) eflemL Qsiflwailsvemev

147) Consider the following trees:

1. Teak (Tectona Grandis)

2. Neem (Azadirachta Indica)

3. Sal (Shorea Robusta)

How many of the above trees are found in tropical monsoon forests of India?
A) Only one B) Only two C) All three D) None

E) Answer not known

L9l 60TeU(HLD LOIT M6I&6M6ITE &6 60T M6 & 6iT:

1. QL&GLMeoTT S Fmevoriqerv (Tectona Grandis)

2. GaulbL] (Azadirachta Indica)

3 &mev (Shorea Robusta)

CumsevorL.  om&sefley  eagHemer @ HSWMelledT QeullLIOEITL6Y L(Heunenpds  SHm{Hserleu
&5 T6uoT LI LI () 63 66T M 60T?

A) @eTml oL (HILD B) @mevor(h oL (LD Q) eLpedTMILD D) erglayLil6vemI6u

E) eflemL Qsiflwallsvemev

148) Consider the following states/Union Territories:

1. Bihar 2. Kerala 3. Odisha

4. Andaman and Nicobar 5. Arunachal Pradesh

How many of the above states/Union Territories have a population density less than the
average Population Density of India according to the 2011 census?

A) Only two B) Only three C) Only four D) All five

E) Answer not known

LSl 6dreu(BHLD LOITH)6v M &5 6iT/ W, 60l 6ot LN TGS & Mg em6rsd: & 616t IS 6iT:
1. &y 2. GEyerm 3. RUQ.ET
4. 9|HSLOMET BI&ECHTUMT 5. 9(HevormEFeILI LNTCH&FID
2011 D& 6T QG TeNS HeooTE:Q&HHLILN6OTLILG CLOME6U0TL. 6T8 5 6M 60T LOMBlEUMEIGSET / W, eoflwedr LINTCg &Fbigs 6T
@BSwWmeller FrnFfl &S QTS LTSS 6L GemMmeUTeT IN&HEHET QSTMSE LT T eanws
Q155 T6uoT () 6ITEIT60T?
A) @revor(® oL (LD B) eLpedTl oL (HILD Q) BTedT@ WL (LD D) 8l &ILD
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E) eflemL Qs1flwallsvemev

149) With reference to India’s projects on connectivity, consider the following statements:
1. East-West Corridor under Golden Quadrilateral Project connects Dibrugarh and Surat.

2. Trilateral Highway connects Moreh in Manipur and Chiang Mai in Thailand via Myanmar.
3. Bangladesh- China- India- Myanmar Economic Corridor connects Varanasi in Uttar
Pradesh with Kunming in China.

How many of the above statements are correct?

A) Only one B) Only two C) All three

E) Answer not known

CUMEGUTSHMmamar @hGwmaller GLLEBGET QSTLIUTES GLDHHETL SaMHMIGHEMET & 6U6Ts H 6
QBTETS:

1. IS BTHSHT FTMn HLLSESH 6T B AWPHEG-CLoMEG ABHEHETM BHLIMGST LOHMID GIS5ams
@ e erTSE &S M SI.

2. PSS QBBHEEFTemev el fler CLMEGy WMHMmIL STTHS T SPwmm Wml 98 welmenm
wrerol eutlwims @) emeuors: B M Sl.

3. UmISTTCSEFID-Earm-@HHWM-OWMeToT QUTmBeTTSTT aubflSsLID 2. 55T 9TCHFESH6 2 6Term
6UITIJ6u0T IT &l 60y W W LD, FeoTTeN 60T (& 60T MIem & U|LD @) 601600TS: &M Gl

CLOG6v 2_6iT6IT FaMMIG 616V 678 & 66T &Il LITEuT60 6u?

A) et oL ()LD B) @evor(h LOL_(H\LD Q) eLpeoTmILD D) erglaLilevemev

E) eflem L Qs flweilsuemev

150) With reference to the iron ore reserves in India, consider the following statements:

1. Almost entire production of iron in India comes from the Magnetite grade ore.

2. More than one half of the total magnetite ore reserves comes from Karnataka and Andhra
Pradesh.

3. The richest reserves of iron ore in India is found in Jharkhand.

How many of the above statements are correct?

A) Only one B) Only two C) All three D) None

E) Answer not known

@ BB WmTelleL 2 6iTermr @IS ST @@L QSTLIUMTS, LN6TeU(BHLD FahMISHM6TE & 6160l MHI & 6iT:

1. @hSlwmeileh @@L 2 MHUSH (NWeagIh CdeTenl L HTs STsieNed[hs QUOLILGS M.

2. QM55 CuEearenLl Mg @GN0 LUTH &G CUMHULLm6 SFHTLET MHMID b TmeiledmHs!
6 (1 B3 60T M 6UT.

3. @ HH WITeS 60T cUETLOMET @IS ST LMTTSH6UTL 0T HBlvSB6L SmeuTLILG &M SI.

GLOB6v 2_6iT6IT oM MIG6rfl6V 678 &6t 6T &Il LITEuTem 6u?
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A) et 0L (HILD B) @ 7evor(h (LD C) eLnedTmILD D) erg16Lil6vemI6V
E) eflemL Qs iflwallsbemen

151) “It is an ecologically sensitive area known for its lilies and biodiversity. It is home to
number of rare flora and fauna species like Blyth’s Tragopan, Asian golden cat and Hoolock
gibbon. It is dominated by dwarf bamboo and are prone to forest fires.”

In the above paragraph which valley is being best described?

A) Yumthang valley B) Dzukou valley C) Neora valley D) Araku valley

E) Answer not known

"@8 Lell&eT WHMIL ULNWIT QUBSSSHMHG QUWT QUDHM FOHMFSGLHO FHWTS IH&
2 T HMmeT uTlihs UGSH. @5 NenemsHeor 1QFTCHTLGT, ST W FHHISL LLemeT InMMID andeums
Slliuedr GumesTm Lev Sfl STaUmkIgGeT MM eSleunki Gl erkigefler ST 2 6Tangl. @ hIE (&L enL
NBIRLSHET TG STaTILG&S MG LMoL STLHS GHEG LeTTHRMSI.

CLOG6v 2_6iTem LISHUN6L 6TTHS LI6Tens S mE G Folums eflauflssuuG&Smsi?

A) WLDSTHI LIGTETSH S T8 S B) QP& @ LIGTTSHSHTE S

Q) BIGWIMTTIT LIeTeT& S M8 S D) 8|6 & L6TeNH S MEH S

E) eflev L Q& flueilsuemev

152) Which of the following is the correct sequence of States/UTs as per area under
mangrove forest in descending order?

A) Gujarat, West Bengal, Andaman & Nicobar Islands, Andhra Pradesh

B) Gujarat, West Bengal, Andhra Pradesh, Andaman & Nicobar Islands

C) West Bengal, Gujarat, Andhra Pradesh, Andaman & Nicobar Islands

D) West Bengal, Gujarat, Andaman & Nicobar Islands, Andhra Pradesh

E) Answer not known

gl Blevs sTHseflear Gb 2 6tem LpLUemelleTUly @MMIG euflensullel LOITH6UH&6T/W, 60r W 6oT
Kpessmseer &iflwmer surflens L9 6tTeu(Heueoreumnilev eT&I?

A) GRIMS, CLMEG CUMIGLD, BSLOMTET & Bl&CHTUTT 6 &6, QbH Il LIFeseFD

B) GRS, CLOMEG eUMIGLD, A BHH T LNTCHEFD, SbBSLOMeT & Bl&ECHTUMTT G6ysHeT

Q) GLOM& QUMBIGTETID, GRITS, AW HHTL LNTFEHEFD, 3HHLOMT & BlE&ECHTUTT §6)&H6iT

D) GLOM &G QUMBIGTETLD, GBI TS, HSL0MeT & BlEHEEHETUTT $ays6T, aubH Il LNyesah

E) eflemL Qs flweilsuemev

153) Consider the following statements with respect to India's first Net Zero Business Park:

I. The park is located in Bangalore, Karnataka.
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II. It is certified by the Indian Green Building Council (IGBC) for energy efficiency and waste
management.

III. The investment for the park is estimated to be over I500 million.

IV. The park aims to achieve zero water usage.

Which of the statements given above are correct?

A) I & II only B) II & III only C) III & IV only D) II, III, &IV only

E) Answer not known

QBB wWmelledr WHL MIHT URBlw elewlles LERST QSTLIUTS LWeTau@bl n)&ens:samens
5616011 W MBI S 6iT:
. @hS LLMBIGT &JHTL&Tell6r QLIMIGeenflev o emLnrh Sl 6iTens.
Il. @& aifless Hmeir MM SYley GLOEUITEITMINESTS @HSIW LG Sl HalerFleumsy (IGBC)
Frermefl&HasLILIL LS.
. yhismellMsameor (0865 500 LWOl6L6AW MGG FH&IMTSE @) (HSHESLD eTeoTm WS UL UL GH6iTers.
4. @UILLBIST LLRSlw BT LWaTUTL 0L 6L elensd CHTHHINMSGES Q& Teor(H 6TeTsl.
GG QEHMH &G & LILIL(H 6T Fndmisenlev erg Flwmersi?
A) I &Il (b B) Il & Il ln_(RLd O lll & IV (D D) I, Il & IV LD
E) eflemL Qs flweilsuemev

154) Consider the following statements regarding Tamil Nadu's Al-based early warning
system for protecting wild elephants:

I. The system involves the installation of 20 e-surveillance towers along the Chennai-
Madurai railway line.

II. Thermal imaging cameras are used to monitor elephant movements.

III. This initiative aims to reduce incidents of train collisions with elephants.

IV. The project is supported by the Central Government of India.

Which of the statements given above are correct?

A) I & II only B) II & III only C) III & IV only D) II, III, & IV only

E) Answer not known

STLGH WTenerSHemeTll LUMSISTULSME&Ter SOLDHBITLLG 6T QFWMens Hievoreoormley ILqLiLiemLuSlev et
WeTQeTFFfl&amas SemnLIL] QSTLTLT6r LN6Teu(BHLD Fu M MISem6Ts & 6160l WL MbIg6T:
1.QFcTemeT-10 Gl T TulleL LIMTemg uSleL 20 @)-8600T5 6ol 1LIL| C&ITL| K& 6T 3 6mln&d &LILIL. Geuevor(lLD.
2. Qeulil BIMUILS &([H6eN&6T WITemeoTsserfletT [HLLOML L8608 8 & 6008 Teuol188 L1 LI 6dT LI (b 8) 60T m 6oT.
3. WTemeur& 6T FuiledleL GLOMGID FIDLICUMEIEEMETS GmMLUILICH @\ HhS (WW M uller CBMTEHSEMELD.
Q5L LEH NS WSS W ATFer BIS W SeiluLear QFwWLLBSSILGSE DS
CLGev Q&HMH & & LILIL[H6TeT Fadmisserlev g Frlwmersi?
Ayl &1l L (b B) Il & Il InL_(pLD Q) &IV (L D) II, Il & IV LOL_()LD
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E) eflemL Qs1flwallsvemev

155) Consider the following statements about the 'Smart District' project in Tamil Nadu:
I. It is a collaboration between Tamil Nadu and China.

II. The project uses IoT technologies for water and waste management.

III. The UK-supported initiative aims to improve quality of life through technology.

IV. Sensors deployed under this project analyze traffic patterns in urban areas.

Which of the statements given above are correct?

A) 1 & II only B) II & III only C) III & IV only D) II, III, & IV only

E) Answer not known

SUOILDBTLLG6L "eumTL ImeLlLLb' L LD ummlw LNeTeuBLD N & 6m &8 em6rTds & 61 6ot U] M & 6iT:

L. @& WYL BTEH WLHMID FermeleT gl @ WWMHFRWITESLD.

Il. @hs HLLIb BT wHomIb &ifle] CLeuTeTenlns S loT QS MLA6LHIL LIS LweTUG S SR mSl.
n.@R&HorbHs ST QUMM @LUWWHT, QSTHOBILUSHET ePeUD QUTHEMES SIHMS
CuLUBSFIeuens CHTHEHINNGES Q& TeUoT(H ETETSI.

IV. @5BLLEGT GLd BlmieuliLl B6TeT QFOTEMTHET HETLUL MRS CUTHGMUTSS (LD 60 M 6m6rT
LG LIUme] Q&I 6Tmeor.

GG Q&BMH &S LILIL([H6iTem sanbmiserley ergl Fiflumerg?

A) &I D@L B) Il & lll LL_(RILD O &IV L@ D) I, Il & IV nL_(HLD

E) eflen L Q& fluieilsvemev

156) Consider the following statements about the Tamil Nadu Heritage Commission Act:

I. The act mandates the preservation of heritage structures in Tamil Nadu.

II. It was enacted in 2012 and amended in 2017.

III. The commission will be chaired by a top government official.

IV. The act is applicable only to monuments covered under the Ancient Monuments and
Archaeological Sites Act.

Which of the statements given above are correct?

A) I & II only B) II & III only C) [, IlI, & IV only D) I, II, III, & IV

E) Answer not known

SUOILBTGO umrFburflu oy emenTwd FLL b LMl LNeTeu(HLD Sa M MI& 6068 86U 601 Mg 6lT:

I SOLPBTLLg6L 2 6iTem LMTTL UKW &L G LOTETHEIGM6T LMTGISTSES @ &FLLLD aulfleuens QF ISR M.

Il. @512012 @6 QuOMLIUL® WLMHMID 2017 6L FGBSSLILILLSI.

. @ HS SLEMETWSH MG 2 W T 3T&F AF&TH heul Hemeuenio euGHLILITHT.

IV. LevoTemL W HlemeuTeyd FeTaTmIG6T MM QFHMeLedlWe) @LBIGET FLLGH 6T GLh eu(BLD Blemeoreyd
FOTEUTMEISGEH&E DL HIGL @) &FFLLID QUTIHHSILD.
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CLGev QEBMH & & LILIL B 6TET Fndmiserflev erg Frlwmers?
Al &Il b (HLb B) Il & Il InL_(pLD Ol &IV L@ D)L, &
E) eflemL Qsiflwailsbemev

157) Consider the following statements regarding the per capita income of districts in Tamil
Nadu:

I. Nineteen districts have a per capita income lower than the state average.

II. Tiruvallur has the highest per capita income among all districts in Tamil Nadu.

III. Perambalur, Tiruvarur, and Villupuram are among the districts with the lowest per capita
income.

IV. The figures for 13 districts exceeded the state's per capita income average.

Which of the statements given above are correct?

A) 1 & II only B) I & III only C) II & IV only D) I, III, & IV only

E) Answer not known

SUOILBITLIQEL 2 6Tem Tl Lmgefledr SeflBbLF eu@lomerd Ummlw  KeTeu@Bld  Sammsemers
861607 U M1 55 61T:

l. USQGTETLISI LOMEUL L1861l 60T &6vfHLIT 6u@BHLOMeorid Wmmlev FFmeEfflenw eflL G6MmMeUTs 2 6TemSl.

Il. FUOIPESH6L 2 6TeT Y MEUTS S WML LBISGameTW D L S(Heu6TeasJ WMaQILLLL H& Serlpur
6U(HLOITEUTLD G1&5ITEOOTL. LOMEUL L LOM(GLD.

lll. QuUpbUTy, Sweureny, aNWLLTL SSBW WTULLESHT 0&EE GHmMmbhs SeofbHLIf 6uU(HLOITerLD
Q& TEUUTL. LOMeU L L MBI & 6T MG LD.

IV.13 wmeulLmigserfler Lemeflefleumigser MBlevsHeor HeuflBLT eu@plamer FrnaFflenw el G &S
2 _GiTerTeoT.

GG Q&M &S LILIL[H 6T ganhmiserley ergl Fiflumenrs?

A1 &Il Lol BLh B) | & Il LDL_(HILD O Il &IV @b D)1, Il & IV Lol ®B)Lh

E) eflev L Q& fluieilsuemev

158) Consider the following statements regarding the Kodaikanal Solar Observatory:
I. It is one of the oldest solar observatories in the world.

II. The observatory celebrated its 100th birth anniversary recently.

III. It is located in the Western Ghats.

IV. The observatory has a record of over 1.2 lakh digitized solar images.

Which of the statements given above are correct?

A) I & II only B) I & IV only C) II & III only D) I, III, & IV only

E) Answer not known
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Q&TL&&MeTev @&l oy ieussb LMmMw LNeTeu(HLD Fa MIGem6Ts & 6u6uT W] HIg6lT:

l. @& 2_6v& 6T LO1& LI LIpemLo W meor & Nl i Uleusmisemlel 6 6eTmImELh.

Il. @Hs Wleusd Georgl BIMMTesor( edlpmellenenr FLSLIG )6V Q& 60T LITLW SI.

. @& CLMHGS QASTLIFF weneuuileL 3| 6mLnTH S 6iTeTSI.

IV. Q6% eSS H 6 1.2 VLFG S8 CLuMmUL L 19l L6 &Gl eeflLILMI&G6T 2 6iTemeort.
GG Q&M &S LILIL[H 6T gabmiserley ergl Fiflumenrg?

A) 1 &1l LB B) | & IV LOL_(B)LD Q) Il & Il L @BLb D) I, Il & IV oL (RId

E) eflem L Qs flueilsuemev

159) Consider the following statements about the Garbhini-GA2 AI model:

I. It estimates the gestational age of a foetus.

II. The model is developed under the GARBH-Ini programme.

III. Garbhini-GA2 is specifically designed for the first trimester.

IV. Researchers from IIT Madras and IIT Delhi collaborated on its development.
Which of the statements given above are correct?

A) I & II only B) II & III only C) L, II, & IV only D) I, II, III, & IV

E) Answer not known

Garbhini-GA2 Al Lm&\fl LumMlw LNeTeuHLD 3N &6 & & 6m6rTds & 6w 60Tl UL Ml & 6iT:

. @& &@meile auwens LH LIRS M.

Il. @& GARBH-INI B\L_L&H 60T BLp 2 (HeuMSHSHLILIL L Gl.

lll. Garbhini-GA2 GMILILIMTES (& 6V CLNETMI LOMSH KIS EHEETS aUlalenL0&s & LILIL H6TeTSl.

IV. IIT QuLymev wMmomih T QLeL6S SLTTUEFRWTETIHET @H60T 2 (heUMEHSHMG 62 (HMH S 60 6voTH S
Q&wevmrmmnleor(y.

CLGev QA&BMH &S LILIL B 6T Fanmmiserley ergl Fiflumers?

Al &l L (LD B) Il & lll (LD OLI&IVLLGLD D)L I, ma&iv

E) eflemL Qsiflwailsvemev

160) Consider the following statements

I. The Number of vibrations produced in one second is called frequency of the wave.
II. The SI unit of frequency is Hertz (Hz).

III. Human beings cannot hear Infrasonic and Ultrasonic sounds.

Find out the correct statement/s given below?

A) T only B) I & III only C) II & III only D) All the above

E) Answer not known

B LD & 600TL. S M) 015 60161T &5IT60OTS

. @@ QBMquUilél gHLIGLD B TeysereiT 6TevoTeunil&emns 3]6m6vUN6dT 9B TG 6u6voT 6TeoTLILI(HLD.
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Il. 918 TQ euettTEuuTl 60T SI 96V Q@M TL6V (Hz) 31L& LD.

lll. weollBTHETMTL GDHAMTES LMHMID AW TES) pedlSGemend: C&HLS (LNLYWITSI.
CM&evoTLeum MIeT FiflWITenT Fo.Mml/&aMMI& 66T &6uoTL M &?

A) | oL (HID B) Il & Il L (BILD C) Il &Il L @LW D) GLOM & 600TL. {6060 SID
E) eflemL Qsiflwailsvemev

161) Consider the following statements

I. Triton is the only moon in the solar system that moves in the opposite direction to its
planet's rotation.

II. Titan is the only moon in the solar system with clouds.

III. Ganymede is the largest moon of our solar system.

IV. Phobos is the larger of Mars' two moons.

Find out the Incorrect statement/s given above ?

A) I only B) I & III only C) II & III only D) All the above

E) Answer not known

LSletTeu(BLD T ) M1 60 6T & 6u6nTl:

L Gl GHLUSHE 19OMTLLTET SemeurEEGHMaT WLGICL IIFH6T HISHIL HPVID GaEFHEG aH T
FenaFuileL H&(HLD.

Il. &l GOLLUS T 6L CLOSEEIGET Q& TeooTL. 62 Gy MHl6V6Y 60)L L L 60T.

. g Glu GO LUS S er Wasuauilw Fleuey CaHeflfL oG L.

IV. QF6ueuml R ys: 8 Heor @) Fevor(® Hlevey&erfley &CUMTCUIMTerV QUIlw g,

GLOM &5 600T L6U M MI6IT &6EUMITET o) MI/Fer ) MIGENET &ITEOOTS ?

A) I L @I B) Il & Il oL (BILD C) 1 &Il LoL_BILb D) eTgleLil6L6mI6V

E) eflen Q& flueilsvemev

162) Match the following:

a) Mie scattering - 1. Sky appears in blue colour

b) Rayleigh’s scattering - 2. White appearance of the clouds

c) Tyndall Scattering - 3. interaction of light ray with the particles of pure liquids
d) Raman scattering - 4. scattering of light rays by the colloidal particles

QUTBS SIS

a) 1S el g mev 1. surreurid Hev BIME T 6L G TedTMEL

b) TTGev speflAIH ML 2. GO MEIG 6T 60T Gl eU6TOTEM LW TeoT G& TMHMLD

€) 19.600TL_IT6L 66T\ & Mm6L 3. BTW S JeuUmnkI&en 60T 818618 @6 L 60T sp6rflé &G THerer Q&ML
d) @Umeir eeflFIHmev 4. FalpLD SIGETHETITE 6868 H T&H6T F1&MmeL

Page 65 of 84

https://t.me/ChinmavaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

a c d
A 1
B) 3
C) 2
D) 3 2 4

E) Answer not known eflenL Qgflwelsiemev

163) Findout the Correct Pairs given below regarding Nuclear Reactor ?
1.Moderator - Graphite

2.Control rod - Cadmium

3.Protection wall - Helium

4.Coolant - Lead

A) 1 & 2 only B) 3 & 4 only C) All the above D) None of them

E) Answer not known

LD & 600T L 61U M MI6T D2 M6V QFWEUITH QGTLITLIMer &)l WITET @) 60 6U0TE: 606 &ITEU0TS :
1.8 600t LI LI TedT - ermsenuLl

2.56L(QULBGS S0 s - smldlwib

3.5\ I &y - enfedlwib

4. erflref L et - sTfwseury

A)1&2 LG B) 3 & 4 IDL_(HILD C) GLDM & 600TL. 3| 6M60TS SILD D) erglaLil6Lemeu
E) eflev Qs flueilsvemev

164) Calculate the current and the resistance of a 100 W, 200 V Electric bulb in an Electric

circuit?

1 etTamM 6L 100 W, 200 V Sl 6t 69l6mes &3 60T LAl 60T G6uTITL.LLD oM MILD LA 60TS 60 L 6mWI &5 860018 T ()& ?

A) 0.5 A,400 Q B) 1.5 A,200 Q C) 2.5 A,300 Q D) 5.5 A,500 Q

E) Answer not known ) aellenL Qgiflweilcvemney

165) Assesment (A): Conceptual learning emphasizes the memorization of information.

Reasoning (R): Rote learning leads to lack of sustainability for achieving long term goals.

A) Both (A) and (R) is true and (R) is the correct explanation of (A)

B) Both (A) and (R) is true but (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

E) Answer not known

https://t.me/ChinmavaTnpsc
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Famml (A): HMHSSHTETH SHMHMEL (MM HHEUME LDETLILITLLD QFWaIems euedlymid SR mSl.

STIewrd (R) : LDETLILIML SMM6V 6TeirLIg HeUoTL STV @)6VEEGHMET ML EUSMETET [F]6016V8 5 60T601L0
@ LIS HMHMEL.

A) (A) LnHmILD (R) @resor(h &ifl  apeormeL (R) eTedTLIG (A) @ 60T Fiflwiment efleng &L

B) (A) LnmmILD (R) @ IeooT(HLD &FIfl 2L6oTmeL (R) 6T6dTLIZ (A) @) 60T Fifluliment ellemd oD {606V

Q) (A) &1l @ueoTmev (R) SH6UMTETTS)

D) (A) S6UDTETSI 246016V (R) &f]

166) Consider the following statements :

1. Pig iron contains 2.0% - 4.5% of carbon

2. Steel contains 0.25% - 7.0% of carbon

3. Wrought iron lower than 0.25% of carbon

Find out the incorrect ststement/s given below ?

A) 2 only B) 1 & 3 only C) All the above D)None of the above

E) Answer not known

B LD & 600TL. Fo M) MG 6016 & (15 HIG :

1. aumFuBLDL 2% - 4.5% S&TITLIET 2_6mL W Gl

2. 6T5(& 0.25% - 7% STIFLIGT 2 60L WG|

3. Ggeufl(HLDL] 0.25% (&6 6UITEUT &ITITLIGIT 2_60)L LISl

GLO M & 6U0T L6 M MIGT &FfIWITeOT FaM MI/FaM 016N 6T &ITEU0TS ?

A) 2 D (BID B) 1 & 3 (LD C) GLOM & 600TL {60601 &L D) eT&ie|Ll6vemnsy
E) eflevL Qs flweilsvemev

167) Which of the following statements regarding ethanoic acid is incorrect?
A) Used in the manufacture of plastics B) Used to thicken Rubber milk
C) Used to make Perfumes D) Used to prevent freezing of coolant in vehicles

E) Answer not known

TG GermUN G fleuiD QG TLIFLIMET G LD & 600TL Fa.h MISH66L 6TSI &eUmTeTS?

A SR P swmflliltle LweTUuG&RMS

B) @ULILF UMemevd Q&L IQLILMBISS LweTUGSRmS!

Q) UMEFem6uTLI QUITIBL_S56T SWMfleas L LieT UGS mS.

D) eugeuTmiGs erflaviamem & el TelliLmenflev &evoTenof T 2_emm euen& s &HLILIGH6L LWeTLIGS mS!.
E) eflev L Q& flweilsvemev
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168) Find out the incorrect statements given below :
1. Sodium salts of sulfonic acid soap
2. Sodium salts of Carboxylic acids are detergents

A) 1 only B) 2 only C) Both of them D) None of them

E) Answer not known

BLD & 60T Sa ) MG 616V T UM ITETENS & IT600TS :

1. FeuGUMenl & 3|8l6v 5 B 60T CEFMIGWILD 2 LI &6 GFTLIL

2. &MTUMTEFe98 9fleumigerfleor G&FmigWw 2 LIL| &6 19 L [TG &2600TL.

A) 1 LG B) 2 L (HLD Q) @ evor(p)LD D) ergl16yLil6v6mI6V
E) eflemL Qs flueilsuemev

169) Assertion (A): Helps minerals to move to all parts of the plant.
Reason (R): Evaporation in plants creates transpiration.

A) Both (A) and (R) is true and (R) is the correct explanation of (A)

B) Both (A) and (R) is true but (R) is not the correct explanation of (A)

C) (A) is true but (R) is false

D) (A) is false but (R) is true

E) Answer not known

Famml (A) : HeuTDMBIGET &TeU TS B 6T 3]6060T5 S LIG S HEHSH G0 QF V6V 2 56| HMmSI.

&Tyerd (R) : HMeurmisenley heoL QUMb BrmelICUMTHES @)W eflenseml 2 600TL T8 (S G 60Tm Sl.
A) (A) LnmmILd (R) @resor(Ld &ifl o606V (R) 6T6dTLIGI (A) @ 60T Fiflwimeot ellemd: &0

B) (A) LnmmILD (R) @ pevor(MLD &Fifl oy,60Tm6L (R) eTadTLIG! (A) @) 60T &FiflWimeoT aflemd: & LD 2606V

O (A) &1fl 2p6TTe (R) HeUmITeTa

D) (A) S6UDTETSI QL601T60 (R) &1f]

E) eflevL Q& flweilsvemev

170) Assertion (A): Environmental struggle involves competition among individuals of the
same species.

Reason (R): Environmental struggle refers to the natural conditions like extreme heat or
cold, drought, and floods affecting the organisms.

A) Both A and R are true and R is the correct explanation of A.

B) Both A and R are true but R is not the correct explanation of A.

C) A is true but R is false.

D) A is false but R is true.

E) Answer not known
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Famml (A): FHMFGLE CUTTTLLLD TeTLS C @\ arseansd CFIHE Heufl LT leanL G HenL QL MILD
CUMLLq6m W 2 6TemL & W Sl.

&myeoorld (R): &M MIF GO0 CUITTITLLLD eTedTLS &S{H6mDWTeT Qeulilb eveugl &6y, euml & Wmmib
2 WinflermisameTl LUTEH &G Qeu6TaTd GUITETM @)W MM S [H60)6V60 0G0 6N (&M &H&R M.

A) (A) Lnmmild (R) @ resor(id &Fifl  9LeoTmev (R) 6TedTLIG (A) @607 Fiflulmeot eflemd&sLh

B) (A) LnmmILD (R) @ IeooT(HLD &FIfl 2L6oTmeL (R) 6T6dTLIG (A) @) 60T Fflulment ellemd oD {606V

Q) (A) &1l QLEOTIT6V (R) HEUMTEOTS.

D) (A) S6UDTETSI 246016V (R) &f]

E) eflem L Qs flueilsuemev

171) Consider the following statements:

I. The right auricle receives deoxygenated blood through the superior and inferior vena cava.
II. The left auricle receives oxygenated blood from the pulmonary veins.

III. The right ventricle pumps oxygenated blood into the systemic arch.

IV. The left ventricle pumps oxygenated blood into the aorta.

Find out the incorrect statement/s given above:

A) I & II only B) III only C) III & IV only D) II &IV only

E) Answer not known

LS etTeu(BLD G M1 6016TE: 86U 60T :

I susuLiLym o fl& S 6T GLo6L LM MILD QLIHEHFIem T eLp6uLd o4& eIRCarmMLILILL @\IH55mSL QUMG M SI.
Il. QL& &SR 6t BlemguiTey FlempsefledlBbs SL85RCaTMHMLILILL @U&HHmS5L QUMGRMSI.

lll. euev gl QeuaiTL &G 6T LGN RCETHMLILILL @85S0 (DM MW TET 66066 &G 6T QFNSSIHMSI.
IV. QL &I QeuarLifl& & 6T S5 2CarhHmUILILL @IHHH5mS QL BHSaule QFasSHIRMSI.

CLG6v QBMH & LILIL(HEITET &6UMITET Ja D MI&6IT/86M6T &600TLleLh:

Al &Il bl (HLb B) lll LnL_(pILD O &IV LB D) Il & IV InL_(hLD

E) eflemL Q&iflwailsvemev

172) Which of the following fluids have been found to contain the AIDS virus?
A) Urine B) Tears C) Saliva D) All the above

E) Answer not known

LSletTeu(BLD 6THS B ITeus H 6L 6T 6TV emeuTev @ (BLILIGITE &e6vor LMWL H6Tersi?
A R aBiy B) &6v0r6007 T} 0) 2 LB D) GLOM&6T0TL. S{60)60T8 &ILD
E) eflev L Q& flweilsvemev
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173) Which of the following statements is true regarding the synthesis of new DNA strands?
A) The leading strand is synthesized discontinuously.

B) The lagging strand is synthesized as a continuous strand.

C) Okazaki fragments are formed on the leading strand.

D) The lagging strand is synthesized in short segments called Okazaki fragments.

E) Answer not known

LIS DNA @enp&erflar Qe MTGLIL Q& TLTLIMeT LeTal(hLD SunMHmIGH6rflel 6T&l 2 6toTemLn?

A) (LpeoTeuTennt] @ e @ emLellLITLN6Y 6 (HMBIHR et S LILIGGR M.

B) LNedTHMBIGIW @) emL (H QGSTLFFF UM @enLpUINS: (BB emMemTssLILGSH M.

Q) R&MTETH S1600T(H & 6T (LNEITEoT6011 @) emLoUI 6D 2 (16U TS 60T 6oT.

D) NeTsmIS L @ 6mLp R&TFTH Sleor(h &6 ererl LB SIS W LNifleyserfley 6 m S enenrs: s LILH S mS!.
E) eflemL Qs iflwallsbemev

174) In Went’s experiment, what was the significance of the agar block?
A) It provided nutrients to the coleoptile tips.

B) It demonstrated that a chemical from the coleoptile tips stimulated growth.
C) It showed that the cut tips of coleoptiles did not grow.

D) It confirmed that the tips of coleoptiles produced auxins.

E) Answer not known

QeueiTL1g.60T LFIGEMHemerTulle, 98T ASMEG S uledr (N&SH WS SIaULD 6T6oT60r?

A) @& CHMeIGWITLIENL GV (LNEM6ITSH @HE G 26Tl | & &5 5188606 aULNBIGHMSI.

B) CaHMeilGWTLIEnL6) (emer&hefley @phES @@ @UFTWET alaTiFfamuwsds STamGHME 6arLeng @&
pleplg s

Q) GameIBWITLIenL6u&6rlaT Qaul_(h (LDem 6T 6T aleTTell6Vemev 6T6TLIENS S ST (H&B M.

D) GamedlGImLiem L ev & 6rfleor H160T 56T 2185 6015 6016 2 (IH6U TS &S T 60T 6TaiTLiens @& 2 MG LILIHSH WS,

E) eflemL Qs flweilsuemev

175) Consider the following statements:

I. Carbohydrates are organic compounds composed of carbon, hydrogen, and oxygen.

II. Glucose, sucrose, lactose, starch and cellulose are examples of minerals.

III. Carbohydrates are classified into monosaccharides, disaccharides, and polysaccharides
based on the number of sugar molecules present.

IV. Vitamin D is synthesized in the skin when exposed to sunlight, and it helps improve
bone strength by aiding the absorption of calcium.

Find out the incorrect statement/s given above:
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A) II only B) III only C) IV only D) All the above

E) Answer not known

LSl 6dTeU(BLD T M1 60)6TTE & 6L 60T UL Ml &5 61T:

L &TICUTemaL CrL (R &6T SGITLIGHT, emam L [JE26iT oM MILD 4,8 60 Q26em6rd Q& MevoTL &ifll0 C&FTLOMIS: 60 6ME
Q& mevor(h 6TETS 1.

Il. GEB&HCHETEV, &HEGIMEV, UMEGCLTEV, GULTTEF WMHMID QFLNICUTHV ILFWemeU TS5 EHE S
THS5BIH&TL(HSH6T.

. STCUTMaMLCILBHET FIHHEMT NVHFamIGeller eeoreullGeangsuiler g LliLiemLulleL
CLOMCETTEFTE ST (H &H6IT, O & T 860 [ (D) & 6T LM mID LT & md: & 60 [ (H) & 6T eT6oT
U6 & LI () & & L1 LI () 63 65T M 60T.

IV. emeu_LSledr D @&l eperfludleb QeuelfliL(Rd CUIME GFHmedlev 6 (IHMIGH em6evoTeH & LILIGISH M, CLogilh @ &I
STLR WSS 2.0 Ehs6eUB 6L 286 6uG 6T eLneuld eTIbLeT euedlemnenl CLLIMSGS 256 B M.
CLG6v QSBMH & LILIL(HEITET &6UMITET Ja.hHMI/8 M6 &6vorLlweyLh:

A) Il LD B) Il L_(HLD O VLW D) GLDM&600TL. |6060TSHSIN

E) eflemL Qs1flwailsvemev

176) Find out the incorrect statement ?

A) DNA fingerprinting is a time-consuming method to compare genetic differences among
individuals.

B) VNTRs serve as molecular markers for identification.

C) Alec Jeffrey developed the technique of DNA fingerprinting.

D) Each person’s DNA sequence is unique due to the small difference in the base pairs.

E) Answer not known

SUMITET FaMn)lemeoT & 6vorL)l&s?

A) DNA e&Gremss 9156 QSMNleuHIL LMD 66Tl SHeoflBLTSGeTenLGul 2 6Tem LnFLgnl GeumiLIm(h &eme6rT
UG USNGS CHISmMS T(h&HSI66E & TETEHLN (LN6MMUIMEGLD.

B) VNTR&6IT, 3{60)_UIMEITLD SITEILD eLA6VE: Fa MI (&M LILITETSH 6T T&H & G & L6V LI(H &) 60T M 60T

Q) 31Q6v8 QYL 19.6T60Te M&BCTMSH AUFFH QST B LSS 2 (H6UTHSR 6T

D) QI lILenlL &TT @emeoordkernley 2 atam Al CaumiLim(® Sryeorions el el BLfleor DNA auflensu]ld
560f1 5 S16ULD TEOTS).

E) eflev L Q& flweilsvemev

177) ldentify the correct description of the amphibian heart as per the passage:
A) Four-chambered with two auricles and one ventricle
B) Three-chambered with one auricle and two ventricles

C) Two-chambered with one auricle and one ventricle
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D) Three-chambered with two auricles and one ventricle

E) Answer not known

@ eurpeilseT @ &WsE ST 6T Fiflwmer 6dleTdsHgems 3 6mLWITETLD &ITeuoTeyLD?

A) @ueoor(h) 9 fl& &R 6TSH6T LnMHMID H G eUeTL &S 6T Q15 TetoTL [HITETE |6 MEs 6T
B) e 3 fl&& 6T LnMHmILD @) Tevor(h) G 6u6dTL [ S P 6ITE6IT Gl & TETOTL eLNGITMI 360 &5 6T
Q) (h 3 f1EHEFR6T IHMILD 62(H QeUeTL flE&SH 6T Q& Tesor L @) T6uoT(h) 2| 60)M & 6iT

D) @ TevoT(h 21186 & 6TE6T LDMMILD 65 QeU6dTL[fl& G 6T G185 MevoTL eLNEITMI 360N & 6T
E) eflen L Qs flueilsvemev

178) Which enzyme is crucial in the light-independent reaction, also known as the Calvin
cycle?

A) ATP synthase B) Ribulose bisphosphate carboxylase (Rubisco)

C) Cytochrome c oxidase D) DNA polymerase

E) Answer not known

&Teueleir &M TeiTmIlD 3P &SELILIGWD eflemiy a& Felleneruiley 6Thg QIHTSH (D& S WLDTeTs?
A) g19.L9 FeTCsH 6 B) flyGeumeiu LllehuLImevGLL. &TFUTEFGevan (eBHLIevCasT)

Q) FLCLMGEMD & 9,&FCL 6V D) 1q.6T6dTel LIMeNLDG ey

E) ellemL Qs flwaleveney

179) Which of the following statement is/are incorrect?

I. Federalism refers to a political system that possess Constitutionally provided and
guaranteed distribution of powers between a national government and several regional
governments.

II. The beginnings of federalism in modern India could be traced in the Regulating Act of
1773.

III. This Regulating Act brought three regions in India under East India Company’s authority
(Madras, Calcutta and Bombay).

A) I only B) I only C)I &Il D) IIT only

E) Answer not known

LS 6dTeu(BLD Sa ) M1 616V 6TS1/6TEM6U & 61M ITEUTEM 6U?
. GalLrm&E®R eaaTus CHEFW SIFMEISSHOHGIL U KImhHew IFTRSHESGEESHGSGL @6 uiléy
TFWevemoliL] FHWMS UPMBISLILLL WMHMID 2 55TaUTSIOMr H&ETTL LS Tmeus Q& TeiTL 6 (H

TFA WL YemnLienud GG MSI.
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I.peSeor @G Wmallél Fal LTS (penmuller QSMLESHSMS 1773 4D ,600T(H R (LD MEIS(NME FLL &6V
SITEUOT6VITLD.

. @B PUWRIGWeMNEF FLLID GhHwmealéd cpearm UGHSamar @RPESHHS W &6 L eoludeor
APETTSB 6" BLb QSHMevor(H UbHS S (LLSFTEV, HeVS&ESSIT I0MMILD LIDLIMLI).

A) | L @b B) Il LOL_(®ILD Ol&ll D) Ill L (BILD

E) ellemL Qs flwalevenev

180) Which of the following statement is/are correct?

I. Article 249 clause (4) of the Constitution enables the Rajya Sabha to transfer a subject
from the State List to the Union list for the purpose of legislation by Parliament on grounds
of national interest.

II. The most populous State of Uttar Pradesh has 31 seats in Rajya Sabha whereas the
smaller States like Nagaland have only one seat in Rajya Sabha.

III. Tamil Nadu has 18 Seats in the Rajya Sabha.

AT &II B) II only C) II & III D) I, II & III

E) Answer not known

etreu(pLb ammiserlev Fflumeareng C5THASHMH?

. ST wevemnliL FLLSH 6T 249-aug Lifley (4)-60TLl, CHF HeVeT &H(HS BITLTEHLO6TMID FLLLD
Qubmib CHMTHEEHSHMHMS OMBlESETamel WMFBleuL LILIqQuedled pha earmlwl ULIQWsI&HEES & 0H
eflequigeng WTHM WPLgWLD.

. 9BHs WEHET QAFTME Q&ML 2 H55TUNTCHFI WMBlovmsGaTamaiuiled 31 @LMSGame6TWLD,
BIGMUMHSE GuUMeTm FIMlw LMFlLMEISEFSHE WITFBlukGaTamalullss @@ @LSHams W WLHG
@ & T6voT () 6ITEITEOT.

. nrBlevniseTemneuuiiev SLALDHTLLLMES 18 @)L MBISGET 2_6Temeor.

A&l B) Il DD O &l D) I, 11 &l

E) ellen Qg flweleveney

181) Which of the following statement is/are correct?

I. Indian Supreme Court acts as the umpire of the federal system and protector of the
Constitution.

II. Both Supreme Court and High Court possesses the exclusive powers to resolve any federal
dispute between Union Government and State governments or among State governments.
A) I only B) II only C)I&II D) Neither I nor II

E) Answer not known
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etreu(BLb sammiserfley Eflwmearensg G5 THASMH?

LAOBHH W 2 F5BH TN Fal LTS 96 lilNedr HEH 6T TSHD, O FFIWeVemLoLILN60T LIMSIS5TeU6VIT TS LD
QFWLLHSHMmS.

Il. LGB W S|T&HEGSLD LDMH6V S| T&HSEHS (G0 S 6V6VGI MBIV A TEHEEHSESR LG FHUGL Fal LTS
SETMMIGMS G55 emauds G LNTHCWsS G &MTIL 2 FFHGnearmid Wwmmib 2 wihGnearmin L& W
B\ T6U0TLY. MG LD 2_6iTerTeuT.

A) | L BILD B) Il oL (HILD olal D) | & Il @)6Vem6V

E) eflemL Qg flwalevenev

182) Which of the following statement is/are incorrect?

I. The articles 3 and 4 of the Constitution provide the procedure for the creation of new
States and abolition of the existing States.

II. An ordinary bill is introduced in either House of the Parliament for creating a new State
or changing the name on the recommendation of the President.

III. Special majority in the Parliament is required for reshaping the identity of the States.
A) I only B) II & III C) II only D) III only

E) Answer not known

LetTeu(BLh SammiserleL aummearensd C&THAHH?

LT FWevenoLietr 3 LDMMILD 4 eugl eNHH6T LIS W LOMBlIEUMEISGEM6T 2 (H6UMSHE6USMEGSLD, &MELITS6Ter
rEleurkgemeT H&&aD 6uLs (D60 M &6M 6T LD MG S 60T M 6oT.

. @B UHW LIFEluSms 2 (hauMHESHGMIT Vs GIWTHS Saneveaufler LUfbBsienguller Gurley
QUWeNT WLTOHMGCT U FMHMFeoor WEFMST [BILTEHLOTMSH 6T @ Semeusserlsuib
AN WPsILOGSSILGE DS

. LrElevRkGefler eMLWMeTSHemS WLTMHMIWENNGES HITLTEGLETMSS6L FMLILL] QLIBLOLITETEmLD
G emel.

A) I L @ILD B) Il &Il O Il (@b D) Il L @BILD

E) eflemL Qs flwalevenev

183) Who described Indian federalism is “unique one”?
A) Auguste Comte B) Maitland C) Prof Alexandrowicz D) Bodin

E) Answer not known

@ HSWTeller gal LT Flenw “&euflg SI6UL0TETS" 6TeTMI 6UT6uollS S eulT WImy?
A) 8|F6nGL GEHMGL B) emL0L_GevedrL
C) ©1Q6V&enumesor Ly meil& en D) GLITL 60T

E) eflemL Qs flwaleveney
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184) Find the odd one out about the Concurrent list:
A) Education B) Forests
C) Livestock and Animal Husbandry D) Trade Unions

E) Answer not known

QUIEILU LULIgWed6L QUNBHSTS eRetTenm CHTHASH:
A) seval B) eUETSH SHIeM
Q) &IMELBEML LDMMILD SHITEVHEM L GUGTITLIL| D) Q&M D& MG BIG 6T

E) eflemL Qs flwalevemnev

185) Which of the following statement is/are correct?

I. Certain taxes like Corporation tax and Custom tax are exclusively allotted to the Central
Government.

II. Certain taxes like sales tax are exclusively allotted to the States.

III. Certain taxes are levied by the Union but collected and appropriated by the Central

government. For eg: stamp duties on Bills of Exchange and Excise duties.

Letreu(pLb sammiserley eflumearans G5 T HASMH?

I. &g eurf] , mlmieuenr euifl GUTETMEMEUS 6T (NMHMIVILD LHH W STFMTMHISHSHMGS 25158 LLIL (HelTerTeor.

Il. el Huemeor eurfl GUImedTm eurfl&6T WMHNVILD IDMTBl6V S TEFMMHISSH MG 2518 & LILIL (HETeT6r.

lll. Pev auflsemeT DGH W TFMHIGD NH&EHOTMSI. L0GH W ITFTRISHEIGEHT |6UauflEeneT 6uEe0s gl
LWeTU® S B & Q& ITeTSH 6orment (6T.81T) (NGB emy eulfl, H6uimeu eurfl.

AT &II B) II & III C)I & III D) I, II & III

E) Answer not known aflenL Qg flwelcvemev

186) Which of the following statement is/are incorrect?

I. The River Boards Act, 1956 establishes River Boards to provide advice to the concerned
governments for the regulation of an Inter- State River or river valley.

II. The Inter-State Water Disputes Act, 1956 was enacted in accordance with the Article 362
of the Constitution.

III. The Article 362 of the Constitution empowers the Parliament to enact a law providing
for the adjudication of any dispute, complaint relating to the use, distribution and control
of any Inter-State River.

A) I only B)I &II C) I & III D) III only

E) Answer not known

LletTeu(bLd SammiserleL aummearensd C&THAHH?
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. & eumfllu &FLLID,1956 LOMBlIVEIGEFSEHRLCWWITET HH&HmeT GCLOEITETenly G &F IS MG
LOITBl6V IS EH &G LNHS60T86T aULPMKIE6US MG LD HS 3,60 600TLSME 2 (6T S LD.

Il. LTEleVKISEHE S L CwwmeT 68 BT KTFFamearser FLLLD 1956 SFRlwWevenoiNedr Frga 362 @) 60T
L 2 (heUMG&SLILLLGI.

lIl. LOMBleLMIS EH &G @) 6L GuwmeT HS) & erfleor LweTUm®), eNFICW TS WMMIWD &L GLIUTH Q&ITLITLUITer
qHEHQUTMH FIFensF, USTISE@SHGWL SILUL  euphs s QFWWlh FLLSMS @umm
TR wevennLigeir LNfley 362 HTLMEBLGTMHSH MG SIS SHMTLD 3l6efl&EH M.

A) I D@D B) I &Il O &l D) lll Ln_(QLD

E) eflemL Qg flwalevenev

187) Which of the following statement is/are correct?

I. The First Administrative Reforms Commission was formed in 1966 under the leadership
of Veerappa Moily.

II. First Administrative Reforms Commission submitted twenty reports including one in
which extensive suggestions were provided in the domain of Centre-State relations.

III. The Second Administrative Reforms Commission was constituted in 2005 under the
chairmanship of Morarji Desai.

A) T only B) I only C) III only D)I &II

E) Answer not known

edreu(pld sammiserley Fflumerens C&THASH?

L. N6 BlTuNsE ETHHSHHS & (D 1966 40 31600T(H FTLILI QL06Ted) Hemevemlouiley 2 (HeUMSSLILIL L SI.
Il. 056V BITuNsE EIHHS5S5S G 20 NME&EMSEHMET aUPEBITRWS. Sjaummley @I NM&ams gH W
rmlev 2 meysemen LM LK HSI6m T8 6m 6T 6L MG W Sl.

lll. @ yevoTLMeug MmlFeunss ErHMBGSSS S 2005 b yevor() QLMITTYl CsHEMU FHeneveminule
2 (HeUMSSLILLLSI.

NG B) Il LOL_ ()LD Q) Il L_@BLb D)l &l

E) ellemL Qs flwalevenev

188) Who suggested the four fold type of party structure?
A) Edmund Burke B) Maurice Duverger C) Stephen Leacok D) Gilchrist

E) Answer not known
BITETES &LF 9emoiLls LM samlweur wimy?

A) eTL_Ln6ooTL. L& B) Qe ifleiv SIGUST C) 6IVIC&LIET 658M5 D) &lev HemervL_

E) eflemL Qs flwaleveney
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189) Consider the following statements about the First Past the Post system(FPTP).

I. FPTP is the simplest form of plurality/majority electoral system.

II. FPTP are followed in UK, Canada, India and the USA.

III. The system uses single-member districts and the voters vote for candidates rather than

political parties. Choose the correct one:

ereu@pld WH6ed6L Mlemevemws &LHS QFLeIGH6L (First Part the Post System FPTP) LimMiw &ammisener
& ITEU0TS.

I. FPTP 6T6TLI S LIGT6MLO S Sl6ULD / QLIHLOLIMETen L0 C& TS 6V eUMTSHSEMET T (L emmUl6L eTerfl6mLO W TEUT 6ULg.6U TG LD.
Il. FPTP (eM&ET @RIGeUMHS, &HeTLM, @hHwWm wLMmomIb Jewurlssr wW&HBwW  BTHSs e
&5 T6voT L LI (5) 65\ 60T M 60T

N.Q\HS (nemm menm 2 mILILNerT MeULl LB el LWeTURSSLILOTE M @) FH 6L 6uUTSH S TETTE 6T
SLFGHETSH | 6V6VITIO6 CaUL LIMET(H&&TE 6UMSGeTLILITT.

Fflumerensg CHIHASH &%:

A)I&II B) II & III C) III D) I, II & III

E) Answer not known eaflenL Qg flwelevemey

190) Match the following:

a) First Delimitation Commission Act

b) Second Delimitation Commission Act
c) Third Delimitation Act

d) Fourth Delimitation Act

QUMIHS 515%:

a) (NS6L UM TWENN SLEMEUOTIEF FLLLD

b) @) T6UOTLT6USI 6U6D TGO M I 60600TWLEHF FLLLD

) CLOETMITEUS] 6UEM T MM S4,6MEUUTIWE FLL LD

d) [FITEOTSHTEU S 6UEM TN M 4,60600TWE FLL LD
a d

A)1 4 3 2

B)1 3 2

)4 3 2

D)4 2 3

E) Answer not known elenL Qgflwelsvemev

191) Who was the first female Judge of the Madras High court?
A) Indira Banerjee B) Tahilramani
C) Kantakumaribhatnagar D) None of the above
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E) Answer not known

QuLymev 2 Wiy HSeTm 8 S 6ir (NS 6v GlLIeuor FH LIS wmh?

A) @BETT Lmer el B) SalevyLo6uof]

Q) &Mbs Gy UL BT D) G &MWLl 6TSI6LD G)6Vemey
E) eflemL Qs flweafevenesv

192) With reference to the anti-defection law in India, consider the following statements:
1.A member of a House becomes disqualified if he votes against any direction issued by his
political party.

2.An independent member of a House becomes disqualified if he joins any political party
after the expiry of six months.

3.The nominated member becomes disqualified if he joins any political party after being

elected.

Which of the statements given above is/are correct?
A) 1 & 3 only B) 1 only C) 2 only

E) Answer not known

QBB WTeN6L &LFG HMeU6L HEOL & FLLLID QSTLIFLMS, LN6TUIHLD N &6 & & 6m6Td: &6 6uT UL MbIS6iT:

1.7 Semeauuiletrt 2 MILILNeor HeTgl T F WL &L FwmeL WNOULKESULGLD 6dHS 255 Teneallld & s S!
aumEseg s me el 566 HH s QewWwiiu@eurT.

2. &HCWFmEF 2 MILILNeT SL,M LOMHMEIGET STevmauG B wmer NMEG gCHMIL ([ TF W6 &L Fudley
CEIHETL S 6auT 5&S BH&ID QAFWWLILGSMTT.

3.Blwwerr 2 mililerT CHTHASH&&HLILLL L6Tery CHmID @b SUTF W6 SLFulleL CFIHSHTEL iUy
565 B&HsL QFLWULGR M.

GG QAHBMH &S LILIL B 6T Fnhmiserleu ergi/eremeu &iflwlimeorgl/& il meoremeu?

A) 18 3 B @Tesor®ILD B) 1 0L (HILD 0) 2 L@ D)1,2&3

E) eflemL Qs flwealevenev

193) Consider the following statements regarding the practice of manual scavenging in
India:

1.The National Commission for Safai Karamcharis is a statutory body of the Ministry of
Social Justice and Empowerment.

2.0ffences under “The Prohibition of Employment as Manual Scavengers and their
Rehabilitation Act, 2013” are cognizable and non-bailable.

3.A ‘Safaimitra Suraksha Challenge’ was recently launched to promote mechanised

cleaning of sewers and septic tanks.
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Which of the statements given above is/are correct?

A) 1 & 2 only B) 3 only C) 2 & 3 only D)1,28&3

E) Answer not known

QBB Wmeller emsWmeL &SPleysHemeT SEMMILD BHeLpenm UMMl  LAeTau(BlL  SadmISHemeTs
861607 U M1 55 61T:

1. ;ILIYTeY QSTO6UTETTSHEHESTer 5T ILemeuoTWD 6TedTLS Fepss B Wmmih S &Trnelssen
I MNEFFE S B 6T &FL_LIfG) WITET 3|6mLLILIMGLD.

2."UYyey QS MLN6UITET T8 em6rT LIcuolW LD T8 8 6V &60L. L0MMID 3{6uUiJserfledr Lnmieumpey &L L LD, 2013" @) 60T GLp
2_6iTeT (SMHMEIGET &S QFWWESSES MM LmiSefléy Qeauefleur (WLGWITS &M MBS 6TTESLD.

3.60leyBy &SMLaUMUGET WMHMIL QFLNGS CLRIGSHMET @WBSITD eped &HSHLD QFWeuMS
2015 GINULSMN&ETS 'FHUTWASTT &G T CFeUEhEF FINLISH O QSTLRISLLILLSI.

GG Q&M &S LILIL{H 6T Fnbmiserley ergl/eremeu &iflwimeorgl/& flWimeoreneu?

A)1&2 B W @revor(hlLd B) 3 0L (LD Q)2 &3 W@ D)1,2&3

E) eflemL Qs flwaleveney

194) Which of the following commissions established by the government recommended the
repeal of Official Secrets Act, 1923?

A) Punchhi Commission B) Sarkaria Commission

C) Rajamannar Commission D) Second Administrative Reforms Commission

E) Answer not known

ITFMRISSST6L BlmieuliLLL NeTeupld silaqeirserlel 6T I eieuevs FHSFWMBGET FLLID, 1923 8 755!
QFww uFHSIMTSSSI1?

A L& sLlaqeor B) #r&&milum &Lulageor

C) JMTQLDETEr T &Ldl6q 60T D) @ Jetor_Meug! Bl(heUTSHE FTHHSHS 2460600 LILD

E) ellev Qg flweleveney

195) Consider the following statements with reference to the Official languages of

states:

1.The Constitution does not specify the official language of different states.
2.The choice of the state for its official language is limited to the languages
enumerated in the Eighth Schedule of the Constitution.

3.0fficial language of the Union remains the link language for
communications between the Union and the states or between various

states.
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Which of the statements given above is/are correct?

A)1l & 2 only B)2 only C)3 only D)1 & 3 only

E) Answer not known

LOMHleu g erfleir 9jsviauel QLOMLSI&6T QS TLTLIM6or LI6TeU(BLD Sa M MIS606ITE & 6U 60T Mg 6iT:

1. ULGaUMI oM BlevmIGETleir B &TTLILFTeu Qmblenw TR wevenoliL GMILILNLelsvemnev.

2. TR WevemnliL] FLLSS 6T T LMeugl SiLLeueneoruilev @MU Iul Geter QuomblseT L GG @B
LBl 6T LA QuTHlwNss CHTIHASH&SILGISHMmSI.

3. e@arnflwsHear e QUMY earPWSSMEGID WLMBlVRISEF&SGID Vg LLGaMI
LOIT B 6V M1 85 (615 8 B3 60) L GLLI LLIITET &8 660 QG ITLITL| & & IT6ur @) 6m6voTLIL] QLOmSIWITS: 2_6Tensl.

CLGev QABMH &S LILIL{H6IT6T Fnbmiserfle ergi/eremeu &iflwimeorgl/& il meoreneu?

A 1&2 & W @Iesor(ILD B) 2 oL (HLD Q) 3wl (B D) 1 & 3 & W @ esor(HlLd

E) eflemL Qs flwaleveney

196) The recommendations of which of the following bodies is/are binding on the
government?

1. Water Disputes Tribunal

2. Finance Commission

3. National Commission for Backward Classes

4. National Human Rights Commission

Select the correct answer using the code given below:
A) 1 only B) 1 & 3 only C) 2 & 3 only D) 1, 2 & 4 only

E) Answer not known

BLh &5 600TL 3|6mnLIL| G566V 6THS SiemnLiLer LflhSlenTs6r SFang &G LIUG S SHLD?

1.5 BT NFFaFeanerser GFLiLmwLd

2.615) 9160)600TWILD

3.5 W NHUGSSLILLGLITT S4,60)600TW LD

4.C5F W 6Tl 2 flenln & 6T 9,60 600TWLD

SC AsMH&sLILLG6TeT GMuilemL L LweaTU®SS) FHlwmer LUSamevs G5 HASH &5 D:
A)1 LB\ B) 1 & 3 oS W @ revor(hld 02&3 WL D)1,2&4 (LD

E) eflemL Qs flwaleveney

197) Consider the following statements with respect to the Non-Governmental
Organisations (NGO) in India:

1. NGOs can be registered under both Societies Registration Act, 1860 and Companies
Act, 2013.

Page 80 of 84

https://t.me/ChinmavaTnpsc




CHINMAYA ACADEMY FOR CIVIL SERVICES

2. Any NGO seeking foreign funding must be registered under Foreign
Exchange Management Act.

3. NGOs can receive foreign funding only for social and educational objectives
and not religious purposes.

4. Any organisation that wants to register itself for foreign funding must
have existed for three years.

Which of the statements given above is/are correct?

A) 1, 2 & 3 only B) 1 & 4 only C) 2, 3 & 4 only D)1,2,3 &4

E) Answer not known

QBB Wmellev 2 6TemT TS SFMJFT BlMieueTHIGET (NGO) QSTLIUNSES LIeTau@bl N8 en s emens

5616011 W MBI S 6iT:

1. FREIGMEIGET LUGleY& FLL LD, 1860 LOM MILD Bl MI6UETTHISGET FLL LD, 2013 31T W @) [7600TL9.60T G (LOLD & 60T6UTTToUG

Q& meuoT(h 1Bl MI6U6UTMEISGH M6 LIS 6y Q& WIW6eVITLD.

2. QeueflBTL® BIG WS CHEMIBL aTHFHEEUTIH STF FTTUMM BlMiQIETIOL HBHIW Q&Feumeauesol

CLO6VITETITEMLD FL LGB 60T BLb LITey QewwLiLL. Caueuor(®ILD.

3. HeUTETITIT6U QG MeooT(h Bl MICUETHEIGET FeNs LOMMID H6vell CHTEHESMIGEFHSTSH WLHGC QeueBIL B

BIGenW L QUM (LWL, I0G CIHITE &M% EH& & TH | 6U6V.

4.QauefIBTL® BIGWSNEES SHeTenear LG QFIW eN@BULLULL 6HS emOLIL|D eNETMI 3, 600T(H & 6T

QBB Wmaileh QFWLILIY[HEHS Geueuor®ILD.

CLGev QAEBMH &S LILILH6T6T Fnmmiserley ergi/eremeu &iflwimeorgl/& nflwl meoremn 6u?
A) 1,2 &3 WL @ELW B) 1 & 4 @&\ @Tevor(BILD 0)2,3&4 LB D)1,2 3 &4
E) ellev Qg flweleveney

198) Consider the following statements with reference to the Delimitation Commission

of India:

1.More than three Delimitation Commissions have been constituted so far
since Independence.

2.The Commission is headed by the Chief Election Commissioner of India.
3.The order of the commission cannot be challenged in the court of law.

4. A three-member Delimitation commission headed by Justice Ranjana
Desai has been constituted for Jammu and Kashmir.

Which of the statements given above are correct?

A) 1, 2 & 3 only B) 2, 3 & 4 only C) 1, 3 & 4 only D)1,2,3&4

E) Answer not known
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@\ HB W 6T6LEM6V [H]ITEUOTL S1,6M6UOTIWID QGTLTLITeT LN6iTeu(HLD 3N & 608586016118 & 61 60T L Ml & 6iT:

1.0 &SHH T L HSH O BHS @) SleuenT CLNETMISGSLD CGLMLILL 6T6L6M6V [BITEUOT 2,60 600T LLI M & 6T
S|6ML0 &S LILIL (H6iTerTeoT.

2.Q\HB) W Hemevenln G5 T8 60 IL6M6uoTWIT B)H5 3,60 600T LIS ) 60T &6m6eVeUTTs: @) (HLILITT.

3.94,60600T WS B\ 60T 255 Temel aTH TS5 S HHaTmS S 6L Cuawenmui® Q&FWIw (WLGWITS.
4.21W-5Taqi(HEE BH UG JEhFarT CHEFM Heameuenlouilel epeTm CUIT Q& TeIOTL. 6T6LEM6V [HIIy6voTLL
Spemevorwiln (Delimitation Commission)

GG Q&M HS&LILIL{H 6T Fanbmiserley ergl Fiflumenrs?

A)1,2 &3 L@ B)2,3 &4 O (IO 0)1,3&4 LHLW D)1,2,38&4

E) eflemL Qs flwalevenev

199) Consider the following events

1. Establishment of Indian forest service as the third all India Service
2. Appointment of first official language commission.

3. Creation of National Investigation agency.

4. Establishment of CBI (Central Bureau of Investigation)

Arrange the above events in chronological order:

S L& G MY B8 LD 6 &6M6ITE: 86U 6011 M1 & 6iT.

1. LNETMITEU G | 6M60TS B IhS) WL Lieool W Ta: @) HS) W 6u6DTLILI6ooT 160 [FlMI6) &6
2. N6V 96Ul QoM &L8l6Q.60T HIWILD6DTLD.

3. G5FW LjeveTley (N&6emL0 2 (HeUMSHELD.

4. F\1L9g3 (Central Bureau of Investigation) Bl mieuliLIL L I

CLM&6UoTL Bl&Lh6&emeT Smeveuiflena il euflen& LB S5i85%:

A) 2-1-4-3 B) 1-4-2-3 C) 1-2-4-3 D) 2-4-1-3

E) Answer not known  eflenL Qg flwelevemev

200) Which of the following statements is/are incorrect regarding Attorney General of
India?

1.The consent of Attorney General is mandatory for all cases of criminal contempt of
court.

2.If the Attorney General has granted consent for the contempt proceedings against the
person, the court can’t reject to serve notice against the person.

3.The term of the office of AG is fixed under the Constitution.

Select the correct answer using the code given below:

A) 1 & 2 only B) 2 only C) 2 & 3 only D)1,2&3

E) Answer not known

QBB W LTl QQeTrev (AG) QG TLITLIMET L6iTeU(HLD FaM MG 66V 6TSI/6T6m6U &6UMITEOTSI?
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1. BHWeTH JULBGLIL QFTLIUTET NS 6UPSHGHEHFHGI LTl QQerye &FLOLOGLD
SLLMTWIMGLD.

2. @@ BUBGSES qHITOr ULBILIL BLOIGGMSESEESHESG @HBHW ILLTall QRearye LIL&H6
uPRIRUNIBHS T, 3HS HLIHEES qHFTEH CHITL L ks BHINTMHD IDMIGS (NLGWTSI.

3.@HH W L LTeol QgeurTeu(AG) LG Nulletr LIgeN& & TeulD S T&F WeveminliLImel MlFevorudl g e LUl (R 6Tersi.
SC Qs &EsUULR6Tar GMuiienL 1 LweTU®MSS sFiflwmer LG eamevsd CHTHAHH HHLD:

A) 1 &2 B W @Ieoor(hlld B) 2 L (HLD 02&3 WL D)1,2&3

E) eflemL Qg flwalevenev
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G5IT6| QGITL MG 6USME (LN6T BCLY 2 6Term 6u LS (LD6M MEEM6IT &6UGITIOMS LI L1158 61D,

(&S W 6uLS (L 60 M 55 6iT:

@AhS LISSHHE5H 6T L (QHS LISEID) CHT6] QML HIGLGELTS &600T8 6ol |LILITETT 605605
Q&EMRHSHGD UT FMEHE Fal S T MFMS OHTHSHSSID, LS5 555 60T 3L_6mLuiler
QLG LIGSHSMS SelaTNMEHS KNS LSS55H5mES FMEsHa| . Lareary CoeTalsens @ allenl
3|6flE:88 Q&L MG MHIGET.
@b Gt L|&555 360 200 C&6iTeN & 6T 2_6TeTe.
S MeTS &l CH6iTell & EH & (G0 LIT6L 6flE&Ha . 3 emers S CH6iTell&E@hs ELh FLo
L0 ) LI G\ LI 600TE: 61T 2_6iT6IT6OT.
@hS LIGEH5FH 60T GO aI6VFI LIGSHSH6 2 6TeT @)L &FH 60 2_MIgG6T LIS 6 6T600T6m600T 6T(LDG56) LD.
aflemLgemneT GMILILIL H6oflgEH LISV ST &600T8MeoolILILITETIITE 2 618 EH& @ &60f18 860l WIMS
GULPMHISLILI(HILD.
LIS6L SmerfledrT LIS 160 aUpmISLILLL @LSH 6V 2 MIG6T LGl erevor, LML L1 Lifley @mlui®
GUITeTmeUMenm SHHLIL emln Liha GueTmaumsy GMluibLBG S5 e LD.
e@61Q e GaeadlulLd [A], [B], [C],ID] LDMMILD [E] 6T60TM BIHS! 69608 6em6Tss
Q& mevor(heTengl. Fiflument aflemLenwl LB CHTHOSHH&HS 2 MmG6T LISy Smerfley
GM&E&6|LD. (H CHeTaSHE 6tTMISGHEG CLMLIL L Fiflwmer ellenL_&6T @ LILSTS HBIge6T
2 TIHSMT, FMHSHHTHS SHIHSEID allemLenls GMlSsa| 0. eTLILIGUI[BHES eI, 6261Q6UT(IH
BHeTaNH G D 6T e(h eNlemL eSS CHTHOH(H &5 6] LD.
LB smerfley, eeuGleumm CHeTalldhE THImEHeayLDd [A], [B], [C],[D] LDMMILD [E] 6T6dTm BHSI
SO LIL &GN 6T 2_6iTemer. GHeTalldhEhaE alleml | 6fléss, el aum(h CaHeTalld: @& 2 _HIg 6T
Ga a6l ep(h ML L1L]&HGMlenWw SHLIL L& GLeTmalmev L (D GMI&s Calevor(lld. CaeTailLl
LUSSHHS5H 6V 2_6T6T 6UGaUM[H CoHeTalld @G e allemLeamwsd CHIHOSH S LIS &merfley
GM&&56|LD. (H CHTaHE 6TMIGHEG CLMLL L ellemL&emeT HhisG6T GMISSHTe, HS ellenL
SHAUMTHS &HHSLILGBILD.
CaeTtallll US55 5S6NBHSI 6THS STeneTw]ld Hrger FHEHCuT RLN&HHCUIT Fal MTSI.

. h5Ns FHCHHSH MG BT v LT LICL @) MG WITeTs.

. GEeTelILl LS55 56V 69608 19.85 0L ILITETLD 6m6U8&GCaUIT 9 6V6VGI (&SN &EHCeuUIT

FaL TSl
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